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4 S E Lol 0l sl 49 (S 48 4] palaed (S QUL 4 (o 40 A
@F‘ng&‘#\ﬁy").\AJ\UJMJ@)‘).\AJ‘J&J?J“}CQ-\SLQJ"JG‘_ﬁﬁ‘_ﬁﬁ
a3 i 4l e 9 Sl o palie ) Sl i3 (5l
A silbae SIS o s gy Dl g 4y (o2 ASER WSO Ay (g S salii AL (S iy )
dssholde oa sdcuu g S da dilue (8 Y Sl 5 Gyl gl 4" pen
N.H. Abel 2 < A J S a i (operation ) <lle g5 0l Ja 3 Gl g e
I 4 Japsdam ool dn 2 55483 3 i (2 an 0 (o> sYalae sl 2 (S JS 1826 4
093 ssn v ((CLAla) b pea sl oo (SR a4 by 08 b (S S
palaa 3 g b aill 5l Jed (S S8 4y iy 23 0 45 (Dinary operation ) 4kl S
s) D. Hilbert « E. Steinitz 45 153 dglale 5558 3 buaiugy .09 suall ()

4 Jle 2SR ilide 4y dra (5 o> L sd S ) Gl 45 jell o, R.Dedekind
SIS St a5 )5 (4alu) Field « (48ls) Ring « (w5.%) Group Js»
J4xa y e ol _L;A&ﬁ#dy«i&aﬂdmﬁaﬁpb;\)&c):\:)_)SJ‘SSAT&?
3438 ) paleed saliinl orad 5l Slaslea (So b 4y (S 3e) ) Cryptography
PR 5 AT (63 (S iy (Sl ) 4y (o a )l arenal S s 58 IS (S S (s 0w e
BP4 O e (b duenivd Al nan oab) 458 2 60 G od pis S 4l a S5 Qs
4.3.)3)4}'\34.5';3)\&& g}M@JwgﬁA@U}\éﬁSmbh\u&wdGSyUSQGS
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Slalad gl
(set) 4c sz
(mapping) &b
(relation) 4l
mathematical logic and De Morgan's Laws
QIS 1t s
( <y s 2l algebraic structure
Semigroup
Monoid
group
(Cayley Table) Jsxa LS
aid)sagad g8 il Ay
(Group Homomorphism) s ) s« saa 5 S
(Group Isomorphism) a ) s sl 5 S
Kernal
Aigag 8 S8 el o)
(subgroup) < S = A
( (cyclic group ) <58 s
( permutation group) s S O sa
( division algorithm theorem ) 4s a5 K1 ¢y 50
4ux8 Euclidean Algorithm
(group order ) 45 » 5 8
Al e paie 53 g S
( theorem of fermat ) 4w cua s
(left and right coset ) s sl
(Index) usSai)
4u=d | agrange 2
( normal subgroup ) <8 e 8 Jws
(factor group) <58, 55%
(group homorphism ) 4xiad » 8 ) sa sen g S
( group isomomorphism ) 4xuad 38 ) a9 ) g S
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(residue class) 38 (ealadly ) Sb
(residue class group) S sw3IS saledly
( Cayley theorem) 4x=i 1<
Direct product of groups :J«<é a5
Direct product of groups
Cartesian product
External direct product
Enternal direct product
Chinese remainder theorem
solve equations of congruent classes
Ag1998 (Al g sduad adly
(cyclic groups) 4558 s
( Euler function ) s ) gl
prime residue class group
(Ring) <y 10w ayud
(Ring) «dl=
(Subring) S, =4
(ideal) Jw
( Ring homomorphism) a ) ses8 S
Prime Ideal
Principle Ideal
( ring homomorphism ) 4ud a 58 ) se 8 S
( ring isomorphism ) 4usd a jd ) 5a 5 30 S
(=i 4al) Integral domain
Gaussian integers
Euclidean Domain
Characteristic of Ring
(Polynomial Ring) <) a sl s
Division Algorithm
Remainder Theorem
(anl® S yida s a5l 65 53 ) greatest common divisor
Sy ) e}-‘-‘!}’ -
dalu 1 juad as
( Field ) 4abw
( Subfield ) 4alw e 8



Algebra
S
(Field extensions) ( alxiel L) 4z 5 (o 4slu
(40 2 2 4als ) degree of field extension
( Agebraic extension ) 4 s sl
(The theorem of Lagrange for fields) el oabu 2 4z x5 KY
( Minimal polynomial ) a5t s Jlaxise
(Splitting field )4als Karidw
( The fundamental theorem of algebra ) 48 ulul yuall
( quotient field) 4alu i oS
(Eisenstein's criterion ) sl asid s 3 43 gha pd (i ¢
Juad o
( Equations of congruent classes ) <¥aea sudS sailadly
( Vieta's formulas) Js« s G
S o
( Cryptography ) (8 S sin S
Pohlig-Hellman Cryptsystem i (S gin S el Sol g
(RSA-Cryptsystem) aiwaw 4 S5u S RSA
(Elgamal-Cryptsystem) aiwws (8 S sin S Jaall
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slaa) (gl 2
( (M) S0 8 (Rea)osdd) | 4s gaa )

( Set, Mapping and Relation )

4 g (o Gkl aalie ¢ Clulul okl (A2 )l (S Jual sy
22 st Jga_palite 4y (g S saldinl 1 )5 (Sl alas
JS 23 1874 4154 4 Georg Cantor 2 ( set ) <uw :0.1 iyl
DY G ey i Jge Y 4 (S
Gladdie (pze 9 dsi 2 03 (- Objects ) 5 5o gl 2 4e sense 0 52 Set
3 533 il S X 4S Jg0 49 Jhed (s 38488 Jidl gy S s
(6 S Jhane (A3 g0 Geitlid 4l Gladdia (pra (5 9 (alana
Dt a9 Y 4 Cun s e s 38 AR i Al e 0 S

X ={X1,X0, cev e een e }

spalie 3wy X2 o> 2 Objects ... X3, Xy, X 4l
4 cardinality 2 ssediy palic 3 X Cuws g3 59030 2 55 4 (elements)
oS Qs @ 4w B sho o [X] 4 ara yises) gopbas
0. 2 iy
Y 2 (subset) cuws e g4 X . ssaisimosn Y 3 XS (a)
teabodgry waSds (XCY)
VXEX =Xx€EY

(X CY) xS dis Y 2 (proper subset) 45 X Cuw oo s
e g4 dald S X4 ) 5 s pmalic B S 4 o bl
JaeyY;a¢ X

Js 4 Jiaa

X ={2,4,5},Y ={2,4,5,a,b}
abgX 2 .s2Y aproper subset » X
W CSNIPI R CNPANEY WOW SV 2 B GRS\ Rt Il ENp TR
‘Sm.ss YCX 5 XCY
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X=Y e XcY)A(YcX)

L6 g s sk 123 J 93 Jse oW (finite set ) cuw Al (b))
e a5yl (finite set ) w4l (1831-1916) R . Dedekind
MEATES

Ao nER ESS X4 bodoyeaS dis Al X Cuny
(omd 5 palicd) Cardinality > s34 3525« (proper subset) <
2L S Gbae oy X2

AACX; |Al = |X|

v AcX; |Al < |X]

el an 4alS ra e A alile e 3 gl Gamad KA alite o adly
omad g palica X aadly b X = {01, X, o, Xy A Sl (e yiga
X =n &=.c3n sl
b o 5 4 (infinite set) Cuw alite yed 5540 alike o Cuw 4z »
| X[ = i
s Jia
N={123734..}
N, ={0,123,34,..}
Z={..-3-2-1,0123,..}
2Z={...,—6,—4,-2,024,6,..}
Q={§ p,q €Z,q * 0}
NCZSQCRCC
DASA L (6 (Al ) (et U8 A4S s S 5
(NcZcQcRcC ,2Z cZ)
N
( IN[=o00,|Z| = ,|2Z| = ©,|Q| = 0, |R| = 0, [C|]= )
52 (otlile) Cpme 4d s (s2i¥a T Jlia
X:{X|e-g°‘gﬁ)¥j.—.’X}
Y={y€eZ|-2<y<2}
X |=1Y]=5Gn.cA e raice 5 nn Y X
XZY ) Y& X %X
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W,: =(wW€Z|-15<w<16 )
W, ={weZ|(1<w<16 )A(w even (=éx))}
= (2,4,6,8,10,12,14,16}
W, =8 s\ W, S W, > xS JdMd
@ A A8 g iy
Wy:=neEN|n<0} Wi={x€eZ|x*=3}

| Ws| = [W,| = | Ws| =0 3

Ty XX, L, X, oS 103 G
:(Union) sl

X,UX,u..uX,={x|3ie€{123,..,n};x € X;}
: (intersection) pb\&

X, nX,n..nX, ={x|xeX,vie{12..,n}}

s> WinW, =W, SsW,uW, =w,; S e B4
5 sbue gl L) 43R jhiad o (59 4dgade JBiEa 4Rad Cuw R, 4S 1l
2. (6 b Ll aS AR jhiad oA (g5 Aisie B8a 4xad Cuw R

R,={x€R|x >0 }

R_={xeR|x <0 }
23 o abaldl (5 aad ol Cuw galae) ka3 AT (g grad
Ry N R_={0} o R UR_=R =

e
X={xeZ|(-8<x <8)}
Yi={x €Z | (-8 <x < 8)}
8eX = 8eXUY
BEX A -82Y = -8¢XnY
56 X ANS5eY = 5eXnY
: Jha

A={ab,cd},B={def}, C={ab}
AuUB={ab,cdef},AnB={d}
CcA,AuC={abcd}=A,AnC={ab}=C
A\B={ acA | a¢B}={ab,}
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A\C={acA| agC}={c,d}, C\A=0

'S A 4 Cacomplementa A\ C cuw. o CCA (>4 A
¢S disas A ki B arelative Complement 45 cus A\ B 2
rJba

W, ={xeR|x<0V x>0}

WAl had (V)L daal tadl o gl ks o dd Cuw W,
et 0 s U« i S

W, =R\ {0} = R*
Al jha (A )l sl hadd o ool Bia e A W,
% .GShay 4 a0 Bia Jga a2 AR L a0 6 5d ST 65 (A S
Wo=0 e JaW,
S I (elements) salie gt sai¥a 1 0.1 (uoas

(a)
X={x€EZ|(-1<x <6)}

(b)
Y={x€Z|(1<x <7)}

(c)

A{neZ|0<n<4}
M={x€Z|x=n?—4,neA}

@ ghe JHaY o Xabhal oSy XnYs Xu Y(d)
sy P(X) g aisii oo 88 X HisedS (63 Cuugy X 1y

p(X)={A]Ac X}
b s s34 power set 2 X 2 p(X)
Aq ={a} 4isi o R4 D a4y, g5 X = {a,b} 4S 1Jba
.2 0 5 As={a,b}, Ax={b},

p(X) ={0,A1, Az, A3} A [pX)] =4

IP(@)] =1 5 p(X) =D} “osm g5 cun & X aS
:L;)SéMgJ\é\gJinc)gjﬁ_.}uY}\ X:w

(a)
XCY & pX)CP(Y)
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(b)
pXNY)=pX)NPY) (o
C
p(X)Up(¥) SpXuY) ,
(a)<css
AepX)=>AcX =AcCcY = Aep(Y)
= p(X) S P(Y)
xeEX =>{x}cX = {x}epX)
= {x}ep(Y) [ =i 0]
= {x}CY = xe¥ = XCVY
(b )l

AepXNY)=ACXNY=>ACX NACY
= AepX) AN Aep(Y)=AepX)NP(Y)
AepX)NPY) >ACX NACY=>ACXnY
= AepXnY)
pXNY)=pX)NPY) Safa
1€ )usd
AepX)up(Y)=> ACX VACY
= AC(XUY)= Aep(XUY)
1SS A (B aday) )y aiVia Sa
p(XUY) SpX)up) '
3 %)
X ={12},Y ={2,3}
p(X) ={0,{1},{2},{1,2},}
p(Y) = {0,{2},{3},{2,3}}
p(X)up(Y) ={0,{1},{2},{1,2},{3},{2,3} }
Xuy ={123}
p(XUY)={0,{1},{2}{3},{1,2},{1,3K2,3},{1,2,3} }
{13} g p(X) Up(Y) 42 S Jd
«$3 (n=0) N (elements) srabicd A i (e s 348 rdudab
(2 2"yl g palics Power set 2 4xa Ly

5 S sl a8 nokas W Al complete induction 2 sl 1y ) st g

10
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2 25 e gl 1Y (550 12 (S s complete induction 4
G5 Bxaoln =022k g g cpdsaly)

n>1 240>l fsim lginan 558 (m g tdad B sy
S Bua s

SIS Gaa ol N1 2 (o (25 s Al 1 gl Guisaly)

1B 9 (pdSady
n=0=A,=0=pA,) ={0} = [pA)|=1=2°
S8 Bua Glla (5 pd x5 Juds

Ip(Ap)] = 2% i .S Baa ol N 2 ax ol 1A B (udSaly)
Dash s NS AV A AL L 8 A ise 1 S
Ap:={aj,a,,....,a,}
An+1i={a1,ay, ..., ap, an41}
An = An+1 = p(An) < p(An+1)
agpalic 4235150 (53 21 padig palic 2 p(A]) 2 e A (o (S
Dol S Y
p(An) = {s(1),s(2), .. ,s(2")}, Ip(Ap)|=2"
P(An+1) = p(Ap) U f{an} = {s(1),s(2), ... ,s(2"),
s(1) Ufant1},s(2) Ufansed -, s(2") Ufanysa}}
D58 IS L s o)) S 515 21 0w {4} 2 el An S dad i)
IP(An+)| = [p(A)] + 2" = 27 42" =2.2" = 27!
r e
Api={as,a}
Ant1:= {2y, a3}
n =2 Ji sy
p(Ay) ={9,{a;},{az }{a, a2} } }
Ip(Ap)| =2% =4
p(Ans1) = p(Ay) U{as} = {0, {a:},{az },{ar, a2 },
{0,as},{a1,a3},{az, a3}, {ay, 23,23} }
IP(An+)| = Ip(A)| +4=22+22=22%=2""1==2°=38
SR A

11
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s S pX)] S p(X) .¢sX={a,b,c} «(a)
IPX)| 5 malie X2 sX:={x€Z [4<x* <16} < (b)
¢ Sl
Cuw 43X A Cuss o A (function or mapping) &b e s :0.4 iyl
b Eraic nn)lsolda €A saic p aodakl)dswlaesnsulB
S esi 4 (Map)uss byl neais a3 2> 69352 B
RTEPPRLE!
vaeA,3'beB ; f(a)=b
:gﬁddﬂd&i@.ﬁYQ&AJ\
f:A — B
a— f(a)=>b

SAasa foliaa (LA L useal) image L mapping 2 f ()
Lyl Range 2 A 2 f(A) 5 54 Codomain 2B, »5 4 Domain
2 (subset) cuw = % s Range » .s.pbasi4 image
b a9 4 identity function 2 U 2Vl 52 Codomain
id:B—B
a—id(a) =a

B:={dsesg!h }!A:={a!bsc} r e

f:A—B
a— f(a)=e
a—fla)=g
b— f(b)=d

L)) Ay peaion g AN W AR aa i f i de
A ppaizd €A
édﬁ@)&ﬁﬁﬂ#dﬁ?\da)\:\lf J:O_'ldtu

(a)

f:Z — N

av— 2a
a=—-1€Z = f(a)=f(-1)= -2 &N HECEN
(b)

ffR—R

r—Ar

f-2) =vV—2 R  dspadiciass

12



Algebra ----ee-eeeemmemeeee e Jeadl yualza
L;J&"_tu‘)do‘)\;ﬂfdd_.g}jgﬁ‘}”dﬂ

ffR—C

r—\r
B:={0,1},A={a,b,c} :Jia

(a)
f:A->B ,f(a)=0,f(b)=1,f(c)=1
©d B4 a5 s sk o e codomain ) range (S Jbe g2 4

(b)

gA_)B ,g(a)=1,g(b)=1,g(c)=1
range s' B s codomain , A stk domain S Jie g2 4y
w24 g ki {1} b
domain ¢ue o)) 52 G 48 (52 Gslue Cag4ra g ol f alio s 1Gu gl
SB35 f(a)= gla)ybeld a € A A2 (A Jpnaqdien)
23 (Mapping) aless f: A— B :0.5 <

f injective: a,b € A |, f(a)= f(b) = a =b
(La=byb.ss f(a) = f(b) w2345 a,b € A jiseaS Jny)
abeA, a #b = f(a)+ f(b) HPESR SR
f surjective: V be B3I aeA ; f(a)=b
(& f(a)=b >us2n« a€A nabo )l beB aabn )
f bijective :f injective A f surjective
B=={d,e,g },A={a,b,c} :J&

f:A—B

a— f(a)=c¢e
b— f(b)=e
c— f(c)=d

s a #b Kaf(a) =f(b) =e 454 24 injective »f
A8 S A 4 paic gk oWl g e BaaSa, 248 surjective s f

NP INEE Yo I BT P
Axe A; f(x) =9

B:={d,e },A={a,b,c} :J&

13
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f:A—B
a— f(a)=d
b— f(b)=d

e

c— f(c)
f(a) = f(b) = d &8s .24 injective JS 2 surjective s f
a #b S

Bl e Y Ssl yise . Bi={d,e,g,h},A={a,b,c} b
Sa |, sssurjective > 55w f:A - B

ALk 84l injective 25« |A| =3 <4 =|B]|
10.2 Jha

fiZ—17
a — 2a
ssf(@) = f(b) «>s)5 a,beZ w4 sdinjective s f
S a=b o3 audab

f(a) = f(b)
> CShm A paic g aa S OZ 4458 04 surjective s f
G (s I diea)sael Glaaif jlai gy gt
AXeZ ;f(x) =1 =
: 0.3 J4a
o2 bijective U x¥h (a)
ffR—R
a+— 2a

. 45a, w2 a4 surjective sl g2 mals 2 w58 injective
b b b

b € R, a.—EER ﬁf(a)—f(z)—ZE—b
2343 surjective S o2 Injective U a¥la (b))

f:N—N
n—f(n)=n+1
m,nEN, f(m)=f(n) > m+1=n+1 = m=n = finjective

14



Algebra --------mmmm e il palas

f(m)= 1> safma LSNamaenie oW 12 dsm 4 dbe
@Y 4 surjective ou .4
»3 suUrjective 4 sl injective 4 &l su¥ls zJla

f: C—> R
z=a+ib— |z| =VaZ + b2

z1=3+4i ,z,=-3-4i
fz))=|z,| =V3Z + 42 =25 =5
fz2) = |2, | =(=3)2 + (—4)? =V25 =5
LY injective vy .2 Zy # Zo S
s f(z) = 0z € C _» 2454 o2 4 a4 Surjective
surjective 4 4l injective 4 U ga¥ly (J5 o2 S aslea 10,2 (a4l
e las

fiZ—17
x — x 2
A5 g:B—C 3 fiA— B @los yiseaS 10.6 dypl
(mapping combination ) @S yia siag sif 2 gof: A —C
SopS sl o s o™ Ay gmilisn 3 (S S a gee ) a4y L5l a 51 4
38y gof sl (i Jhe sy 1 Jha
g Z—R f:N—>Z
b— b%—-1 a— a+1
fla)=a+1€Z
gof@=gla+1)=(a+1)?*—-1=a*+2a+1-1

= a’+ 2a
Sl gof lns
(a)
g:-N—R f:N—N
b — 2vVb a— a+1
(b)
g:-N—Q f:N—N
b +— 2vb a— a+1

ly iV 5 Z 5 f1X oY &8 o5 yiseas 0.1 Lad
(a) finjective AN ginjective = gof injective

15



Algebra -------msomememem e sl palza
(b) f surjective A g surjective = gof surjective
(c) gof injective = f injective
(d) geof surjective = g surjective

gef(a)=goo, Ll ab€X 5 syu> 4S5 0445 (a)
sxaS a=b o b osS Ll ey . osy f(D)
gefla)=ge°fb)= f(a)=f(b) [injective s g5= ]
= a=b>b [injective » f Sa]
e S sl Al G (b)
VzeZ,AxeX;gof(x) =2z
fsurj > VyeYaxeX;f(x)=y
gsurj = VzeZ 3yeY;gly)=z
R ENGEE

<

g(fx) =g(y) =z = g o f surj

Lo S Wl Ehea(d) s(c)  10.3

0.4 s
.2 - 7 , gl — 7 , hZ — Z
n+— 2n n—3n+5 n+— -6n

Sl S el g8 g2Ya (@)
fog,gof,foh ,hof ,goh hog

s> surjective =S5l injective 433 nS yiaay S (b))

@l 4 Saa a2 1l bijective s fiA — B 1 0.7«
D s e 2 Jga Y 4 (inverse function)
ffiB— A
b a:= f~1(b)
f@)=berra €A saic b i f7 B poaih €B 2
s> bijective a f71 5 .S
fofl=id:B—B A flof=id:A-A

»2 Bijective U su¥la: Jba

16



Algebra --------mmmm e il palas

ffR—R
x— 3x+2

Lﬁ)ld&&dm‘}l(f_l) @b@;&u@mq

ffLR—R

s Y2
’ ’ SA

=2 =t =f(52)=22+2=y

0.5 G

. e bijective S Jhe Honaq el o s Sas (a)
S oS gl 5503 (D)
ffR— R
X — 2X + 1
0.8
18D Sy pal ah Jge (Y 4y Cun (AL) e (@)
(S Sy Bua Gl eaY (> S iy e DA g A M g
fiM — M injective & f:M — M surjective

s dse @Y 4 byl

3neN A 3 bijective f:M — {1,2,...,.n—1 }

= M finite (ce )
:( S 9smadid ) countable set (b)
bk adyc canbasi 4 (Cumseda ) countable set 2 X cuw o
o 52 e s (SUbSet) s oo 8 s (dlae) aik) N2 5l X o
uncountable set 2 5545 3sa 50 bl 1348 (5503 93 50 & bijective
(Sl p s A
(ol asi 4y (G (pme e )5 ped) infinite countable 2 X cuw s
s3a 90 & bijective oo & i (Aae) caik) Nl X o ada i o4y
infinite countable (slac! 3LL) Q sl (2lae) 2b) Z Jse 4 Jhed 555
4 ))& gl L2 Cuw uncountable s (e S8s) R 8w (62 4 i
(5 St (e & 5 el s 7 (o> sy S JUe o s
f:Z — N
2k (k= 0)
k — f(k) =
2(-k)- 1 (k<0)

17



Algebra --------mmmm e il palas

:f injective
mn€ Z , f(m) = f(n)
(g da e adgilla g s 3 N im 2
1. mn=>0 =f(m)=2m A f(h)=2n=m=n
= finjective
2. m=20ANn<0=f(m)=2m A f(n)=2(-n)-1

e @b w2 2(-n)-1 50 2(-n)>0 Wb gued lBin < 0 28 A
4 g8l Qs f(m) = 2m = 2(-n)-1 = f(n) 2 S 4ai4 g5
3.mn<0 = f(m)=2(-m)-1 A f(n)=2(-n)-1
f(m)=2(-m)-1 = f(n)=2(-n)-1 > m=n
= finjective
DN Sl sV ¥ o506 ) XE N 2 f surjective
G e s g X rdalla o gl

xeven,x>0 = J ke Z;2k=X=>k=§

= f(k) = f(g) = 2% = x = fsurjective

63 e j&ﬁx:dﬁbﬁjd

x=2(k-1=k=-""€z

fk) =f(-=) =2.(- (-2 -1 =x+1-1=x
= f surjective

(50 S (pame pE g ppediy g9 43 iy et Hhai 7 ol g0 Sl f (S a4
fiA> A &b, oy Cun (Al ) Gime s A4S 1 0.1 dpd
2 (e oy Ja g (o) gl 6 L

@2 injective = f (i)

w2 surjective s f (i)

w2 bijective s f (iii)

G o pmaie Cilide N 2 35S Um A yises) 60 Gime A (3 AKIA T g
=

18



Algebra --------mmmm e il palas

A={ayay..,an }
(if) = ()

> e sl 4 surjective s f4aS
f not surjective = f(A)#A= Ja€A;a¢ f(A)

S| fA)] =m 48, e aSaaiin A el ypalic 3 f(A) o S
=S S5y (m<n) ma SSaasl N 4S sl cu y Birichlet o
2 > syh. ssobject o5 Al (S SjHemd (s
surjective s f ub w0 bl w8 2 1y K&, (52 43 injective
NEX

(i) < (i)

> e g3 g4 njective s f4S
f not injective = Ja,b € A;a+b A f(a) = f(b)

AL G s maie n-1 el 3GV S f(A) S Al sy

oA surjective sf 458 sa pmpa@da b Sa, 5 f(A) = A
.ssinjective f b ow oy sl

TR

b sy S Graanni 0]l e Wl Byl A siusieasny (@)

<5 |B| = 4]
S 4 Baa o)l Cu (ura ped 4l 0.1 (o (o0 45l g2V (b))
:0.4 Jba
(a)
f:N->N
n (34 n )
n +— f(n) =
2 (can )

ASa 240 injective » f
f(3) =3 = g =f(6) = fnotinjective
ke N :sasurjective S f

19



Algebra --------mmmm e il palas

2 eaSf(K) =k S Cosmaey.csdb Keos S alla gl
&2 surjective
O pa (4 Sy Cua k &H«s;an;ﬁy
InEN; k=3 = n=2k= f(n)=f(2k) = 2 =k
= f surjective
proper subset 4z 2 A 5l Cus (e s B o 4aS(€)
s &l bijective o Y Ssdiyise Cosa a4 .65 (A CB o)
ALS Gl o Ly &ie S g s slama €0 Sa L 9 Sedn &ie f g gl ) 93
S el g 1o a8 gl gy o
:0.5 Jba
(i)
f:NO -7
(i x 45

N | X

x — f(x) =
_(x2+1) (du X 45)
U5 (a 2ae Cia ) 4dly 43l
Pt (S ab 4 s o 0 gai¥la o )W @isd 3 jnjective 2

X,y €N
case 1: f(x) =§ , fly) %

w N

f(x) = fly) = P =§ = 2X=2y = X=Y

case 2: f(x)= —xt1) fly) = @

f(x) = fly) = ‘(X;”:‘(y;” — 2x-2=-2.y-2

= X=Vy

case 3 : f(x) =§ fly) = —(yz+1)

fix)=fly) = > =" = 2x=2y-2 = x+y=1

s dae) ik y}\ X ASA sl a sl X+y=1
s @l asn o sopaday S s ) 40 Sl Qlla o )3 (o dsd Jad
4SS sy e surjective s e casSaal

20



Algebra

Sl yalae
162 5 ge s Y (5 y0 ol y € Z 2
case1:y=0
§=y=0 Vv —(xz+1)= -0
= x=0V -(x+1)=0
G -(Xx+1) =0 2w .2 0€ N 245 A
-x+1)=0 = = -1

f(-1)= == =0
case2:y>0
xi=2y € N = f(x) = f(2y)
2y

=T=y [srois 2yss ]

case3:y<0
x:=-2y-1€ N = f(x)=f(-2y—1)

=w [ Gl -2y-1 455 ]
2y

2
SN 4 Xno)d y € Z o osd duls S5ila 5 0 0 4
Bramd NCZ slrimene o) oN Z. A f(X) = Y o> oSl
(52 5 sa Fia i 5 s g )l 533 pifective aals .S
a2 cailails  Exponentialfunction x¥ b (i)
exp :R— R,
X — e

b o 98 4 (Eulers Number) 2= L) o e
e=2.718281828459

: injective
x,YE R, exp(x) =exp(y)
= e =e' = x=y = expinjective
:surjective
YER,

x:=In(y) = y =e* = exp(x) = exp surjective

bijective saly .S 3xam R, CR sgromang o) R 5 R,

(52 252 90 Frita Y o a5 )l 93
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Algebra --------mmmm e il palas

surjective , injective 433 a8 saVa 0 S 2 6 S aslaa 1 0.7 Al
> bijective L
(a)
f:R— R
x—x2+1
(b)
f: R—>R
x+— 3x—4
oW sisi (i=1,2,3,...,n) 4; > :0.9 iy
(s s e 23 Jg9 g3Y 4 direct product of Sets
A XAy X ... XA,
= {(aq,ay,....,ay) | a, €A;,i=12,..,n}
A pacy s Sans A=A XA, X A3 X .. XA, psaS
AL N g €A p=ic
a=(aq,a,as, .., a,)
n—tupel 02y S disn-tupel & (aq, a,, as, ..., a,)
162 558 Ay i Jse
a = (ay,a,,as,...,a,),b = (by, by, bs,...,b,,) EA
a=b := a;=b;Vi€e{l,2,..,n}
direct product “osa iy A=A, =4, =A3=--=A4, S
oS IS Iy AT o s A 2
4waia 4o 5.0b a8 & 554 Cartesian product 2 direct product
paic N Cus B oyl paie m Cun A 348 5 saliind aaly ) s 5 (S
s Aadirect product <us GaS 5l |Bl=n« [Al=m = .c0ls
2. GIMN ped g palicd Ga a4, G=AXB & .65B
|G| = |AxB| = |A|.|B] = m.n

LS Bua e (i=1,2,...,0) A ool sis gma gile aday) 43 s
:JGa

A={1,23},B={ab,cd}
G =AxB ={1,2,3} x{a,b,c,d}
= { (1a),(2,2),(3,2),{1,b),(2,b),(3,b),(1,0),(2,0),(3,0),(1,d)
(2,d),(3,d) }
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|G| =3.4=12 (= s.xS
:0.6 Ju«
R?2:=RxR
f: R? — R?
(X1, %2) — (2x1, x3)
finjective:
X = (X1,%2) , ¥ = (Y,Y2) € R?
SAIX =Y (o> 5 G b g f(x) =fly) wo S
f(x) =fly) = (2x1, %) =(2y1,2)
= 2X1=2y1 A %=y, = X1=Y1 A X =Y)
= X=Y
= finjective
f surjective:
y =(yny:) € R?
S f(X) =y > s Xx=(X%) € R? w2l
f(x) = f(x1, x2) = (2x1, %2 ):=y = (y1,¥2)
= 2X1=Y1 A X =Y, = x1:=% N X2:=Y
= f(x) =, %) = f25, va) = (220, y2)= (1, v2) =y
= f surjective
.2 bijective »f S4aada
D S a (elements) alie sigiu ga¥a 1 0.7 (nuad
W:={(xy)€ ZxZ|(x +y=0)A(-3<xy<3)}
X={(x,y) EZxZ|(x*> =y?2)A (-3 < x,y <3)}
Y={(x,y) €EZxZ|(x =0V y=0)A(-3<x,y<3)}
(b)
W:= {(x1, %, %3) € R®| x; = x3}
u=(1,0,1),v=(2,0,3), w=(0,1,0)
o Jalsia Sl Jubsi S W 4 WV U 2 a S 4a 5 S ashaa
(c)
H:= { (x1,X2,X3,X4) € R* | x1+3x2+2x4=0, 2x1,X2+x3=0}
u=(1,2,0,2),v=(3,-1,-5,0) , w=(-1,1,1,-1)
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@24 deliasS sl Jald (S H 4 W,V,U 252 a8 4a 5 S aslae
2 bijective s surjective , injective U 3 (oS 1 0.8 (sl
(a)
f:RxR — R
(x1,%2) — x1 + x5

(b)
f:RxR — R
(1, %) = X% +x,° = 1
AV b A # p Cwwmn , ~"  (relation) 4 o5 10.10 iyl
c b a4 (4, i) equivalence relation 2 e sal 52
a,b,c €A

(i) a~a (reflexive)
(ii) a~b = b~a ( symmetric)
(iii) a~b A b~c = a~c (transitive)
o) bl 45 symmetric .« odSadl 45 reflexive (SsUS A 4
(82 g s JEB) 45 transitive
aay) yalilac o g sl A £ P Cumsogm oy “=" adayl ) il glue 3 1l
.22 (eqg-relation)
reflexive: a=a = a~a (Vaed)
symmetric:a~b = a=b =b=a
= b~a (V (a,b) € AxA)
transitive: a~b A b~c 2 a=b Ab=c=a=c
= a~cC vV (a,b),(b,c) € AxA
Dyt (S aly 4y adayl y g2V L 7 2dla
a~b:eoac<b ((a,b) € ZxZ)
4SA s34 symmetric S .e2 transitive sl reflexive 4k i) s

2<3 =>2~3
3£2 =3+2
cexad ((egrrelation ) adayly Adalas o sy adayl 5 (5 53 G

24
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.02 (‘eg-relation ) ada ) Alabas o g adail ) g2Vl L Z 5 :0.7 JUa
(a,b) € ZxZ

a~b:o2]a-b (Gramsiadld 2 na-b)

-reflexive
a-a=0 = 2|0 = a~a
: symmetric
(a,b) €ZxZ,a ~b =>2]a-b = 3Iq€ z;a-b=2q
=>b-a=2.(-q)
= 2lb-a b ~a = “~" symmetric
: transitive

(a,b),(b,c) €EZxZ,a ~bAb~c=2la-b A 2|b-c
=> 3dmEzZ ;a-b=2m AIn€E z;b-c=2n
=>b=a-2mA c=b-2n
= c=a-2m-2n=a-2(m+n)
=c-a=-2(m+n) >a-c=2(m+n)=>2|a-c
= “~" transitive
o2 (‘eg-relation ) aday Alalas o 5 o> 5 D

ad cni Jss Y 4 (relation) 4kl "y (dhel W) 7y idba
ab,ceZ e

a~b:oab#0
a~b=>ab#0=> ba#0 =>b~a= "~" symmetric
a~bAb~c=>ab#0ADbc#0
=2a#0,b#0,c#0
= a.c# 0 = a~c>"~"transitive
w2 0.0 #0 wWeus 0~0 S48 x4 reflexive S«
s34 (eg-relation ) 4k addbeasgy "~
:0.90n 4
(relation) 4asl ) u¥ gaa X n L 2 O S Aigsen 2 X (@)
a,bEX .02l

25
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a~b:e e S Nienagomb 2a
22 ((eg-relation ) abal, ddlaaesy "~ xS Qo

aayl y g2 a4l Xy . plane A pidsa X (b))
a,b € X .s2 558 pai (relation)

a~b:e wramwaaeywb 23
o2 (eg-relation ) 4kl ablacosn "~ oa g S Db
oy s g yad aday) ) (s I oy (aigaae 3LU) Q 2 1 0.10 GrusS
abeQ
a~b:a—beEZL
o2 ( eqg-relation ) 4kl Jdason "~"ax s SO (@)

$2 e shis) Y S (b))
26 14 9 10 2 1 8 1 6 1

— N — —_— A — _—~ — _—~ — e

12 12 3 5 ’ ‘7 8

equivalence relation ,, ~ , e @2 4b Cuw X # ¢ » :0.11 Ayl
03 (5 5y yxi (il ) Alalxa)

[x].:={yeX | x~y}
e iseaS (5.8 s ((0OS Jilae ) equivalence class 4 [x].
dsay Jied sy Soabhay Jie 0.6 2 (eg-relation) 4k

[5].={yeX |5~y }={yeX | 2/5-y}
={ EREY -5’-3’-1,1,3,5, 7, 9, 11, ....... }

( eg-relation ) 4k, alslas o5y, ~ 5l Cun X # ¢ 10.2 4ncd
DS Bya Lﬁq\é\ Lﬁqj\j\d o X

(a) X = Urex[x]-
(b) [X]l. #¢ VYxeX

(¢) K-nlyl.#0 & x~y & [xl.=[yl
srzals Urexlx]. €X rasd (a)

Xxe X = X€|[x]. [~ reflexive]
= [x]. #¢ A XS Urex[x]-
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ue [x]. N [y]-
= X~U A y~uU
= X~U A U~y [~ symetric ]
= X~V [~ transitive ]
X~y = V UE[x].; X~U
A X~y [~ symetric A transitive ]
= y~U [~ symetric Atransitive | = ue€ [y].
= [x]. € [y]-
V]~ € [X]~ o2 58 Dsf 55 VS s laea
paS A LAl
K.=Dbl. = x~y = [K.n[yl.#0
nkeN:1.12 iy p

n!=1.2.3....n
n!
kl.(n—k)! Osks=n
() =
0 k>n

ads 4l 5.0 o 5 4 binomial coefficient 2 (i) s factorial 2 n!
d).}gﬁ.\.ﬁ‘}!@(ﬁ) QJ}A&M‘&}M&)WKb)‘&}L&AnJ‘kJ\S

o gl Ly pad
©)=@=1
s JUia
5/=1.2.3.45=120
5y 5! 120 120 _
(3)= 31(5-3)! 62 12 10

(mathematical logic and De Morgan's Laws ) : 0.13 iy
s ( mathematical logic) Bhie silunly) 2 J 9 paite 4y o)l s 43l i s
S5 7S ey e 3 558 De Morgan
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> (operatotrs) wile 1Y) : Boolean Operators (a)
‘5.0 » 59 4 Boolean Operators
A : logical and (conjuction) ()
V :logical or (disjuction (L)
5 (statments) 8 3V 1o g J 9 4 Jle d
Qi dase s oSy P
O Ao ajima 1Q
sl Gl a1 R
5 Y S s s sl Jeane (i g 0 WS ¢ (SG saa ) Ay 3 daal 1 Jla
4G igedS (5S4 Bua sl R )Se s Baa il Q) P aaih
congoyu (false) F 4 S 4 3raasy (true) T4 ¢S 3aa o Ul
s A ISS gAY (S s apdra o pi Y Sy
(and ) A

P/IQIR|PAQ |[PAR | QAR

T(T|F| T F F

P/ Q|R|PVQ |[PVR |QVR

SR\ Lﬁd\é\ 95.\3‘}!\3 BN :Jlia

Jass s P

Ji VS 1 Q

ded cuyd R

SR Y S o S ) 2san s PAQ

s Cupd Ll VS o)l aan s QVR

(8w i LY S) o) sHny LS 5 ) & 25aa : PA( QVR)
Cuyd ol osa s AS )L gl 25 Y S (g e 2seae 1 Q V(PAR)
(s

259 asee 4 2 (statments) wlél s 2 R sQ P s
s ) o=l A Y 12 Boolean Operators
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PAQ=QAP :( commutative ) s
:( associative) =3
PA(QAR)=(PAQ)AR
PV(QVR)=(PvQ)VR
:( distributive) (s
PA(QVR)=(PAQ)V(PAR)
PV(QAR)=(PVQ)A(PVR)

:( De Morgen's Laws ) us@ a2 (b)
s Sabadie G R JIQ (p Ml g4 yise

logic not: —
JyAaas =P
S R S A
i ¥sS 12Q
~(PAQ) (Negation of a conjunction )

=(PvQ) ( Negation of a disjunction)
:( De Morgen's Laws ) ¢si& saums (b))

“(PAQ)==PV-Q [=35YSLsnslS ) 4asna ]
~(PvQ) = =P A ~Q
[525Y S (5 )58 43 ) (555 LS (5 ) 5& 4 2 5ana ]‘j
8| &P
(I i dn eV 4l Q spa(a)
P: x<100, Q: x>40
D sa s
PAQ={x<100A x>40}
~(PAQ)=(-P) VvV (=Q)=(x>100)V (x<40)
i gsd G ids ¥4 Ry Qep (b)
P:x=10,Q:x=-10 , R: x* = 100
P IS (el (g

P=R, Q=R
R#P,R#Q
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R o PvQ

: De Mo rgen’s Laws for Sets
A,BcX

A°:=X\A ={ aeX | ag A }
A° complement of A in X
B :=X\B ={ ac X | a¢ B}
B® complement of B in X
(A UB )= ANB°
(AN B)= A°UBS
: Jua
X:={a,b,c,d,efgh,8,9}, A:={a,b,c,d}, B:={c,d,e,f,}
A UB-={a,b,cdef}, An B={cd}
A° ={e,f,gh,8,9}, B ={a,b,gh,8,9}
(AUB) ={gh,89}=A"NB"
(AN B) ={a,b,e,fgh,89}= A°UB*
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Juad 5yl
( Group )suus

G oo p ‘D" (Binary operation) 4adaily SSesvee 1,1 ciyad
e gh et Jo XY 4 M # ¢

O:MxXM-—>M

(a,b) — a®b

DGR RCEM raic g cilnhdd (ag,h) EM XM » 2 S
= Cc=a®b
2" @ " (Binary operation) bl ;4158 6 52 5 53 (38 Jle 1Y 431 Jla
8 (5 9 y yat ((dae) WB) 7
. D ZLxZ — L
(aab) — a®b = 2a—b

C=a®b > 233w CcEL w)nhio il (a,b) EZLXT >
S8 el sl (el k) N pds eV a4 @ 4SS &
©:NxN — N
(aab) — a®b = 2a-b

sa=2 K454 24 (Binary operation) 4kl (55 058 1
ss b=6
a®bb=2a-b=2-2-6=-2¢ N

2" ©" (Binary operation) ksl 4358 o 53 6 51 (S Jlie g2 4y 1 Jlia
03 (5 ¢y 2l ((2lae) Awa) R
O:RxR — R
(ab) — a®b = = (a + b)
58 Gyt (Aae) W) 7 Jse gl 4 @ 4SS
O:Zxl — 7L
(ab) — a®b = - (a + b)

55 b=3_g\a=2 48 45A _odﬁ&g\_)ﬁ}sbjjpﬁ\q
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a®b =>(a+b) =2 (2+3)=2 ¢
onllaosuw @ ) @sSennd M # ¢ Qs 2112 Ayl
(M, ) 4 x50 5 .00 a9 4 (algebraic structure) < s
® s @ (Binary operations) sk )5S osn o3l M Cu g1, sads 6
( IR;+: ')I(Z ;+; -)dj@d‘;’duﬂﬂ.):‘%‘(]\/],@,@)‘\g}y o

) SsS a0 s am (o o (Olatly) Qg gl (CL 4+, )

Lﬁ‘)j " " }‘ "+"
i pad el a2 ol (plaidle ) Qs ol (M, @) 0

(associativity)salail - (i)
a®(b®c) = (a®b)®c ( Ya,b,ce M )

2 > bb ey e 1A (left identity) cuve ca v @ ki (i)
(right identity ) cuve s ePa =a > 5252 xe EM
Coe G348 LA ( VaEM) aBe =a >bricyerula
S a st 4 pale Cube aln¢ (55 5 s o pu Cuie (5
a4 (left inverse) oS 223 a €M o522 b € M2 (i)
(right inverse) u«sSxe 531 bPa = e > b s 243 b
(82 paie Cuie 4l g4l ssa®b = e S (gl
(commutative) b (iv)
adb=bDa (Va,beEM)
)R A gl Y e glidle gonll (M, D,0 ) 1@
= Jis (distributive)
Va,b,ce M , a®b®c) = (a®b)B(a®c)
JAN
(b®c)®Oa = (bOa)D(cOb)
:Jla
M:={-1,1} c R (a)
-t MxM — M
(ab)— a-b

G e DB S el gl gl gl s a Dl Cua M2
Cuigamegonll o (M) @, 1+1=2¢ M S8 s)la
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a4 (M4) S s ((olaialan)
Ouaials gl o L cua i cws Mi={-1,1,i,-i} c C 2 (b)
SA )
-1).-1)=1€ M, (-1).(1) =-1e M, (-1).i = -ie M,

(-1).(-) =ie M,1.1=1€ M, l.i=ie M, 1.(-) =-ie M,
ii=-1€ M, i.(-) =-1.(2) = (-1).(-1) = 1€ M,
-i).(-) =1.(A =1.(-1)=-1e M

SR el gladdbe gl A8 4 as Hi M 8%
(-1)+(-1) = 2¢ M

s duidlagaliea (No,+) ()
o 9 iy yxi adayl ) 58 6 93 1Y (g2l (dlae) k) N -:dba

O:NXN —N
(a,b) — a®b = a?

Gwald s R 62 (algebraic structure) <y sl 2 (N, ©)
4SA | 1 4 (commutative)

203=23=8+9=3%2= 302
1.2 Jlia

ol g a8 adald gl Mad) gl 3 i P(X) Cusy e grcun 0 X (@)
(6 Qe goall (P(X), U) 5 (P(X), N) . A glaidla
aSA
ABEP(X) = ABC X = AUBC X A AnBCX

= AUBe P(X) A AnBeP(X)
@OV JSE gaY Cuw M(2x2,R) s (b))

M: = {AEM(ZxZ,R)M:(CCL Z) }

45A .52 (algebraic structure) <us s s xall s (M, +)
L3 B (A A seal A S yiao
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_(a11 Qg (b1 by
A,BeM,A-(a21 azz)'B_<b21 b22>

a1 + by agp + by

= A+BeM
Az, + by Ay +b22>

A+B=<

—a11 —Aqp
P G P
azq az;

(&2 pd s (M) +)
aa iy 453 (50 (algebraic structure) <y s s g aa (M)
L3 S (A A pial A 5 e
A,BEM = A.BEM

SCEQIPY PUCHAEQERY. (Y BB

a=( Ba=( e m

1.2+22 1.(-2)+2.(-1 ) _ (6 _4)
22+12 2.(-2)+1.(-1)) \6 -5

a=(3 21)-G D=5 3)
$3AB # B.A 2 S Jul

4.0 QS el ) pen 9SG Sled adal ) (S esn 47 adly4nl)
A ) pan sy ylea kAt G M(naxm, R) o stlss oY S J9 (oo see

an=(

SN Qg 5]
:1.3 Jus
— _(a b 2 2
M= {A€MQ2x2,R)|A= (_b a),a +b% #0} (a)
(i)
i MxM — M
(A,B) — A-B
2 (algebraic structure) <y ol 2 (M,.)
(i)
+:MxM — M
(AB) — A+B
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@4 (algebraic structure) < s ) s s (M, +)

(i) &
a=(5 Z)’B:(—Cd Ccl)EM

ap= (4 D)5 =G0 S

(ac-bd)2 + (ad + bc)2 = (ac)?2 -2 acbd + (bd)?
+ (ad)? + 2adbc + (bc)?
= (ac)? + (bd)? + (ad)? + (bc)?
a2+b2#0 Ac2+d2#0
= (a2+b2).(c2+d?)+#0
= (ac)? + (bd)? + (ad)? + (bc)2# 0

— ABEM
il a4 b
ABEM = det(A)=a2+b2#0 A det(B)=c2+d2+#0

det(A.B) = det(A) .det(B) # 0
= (ac-bd)2 + (ad + bc)2 =det(A.B) # 0
= ABEM

2 (algebraic structure) < ol 9 (M) S 44

:(ii) da
a=(", Z)’B:(—Cd Ccl)EM
A+B= (1 Z)+(—Cd Ccl):(—abJr—Cd Ic)ziccl)
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S8 32 AHBE M Al ¢ o5 Ly ol g (M,+) 4S

(a+c)®+ (b+d)> £ 0
(a+c)®=a’+2ac+c’
( b+d)? = b* + 2bd + d?
L;}Sduémwl,:d}u&,uhgﬂﬂadﬁgd&q

a=(8 D= D=8 9= Denm

A+B=(1_1 1—1)=(0 0)65 M

-14+1 1-1 0 O
ca glaidle g all (M)4) Saadiiay 6302402 =0 453
1.1 G

M:={aeR | -5<a< 3} (a)
A (Piale) Qg ol 2 (M+) U
1S st et aday) j 480 90 sV LR »4aS(b)
® :RxR — R
(ab) — a® b=:(a+b)
G4 Cuald galai) S ) s ol (R, @) o> 6S s
Gush i [z = Va2 + b2 oJz=a+ibeC2 (c)
G={zeC | |z|=1}
:GxG— G

(z1,22) ¥ 71.22

2 (algebraic structure) <y ol 5 (G,.) 3 S Do
LSk 0y egquww% G gl

245 (G, @) (algebraic structure) < ol 511, 3
aalsa (i), (i) &S c semigroup 2l Cwald (i) el (S
4 (group) K2l 4l sa (iii) , (ii),(i) <S5 monoid 2 sl
by 6 S5 3uass Cuald (V) S SenainaS, goabag
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s 8 as o 608 By (commutative group ) o S a4

3 (55 e ypadig palicn g 8 534S (500 a8 o 53 43 @blean group
Cma it 43 )5 (5543 (ot 48 (5.0l 44l 4 (finite group) S s
&) (infinite Group ) <58

N 4,0 ralc Cuie o 4K3 A Sa 2 semi group s (N, +) e
IS (L85 monoid o ¢ g 4 el (S

sy R e (GO ) S 1.1 4pad

@2 2554 (left-inverse) s cansilna € Graic p 2 (1)
2 e (right-inverse) s sSae 5 S da e b (o

S da e 4y a0 e (left-identity) Cuie can il (2)
. @ (right-identity) <ube o
oS a9 (left-identity cuwie e aS: gl (1)
isSaa o3 0 D o Dl b s S G4 a (left-inverse)
2.2 02 Al (right-inverse)
aba=e = ada=c¢e
Gamsa @ S Gamad o)l G0 @8 0 G SA
e abd =e o
VaeGIaeG,aba=e NJaeEG,aba=c¢e
a®a = e®(a®a) [ crcuie e S5 ]
= (@®a)®(ada) [u2 a 2psSmg> G 53 ]

=a® (a®(a®a)) [ “walsualadl]
=a @ ((aPa)®a) [ <was gaadl]
= a®(e®a) [ adxpssae g S ]
ada [ Grcuie e 4S5 ]
e [wra 205y a S5
SIp A sSas b T s s
s (left-identity) cuie ca e € G &S 1 @l (2)
a=eda Vace€GlG &=
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a=aPe Va€G il
a€EG = 3Jaec; aPa=¢e
a®e = a®(aPa)
= (a®a)®a [ Cnals ol ]
= e®a [ (1) k& ]
=3 [ 6o cuine wz e 4T ]
@2 oo (right-identity) <uwue 5 e o Jsd Juls
2 G 2uie 9 EEG DS U fhyim

e@e =c¢e [Lgdubg.'::\ce_& ]
e@e = | socwe 54 ]

=€ Saii4
&2 25 5a (identity) saie Cunes s dail Sy Semdy o s D
YA A S b @ EG osSle n @YD 35S pas
a’ =a®e [ ©2cuie eaSa ]
=a,@(a@d) [Lﬁd a Jw}igund PLES ]
= (a'@a)®da ) [ Cwals ol ]

=e®d =a [LSJ a .Ju.u)&zAalé\.s\i ]
% s 53 (5 ) sp ath ol peaic @ (S s Ko mdy o Jsd Jal
@2 2> 5 (inverse)
(83 pd S i (Sl (e 4y GesSae ax pals g o AR 1
3485l gss a4 g sl (inverse) oesSae Adass 2l G i
204 (identity) saie Cuie
o gpais Cuie 3 a3 s 8 S (R, +),(Q,+), (Z,+) -
a2 saa-g o 0"

31" male Cuie 3 A gy S LaE (RY.),(Q,.)

1 . - 1
G S a.z =1 S8 . 6206 S a1= 2

o s sty (Soliay Cuw Mi= M(2x2,R) 2 48 :1.4 JYa
e S e 2,11 M g ) (Olaidla) sy sl (ML) ) (M, +)
L S (A 4l pal 530 508G ed 4SS (52 monoid 4 s
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:(associativity) cuala siadl
AB,Ce M
A+(B+C) = (A+B)+C A A.(B.C) = (A.B).C

(M,.) 2 Sa e 3l 5 5) paie Cuiie (M,4) 2 0S9 e ia © paic Cuie
S LS pale Cube

(0 D+ o= (o ato)
(2

o V= Cio ova)="
WA s 25 8 (M+)

A Y eSae —A (asd dads
@ S s (My4) ol 49 gl 530 508G yie o

4y Jliad 4G jlaad (5 40 G sSae S Jiejha 4SA (245 5 8 (M) JSw
SN 4 G sSae S sie saY1 U9
12
a=(G 5)

esee 4 a8l o )Ll M (242, R) 2 sl 4 pala )5 (M) 5 (M,+) 2
(S5S Bua a0 )W M(nxn, R) 2 &) sa
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s C 4 Cuw (complex number) salae) Lalide Ll o g8 11,1 g
s2ab ER 4 o N IKiz=a+ib 2zE C o o) oS Jags
a =realpart ,i= imaginary unit, b =imaginary part,
absolute value:= | z| = Va2 + b2
complex conjugate:=zZ=a—ib

-z=-a-ib 3 ‘0" iwa ppaic Cuie a3 gy R Lt o (C4)
¢ z=a+ib 2 s

3 usSan 6 1% aaie Cuie a0 s S g e (CFL)

AT G S 3V 465 27 4S z=a+ib € C

71 — 1i_ 1 1 a—ib a—ib
z a+ib a+ib a-ib a? + iab—iab—i2 b2
. a—ib _a-ib _  Z
" a2 —(-1)b%2  aZ+b2 |z]2
z 71 = zZ a2+b2_1
= TR T wre s

S8 Bua ab digal i 580 60 ZaesSaaz o oS Jad
S8 Z a0 S S (Ch )40 L z= 2-i83 € € i

gl=f_ 23 243 _243_2 3,
|z]2 ~ 224(-3)2 449 13 13 13
> S dal
. 2+i3 (2-30).(2+i3)  4-9(i.i)
-1 — - = =
2z (2 31)'(13 ) 13 13
_4-9(-1) _13 _
13 13 1
. 2+i3 .
$Yz2 =2-3i2pSazl= ; S Al 4
s Swa (CY.) o (C,+) LB z2=-345i € C" 2 ussan 1Al
S )G =:{as aas....a, } Qo nywilg iy
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4xb 5 Y S Lo s (identity) waie Cue 43 gy 5l QS 0 (G%)
e Jee eaY 4 (S dss mag

* a; a, as |.|.|.].].] ap

di | di*xdq | Aixdp | A1*dA3 | .| .| .| .| .| d1*dp
dy | dyxdq | dAyxdp | Apxd3 | .| .|.]|.]| .| dp*dp
d3 | d3xdq | d3xdp [ d3*d3 | .| .| .| .| .| d3*xdp
dy|Ap*dy [Ap*dy | Ap*d3 | .| . |.|.].|dn*adp

L (S (05t ) i op g aSilaer ) 4Gl o a4 1l (S st o4
b a4 Cayley Table 2dsas dse by G 2 walic Calida LS
o=l A 1Y o das o s Qe 5 S Ca g 4aa Jsas Cayley s
CB'\P

S5 d e paic Qe ()

S5 G sbua oy (i Saa (23 sl 2 (T

G s caala galadl (i)

G:={a,b,c,d,e} :Jks

Qo |T|v
O Qo |T(o|L
o |0 |Q|p |T|T
QO T|D (|00
OO 0 Q
O |0 |(D|D
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Sa a4 Qs 8 (G *) Sw .2 paie Qe 0 (S ond

cxd=a#b=d=xc
G S (54 S srd S 22 C 2
d by S Ok AP s Y Sy . AP ={ea} : b
iy S Cayley Table 4 JSd a4 A

]

®le|a
e |ela
a |ale

eoe=e,e@a=a=aoe ,aoa=e
s S i (AP, @)
1.2 A
ol glidle a5 8 (R, (Z,.),(N,+) s (a)
s X 8 (Q4.) e>eSass (b)

wapahiG e Sod, G={1,-1} (c)
EEESEP
s I 4X Jsaa Cayley 4z
wa i G e S, Gi={-1,1,i-} cC (d)
A IE 48 Jaa Cayley 40y 2 25 8
S8 D" s ih iy AW={ag,a5,82,a3} 2 1.4 Jbe
Dedgd cay i (S Jaa Cayley s 4 JKG gl 4 adal
1S dee dso gV bl ) 4S50 @ (S ds s

]

@ |ag|ai|ax|as

dg |Qp | A1 | A2 | A3

di Q@i |Qz |4s | do

ds3 Qa3 |dg | A1 | a2
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S dee Jep iV gall ) A R @ (S des SAoaa

a,®Da, =
A5 w (AY @)

(0<Auwv<3s3AuveN ) (associativity )il (1)

ay+,Pa, if A+u<4
(ar ®a,)® a, =
-4 a, if A+u=4

= Apypsv-a If 4<A+p+v<8

iy S b4 gD (a Bay) e S ¢ (A A Y Al (e

e O
a)\@(ap@av) = (a)\@ap)@av

@ (idently) s=ie Cuie 5 ag (2)

GY ¢ G4 e Sae ) paic may 20 (inverse) usSas (3)
a;@a; =a; : deadic & p+N =4 b
WSe5 O os il Cu A(2,2) :={b1,b2,b3,b4} 2 1.3 %
Do g cayai S J i Cayley s ap JKG iy 4y adal

43 by | by | bs | by | by
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P (s sSaa Ala juaic gl (50 paie Cuiied by o2 oS JW (S dsa 4
RUEGPR
b,®Ob, = b;®b; = b,Ob, = b,
cosita L pu, v 24 v<4d e )d L veEN 2
23 (5 38 i 2i 93 1Y 4 (binary operation) 4l ) (S sS o 50 ) e
b,®b, = b,

. (‘associativity )=
Gesalide Ay, viI2<Auv<4dsAuveEND?

(b/1®bﬂ) @bv = bVQbV = bl
b/1®(bﬂ®bv) =Db,0b, = b,

(b,0b,) @b, = b,Ob, = b,
b,@ (b,®b,) = b,®b, = b,
(bu®bu)®bv = b,©b, = b,
b,®(b,Ob,) = b,Ob, = b,
(bll@bv)@bv = b;Lva = bﬂ
b,©(b,®Ob,) = b,Ob; = b,
(b,®b,)®b, = b,®b, = b,
b,®(b,Ob,) = b,®b, = b,

23S AP a0 8 5 (AP 0) o sd sl (Sanii4
b a5 4y Klein four-group(F.Klein 1849-1925)
AJJLxALﬁJ}\}( bJEﬂj_)..A.'\.G a,b € G » J_Lgd%jﬁﬁ((;’ea ) :1_1 LA..'\S
PO GMa

(a®b)™' =b~'®a!
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Algebra ----ee-eeeemmemeeee e Jeadl yualza
Godi Al .62 a®b 2 pesSae 22 a7 IPb T o 5 Dl Al g

(b~1®a D (adb) =e

(b7 ®a)®(a®db) = b ®(a 1@ (adb)) [saadl cuald |
= b '®((a"1®a)®Db)
=b 1®(e®db) =b @b =c¢

= (a®b) ™' = b '@a?!

GVl Ly (g5 aic Cue 4ah2e € G 5 s S5 (G, @ ) 4S 11,2 4l
1SS Bua U
a,bceG (1)
cPha=c®Bb>a=>»
N
a@c=b®bc=>a=>b
CE A Sl Jyobaia) (S Se Ay S

(2)
abeG, I'xeG; xBa=b N 3AlyelG;a®y=0>b
c@a=cO®b >5Sa s (1) Qb
cOa=chdb=c 1P (cha) =c 1®(cHb)
=S (c1B )Ba = (c1dc)®b
= e®@a =e®b
>a=>»b
(e 9S gl (6 S ASS s
a@c=bbc=>a=>»

(2)gsd
a,beG=> JateG [ Grgs S nGasa ]
= b®aleG
Cysa . s S s Xi= b@a ! psas

x=b®a!=>x®a=Db®a)®a=bDH(a®a!)
=bPe =>
L3 (S G X wde 4 oo Jed dal
wha=>b S .ssraic ndpndrma weEGS
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wOa=b=>wW®ha)Pal=bDal
Swd@daH)=bPal
>w®e=bPa! =2w=bPal=x
SNy Cald dra 4 X )l bl ol Gl
@A) 3V Ly 55 G # B Cum o p bl ) A S0 05 P 4S 11,3 Anad
:Lngdddl:_ac‘)ud,\ﬁ‘d
s R 2 (GD) (1)
(2)
cA el il @ (a)
s puspal A g2V x, Yy EG o) a,b EG sr=ic 52 22 (b)

ZL,,S)“J.AJ
x@a=b A ay=b
1 g
A Y 43R i 1.2 3y salia i S0 (2) & (1)
Sl VS (b) 4ok (1) &« (2)

CEG=>Te€G;edc=c [uvsC=a=b«s]
a€EG=>3y€elq;cDy=a
= e@a = e®(cDy)
=(e®@c)By=chy=a
(SR A0 € paic Cued
e,a€EG=>3Ax € G ;xPa=c¢e
SRad s X (S
1.5 Jha
G={aeM@2,R)[4= (" 2),a2 +b% %0}
-:GxG— G
(A,B) — A-B
s 8 w2 (G,.)
s (Oials) sy ol o (G)) o> dus s S JEe 1.3 43 :da
=il s (G,)) ou . s Caald gadadl (M(2x2,R),.) > 484
GS M(2x2,R) 454,53 cuals
ASA (5 S Al (o paic Cuie
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E=(1 Neg, a=(" Z)ea

0 1 —b
_(a by (1 O\_ (a+0 O0+b\_
A'E_(—b a)'(O 1) B (—b+0 0+a) =4
LHAE ugSaa
_(a b
A= (_b a) €G
1 Sl Y o Jie i sSae A 2
41 a —b
A _a2+b2'(b a)EG
4SA
a -b
1__1 (a —b) _ | a?+p?  a?+p?
a2+b? "\p a b a
a’+b?  a?+b?
a 2 -b o a? b? _ a?+bp?
(a2+b2) (a2+b2) "~ (a?+b?)? (a2+b2)2  (a2+b?)2
a2 +bh2#0> 2 L0 5 Aleg
(a2+b?2)2

e G R

__1 ( a? + b? —ab+ab>
a?+b* " \—agb +ab  a? + b?
_ 1 (a*+b? 0
a?+b?’ 0 a? + b?
_a*+p?2 (1 0\ _/1 O
T az+p?’ (0 1) B (0 1)
2238 2 (G)) o> 58 Qs
: 1.6 Jba

GL(2,R):={A€M(2x2,R)| Ainvertible ( s =552 )}
(63 Bz i aaly o paie Cuie a3 R 2 (GL(12,R) ,.)
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.« (algebraic structure) @iy s sl (GL(2, R), . ) >
eae Al yuall i b asa
ABE GL(2,R) = det(A.B) = detA . detB # 0
= 3D € GL(2,R); D = (A.B)!
— ABEGL(Z,R)
AE GL(2,R) = detA#0 = 3IA'€GL(2,R);A.A'=E,
9 S n(GL2,R),.) Sasgia
58 0 (GL(IN, R), ) 2008 Qo Jgo (asee 4y b Y S 1@
(Y0 aada gadlan add)
dss a4y |z| oo z=a+ib sl Gi={z€C| |2]=1} 1.3 G

| z| =VaZ + b2 c2ss

s Akl ) 435S 090 g2V 2l G Ly
-:GxG— G

(z1,2) — 721. 25
258 0 (G,.) > S
s - 4 (Binary operation ) 4y ) 4358 s 93 6 5 (53 A Gy yige 1 Qigi
o3 4d dalee O i galed adly Caaa o) ga
aail ) SR o309 3 < n D, = {e,a,b,c,d,f,g,h}>: 1.7 Jba
Dol g iy el S a3 4 (S Jsas IS s 49 (Binary operation )

.lelalbjc|d| flg|h
elela|b|c|d]| f[g]|h
ala|bjc|e|f|lg|h|d
bi/bjcle|la|g|/h|d]|f
clclela|b/h|d]| f|g
d|{d|/h|g| fle|c|bla
fl fld|h|glale|c]|b
glg|f/d|h|bjale|cC
hih|g| f|d|c|bla]e
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G2 2 A.C=€ (> A L e i Cuie (2 625 8w (Dy,.)
et hh=e>4CA jJal=c¢ Fun.6d paic € 232 S
Addsm 3 ¥ S il =h G, sohaddhagesSa
58 (s Saa g palie Sy A
Jee 4 dhea | S 3ua aa (@ssosativity) Cuwals saladl
a.c=e
f.f =e
iy Cunald galal) jalic flga sl 5V S J59 s2e0
. b a9 4 Dihedral group 2 <58 (Dy,.)
Jsas AS Y ki Qgi={ e,a,b,c,d,f,g,h} :1.8 Jia
.8 5 804 (cayley table)

a. (d.f)
(a.d).f

oNIoBIONIVNIny (cR N IoNIoN
DO |ITQAlwTKC K
QD ITIO|=wQQQ | T\

O|T|QO|DKQ|TQ|—n—

—|QQ |0 | |0 |(T|T

oQ | Q0 |00 0|
oQ | Q0 (T DD
Q| T|IQ|wT|0 |0 |D
O JQ || |T|O|O

A8a, 6 4 Jast S 53 Qg 2 (identety) syl Cuie e
db=h #g=bd

s LS S li e Qgi={ e,a,b,c,d,f} 1 1.9 Jba
L8 s A4l (cayley table )

elalblc|d| f
elelalb|c|d]| f
alalble|d| f|c
bibjeja| f|c|d
cic| fld|le|b]|a
did{c| fla|e|b
fl fld|ic|bla|e

49



Algebra --------mmmm e il palas

18 Crme A5 R (Y 10
A(2)5 A(4)5 A(2’2)’ D45 Qs, QG
|A(2)|=2 , |A(4)|=|A(2,2)|=4 , |Q6|= 6 ’ |D4|=|Q8| =8
1.4 s
@3 ekl yaiSenem -1 GXG—- G I G={e,ab }(a)
Cem Py S (G, ~)@a§d§aﬁdj;\qdﬁ;

.lejalb
elelalb
ala e
blb|e

codabl wfeen - :GXGo G G={eabc} (b)
PR P Y (G,) > S JaeSa Jsala Jsaa L_.sii‘ﬁ

e b|C
ele C
ala b
blb|e
clclb

Lfd‘uéﬁdtﬁ }.-36}5 L:S}-’J:’))s‘*:’ Qs B Qe, D4 , A(4) , A(2’2) Q ( C)
TSl e € G smaie e a0 S 0 (6,D) 1.5 G
a€EG:aba=a >a=c¢e
(Grraic Cuie 4aa ol Guals B 5 paie 548 (S Sondy n)
Do (s i adayl A3 R b gy g (dae) Ads )R i 1.6 (oAl
O: RxR — R
(ab) — aob=—(a+b)
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GRS S (R O) oy o2 w5 @i
Do )s Sy e (g1 pigeaS 11,10 JUa

£ 9a-( )

Q:={+E, +1 4], +K)
) 5D (50 il Sy sy 3 4y 4

e(g 2) =1 )
'J=(—i ol) ’ 'K=( ol i)
:QxQ— Q
(AB) — AB

»2 (binary operation) 4k 43S ega 0 “ “ a2 IS Jo g 4l 4
ousSae 4aad —A o) A€Q \ {£E} 22 sapaie Cule 4aadE )
s -E Adi pesSan -E )
i S 0@ S0 (Q, . ) S S Braab pal i giladl
4SA 6 4d

LJ=K ,Jl=-K = 1.LJ # J.I
¢ I ga¥h o (caley table ) s (AS o

E-E|l|-I]J |-J]K]|-K
ELEI-ElT |-l ]J[-d] K[-K
-El-E[E|-l |1 |-d]J[|-K K

SAC e s S pn g rea JRIG={0,1,2 U 1.7 (s
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D nabl, 4i8e0e  “.“ 5 Dg={a,b,c,xy,z}:1.8 nsa
258 0 (Dg,.) oS deSidsab dsan aY e il

a b C X y Z
a C b
b X z
c y
X X
y
z a X

5l 45 e (50 s 11,11 Jia
(g D as G )G,
c=(21 o)
Q4+:={E,AB,C}

o QuxQu— Qu
XX)» XY

s I saY o ( caley table) s> (S sl a5 S o Qg
C

O|@|mmim
W Om>>
m|> 0|

C
B
E

A

O|m@|>m|.

. ae G J (algeb-struct) wuysn sl 2 (G,.) 11.5 s
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Ta:G—G
X = a.X

J:6G-G
X = X.a

st a5 4 left-translation 2 ,T J right-translation » 7,
: .2 (algeb-struct) wuym sl 5 (G.) 1.2 Lad
52 Tg M AEG A sagq.ss s 2(G,) &S (1)
w2 bijective
AT, s sy cuald ((associativity ) sl (G,.) S (2)
Ly R 2 (G,) Cose 4. surjective o)W a € G
(1) @

beG > 3! xeG;ax=b [Aed =812 ]

=>1,(x) =b = 1, Ssurjective

X,YE G ;T4(x) = 14(y)
> ax=ay @ Xx=y [ S pn812 2]
= 1, injecetiv
6o ailadh T, o> #5 Sl
(2) s
aceaG
= 3 x€G; Ty,(x) =ax=a [surjective » T, 454]
8.2 A e 1= X paie Cubie g (A S 4aiiddi g X =3 2
eeG >3 yeG;1,(y) =ay=e [surjective » T, 53]
Cisl o .23 ol @3 uSan 9> S 4aiiiadl gy =g 2
68 Gaa a0 T ol e 39S 0 (G) s
Rl amal il Hna saqs S (G x) el
2 bijecktive U gx¥hao )l a € G

f:¢G — G f:G — G
X ax*xXx X axXx
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bijective i 312 (S5t ay (RY,.) o (Z,+) 2 s 4 das
QSJ
f:R*— R* f:Z —>1Z
XI—>§'X X —5+x
:1.12 Jua
O:RxR — R
(ab) — a®b= a+b+3
s 8 n (R,0) s 85csts)s
e (Qlisle) Cuigsa gonll o (R,0 ) o> vaSdulida
‘Cuald galad)
a,b,ce R
(aeb)ec= (at+b+3)ec=a+b+c+6
=a+ boc+3 = ae (boc)
b Gy LB aic Cuie @ A4S [ pais Cule
VaeER;ape=a= a+e+3=a=e=-3
G @ = -3 ypaic Gy i
b ow g a2 s b aS 1 (inverse element) sais (i giaa
aob=-3 >a+b+3=-3=b=-3a-6=-(a+6)
ASA 23 2 sz (a+6)
ao(-a-6)=a-a-6+3=-3=e
S a(R,0) Salia
1.10 O
O:RxR — R
(ab) — a®b= a+b+5
s S e (R,0) cScss
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Juad oy 93
p ) sasad g &
(Group Homomorphism)

mapping s .2 45805 (G',0) 3 (G,D) : 2.1 @y
Group Homomorphism 2o m salsa saVa @: G — G’
S asia (G- Hom)
(a®Db) =¢(@Oe) ( VabeG )
Group Monomorphism 43,5 «s5 injective > G-Hom »
Group Epimorphism «i_5 55 surjective 45« (G-Monom)
Group Isomorphism <55 W 5 bijective 4S 5 (G-Epim)
&8 dis (G-lsom)
s G-HOM 2 @:G — G S 29580 (G,D) 2.2 @l
G-Endo s .s.Sdis (G-Endo ) Group Endomorphism 45
o4 (G-Auto) Group Automorphism 25 #» bijective =
BT
: Jlia
¢ (R, 4)—> [R,+)
X —  2X

S8 A peashl R Cuw solae) (BEs 3 a9 5100 9
x,y € R
px+y) =2(x+y) =2x+2y = ¢ (x) + ¢(y)
= ¢ G-Hom
# G-Epim 5 G-Monom (s . 52 <aiSon j g ol casiSaiyl o o2 45 A
&2 G-lsom s (S asmi 4 6
Pt dp iV 4 g oS
¢ (Z,+)— (Z,+)
X — 2X
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GS Jul 63 Qs S A aeahl 7 Cun salae ) A8 a8 501 5e
s> G-Monom & o .02 G-Hom ) aiSsil ¢

34 Jhaa aSa laS i s G-Epim oy L 00 4 caiSa Hem @ S
S P(x) = —1) 43 oSl X e aUEa sl -1

P cnt dp gV g as

® :(R*,.)ﬁ(R*,.)

X = 2X
24 sk (el o Cuw el s 3) R s e
Ly S
x,y € R

pxy) =2(x.y) =2xy# 2x .2y =¢ (X).¢(y)

24 G-Hom & @ o> 58 Juds
Pt dp iV 4 g oS
) :(R*,.)—> (R ,+)
X —  2X
X,y € ]R*
p(xy)=2(x.y)=2xy A @ (x)+@ly) =2x+2y
= oxy) # @+l
24 G-Hom 5 @ o> 5% pslae
Pt dp iV 4 g oS
¢ (R, +)> R ,+)
X > =X

xy € R
p(xty)=-(x+y)=-x-y = ¢ (x) +@(y) = ¢ G-Hom
DS gV 4 @S

0 :(R*,.) — (R* ,e)

X — X
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X,y € R
pxy)==xy A o0& .0y = (x).(y)=xy
= oxy) # X .0y)

4 G-Hom » @ S4aafiia
> s 58 Y S Qe asee 4121 Qi

22 G-lsom sV he )l a€R 22 (a)

0 :(R,+)—>(R,+)
X +—  ax
s G-Monom s el ga¥ he ) meZ » 2 (b)

¢ (Z,+)— (Z,+)
X +—  mXx

s> G-lsom s Exponentialfunction gy 1 :Jba
exp (R ,+)— (R:,. )

X +— e

G-Hom
X,YE R, exp(x+y) = e =¢e". e’ =exp(x) . exp(y)
(0 cailah exp A Jie 0.4 214 LAl

3 e € Gy malis Gt 2458050 (Gy, ©) 5 (G, D) 12,1408
(65S Ba g sV Lo .55 G —Hom » ¢: G, - G, 4S .s2 e, € G,

(1) p(e)) = e;
(2) o(a™) = (@)™

Coe 36 X O X=X S @S 04 o naise (1) @l

p(e;) = pe; D ey) = p(e))Op(e) [ G-Hom @]
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G S 5> o myises) (62 Gy 2 aic Cule @(e) o>
sy @p(e)) = e, Wowm . A ne)le
:dj.;ggqj\ﬁ‘\,;&}ﬁlﬁj\
e2 O @(e) =p(e) = ple; Dey) = p(e))O ple)
> ple)=er | el paif2 5]
G2 e = o) e (1) 42 (2) @5

ae€ G,
e;=¢le))=¢p@®at) =p@)opla™)

. (69 (p(a) Jw}izaa (p(a_l) GAJB\MM&J‘U

p(a™) = (p(a)) ~toy
(S a3 ) 30 5a8) Homomorphism composition ;2.2 4u?

@G — G 8. g 455860 (6,0)5 (61,0) « (G,D)
2 G-Hom ~2 @ ,00: G — G, W .scsG-Homes ¢,:G; — G,
ab € G: sl
9100(a @ b) = p,0(p(@)O@((h)) [ G-Hom » ¢ 4]
= @109(a) © p109(b) [ G-Hom 5 ¢, ]
2 G-Hom s @ 00 S a4
2 EG 3 e€EG >4ns S (G,0) (G,D) 2.3 @
Ad @ 248 Quw gV Lo G-Hom & ¢: G — G5/ ralie Cuic
i Ker@ 44z i) .58 Qi (kernel )
Ker ¢ :=={a € G |p(a) = e}
Im( ) ={p(@)| a€G} <G
@2 (e b Ui@) Image @ 2 Im( @) 4
Cuied e EGy 3 € €EG >4 K8 (G, 0) 5 (G,D) 2.3 dpd
. G-Hom s :G — G; 5 rale
@ injective < Kerp = {e}
S8 Kerg = {e} > 5 Dslial "o il

D Qosa s Kerg # {e} &S
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Kerp #{e}>3a€G;a e AN p(a) =¢
p(e) = e; Ll gl 2.1 3155 LAl

p(a) = e = ¢p(e)
>a=e [ injective = @43 ]
= Kerp = {e}
S5 @(a) = b)) xS U=p yiseo )l g, b EG " & " 1gd

p@®b™) = p(@)Op(™)
= fp(a)@((p(b))_1 [l 43 uzmd 2.1 2]
=o(B)O(p)) P =e; [ ol an ]
=>a@b ' eKerg
=>a@®b'=e [ Kerp={e} 4]
>a@b'®b=e@b=b =>a=bh
= ¢ Iinjective
03 G-Aut o5 @S a1 2.1 Jlia
@: (Cr-l_) — ((C,+)
z=(@x+iy)— z= (x—1iy)

Ja
: G-Hom ¢
z=x+1iy ,z1=x1tiy; EC
p(z+2z) =p(x+iy+x +iy)) = e(x +x + (¥ + 1))
=+x - @+ydi=+x —iy—iy)
=x—iy+x,—iy1=2z2+7z = ¢9(2)+ ¢(z1)
injective @

z=x+1y ,z; =x,+iy; €C
Z2=21 >~ 0uabsse(z) =0(z)) oS
¢(2) = p(x +iy) = o(z) = @(x; + iy1)
=> Z=X—dy=Xi—iy1=Z; = X=X; A —y=—ly;
=>X=X1 A iy= iy 2z=x+iy=x1+iy1=2;
= @ injective
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: surjective ¢
s Zy 26 X-ly 26sle 7y gisee ) x iy EC 2
555
p(z1) =p(x-iy)=x+iy=z
¢ G-AUt 52 o .2 @iSan I G-Hom s @ (o> 494
3 (€, 1) 2 »aie Cuie jia 4l injective = @ 452, ker ¢ = {0}

Podgd cypai il @y 8 (AZD Q) eV 2.2 Jhe
@: (A%D,0) — (43P ,0)
a — a@®a

B 03dl a3 o, Vi, ye (AP2)) 3 a5 Josis 2l - G-Hom
DS
P xO y)=9px)O ¢()
ol Ve (A2 jas 5l paie Cuie A2 5 by a5 sse
xOx=Db1
z=x ®y € (A®?
p(xO© y) = p(z)=20z=b:
Pp(x)=xQx=b1 A p(y) = yO y=b:
= ¢(x) O@(y) =bi® bi=b:
= 9xO y)=bi=9¢(x) O¢(y) = ¢ G-Hom
2@ og. e (ABD ) 5aal (AL YA ali ng 2 aSA
<> G-Endom
> S asiab s (x) = e(y) <. x,ye A2 :Injective

LY Yy =X
x,y€ (A%D) ; p(x) = () =>x =y
@(b3) = b3Obs = b; = b,Ob, = @(b,)

.24 injective s @ ow . s2 by # by S
3sase xe AP sod yeA@D a oy A 5@l Al iSurjective
LemL S o) =Y e

vy € (A@?), 3xe A% ;p(x) =y
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> g Aaamyxe (APY) paic nias by € AP 240 A
G-Autom 5 @ S4aafiias g4 surjective o . @(x) = by
s Ker @ s)lse oss) L s240 a8
Ker @ = {a € A®? | ¢(a) = b}

fede 4l Jsaa

Va€A®? ; p(a)=a®@a=b;= Kerp=A4%?
1.9 4.0 @58 545 Gl G={1,-1) o s s 12,3 JUia
Gsh i da eV 4 @ .2 S ned (Qg, ) o> duls 5o (S Jbe

8

¢: (Qs,-) — (G, )

pE@=p@=¢b)=1 Ap@=0d=0{=-1
deadied .o G-Hom s @ (2sb Yo Sl 4
@(d*) = @) =1=(-1).(-1) = ¢(d). ¢(f)

ov.ed ()1 S Goaue 248 A 1 kerd
kerg = {x € Qg [9() = 1} = {eab}

1 2.4 Jha

G={AeM@x2R)|A=(} 7). xt #0)

GG S A pa wSyk kG (a)
23 G-Hom &5 ¥ 1y (b))

¢:(6,.) —[R,.)

a=(p 1)

(a)<«ss
WAL g Ao eonl (G,

1= 2)m=( Y

61



Algebra --------mmmm e il palas

A.B=(g }t])'(a b)z(xa xb+yC)

0 c 0 tc
I L
xt #0 Aac #0 =x#0,t#0,a#0,c#0
= xatc#0 = ABEG
48y Hla aly 4y

xt #0 Aac #0
= det(A)#= 0 A det(B)#0
= det(A.B) =xa.tc=xtac# 0 = ABeG
@2 el (S G 4l 62 (identity) cute (S0 5l By 2 1 wale cule
S8 (a4 (associativity ) cuwald sl
1 Cudgage (inverse) gugiaa
x Yy
A=(5 7)€G = xt#0=x%0,t+0

0 1)

<
(

\_/ N— o~

& RIS

amkalll A

N———

S AL AT =E ) AT €G o shVass Sl 4

e Gha sl sl
xt# 0 = det(A) # 0 = Ainvertible

(b)css
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4= 2)m=(§ Deo

eaB) =9 (g ™ 1Y) = (ra)(to) = (x0).(ac)

= @(4).9(B)
tow st ()1 SR, )4 cuie (>R T kerg

kero ={A€G |o(A) =1} ={A €G |A=(’(§ {),xt=1}

“recia= (3 )=

s dlien, 62 e @A X 4548 | 5 o jlal X anidd

2 Y\ (72 Yy
o 2 2o
2 2

A CaiSall p Al 82330 rkerp # {1} > aA

Jse 4 Jhaa
1=(p 3)-8=( 1)

Gl sl e B ol A Sw 2 @(A) =2 = @(B)
(S ssbat 5,585 (W, R) 5 (V,R) 2.5 Jba

L:V—>W Ilin-Map = L:(V,+) — (W,+) G-Hom
2 Ag 5 S Ll (W +) 5 (V,+) A dd iy pai o Ll (5585 1da
XYEV = L(x+y)=L(X)+L(y) [ @bt S L SS]
= LG-Hom
2.1 (oAl
(a)
z =a+ib — |z| =+a2 + b?

s> G-Hom s Ul
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p:(C".) —[R",.)
z=a+ibw— |Z|=,/az+b2
s Sl kerg s 2 G-HomM & @ o> sS Qs
e € G mralc Cuie a2 3058(G,0) 5 (G,D) 2.4 4pd

s G_Hom » ¢:G — G, << .52 e, € Gy
LR e (Kere,®) (1)

e e (9(6),0 ) (2)

(1)
a,b € Kerg
= ¢p(@®b) = p(a)O¢(b)
=e;0e; [ a s'baKerp salic g2 45a]
[ g2 ale Kerpab s a <5a ]
=e, >a@dbe Kerg
) (algeb-struct) © s gl (Kerg , @ ) >55 Juls
Gubi s 24 Kerg » @ 5 Kerg C G > 45 A 1Cuad galad)
L uals sl s Kerg om S
DS Cule
e€EG= @(e) = e = e € Kerg

DR g S D
a€ Kerp© G = ¢(a) =¢

= (p(@) "=e,
= pla)=¢ [ = 2.1 Lhi]
= a ! € Kerg
2585 (9(6),0 ) > 8 Csis) e 1(2) wsd
a;,b; € o(G) = Ja,b € G;p(a) =a, A ¢(b) = b,
= a,0b; = ¢(@a®b) = p(a)Op(b)
= a,0b; € ¢(G)
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Lo okiale gonlla (@(6), ©) s sl
rCald galalf
ai, by, c; € (G)
da,b,c € G; p(a)=a, N (b)) =b; A @(c) = ¢

a1®(b1®c1) = (p(a)G)((p(b)G)(p(c))
= (¢(@)0p(b))0p(c)
= (a;0b;)O¢,
D Cuig e Cuie
p(e) =e; = e € p(G)
1A 9 90 (e gSa
a, Ep(G) >3Ja€Gp(a)=a; ANJateEGa®al=e
= @(@)O¢p@a) =p@@da™) =gple) =¢
=a;.9(@™) =¢
a2 g(al) (Saadia
T g 4ias £ (G, O©) 5 (G, O) < (G, D) 2.5 apad
pisa @2l .ssG-lsom & @:G — G; 45 (1)
s2G-lsomar 911G, > G
syl s G lsom ¢:G; — G, 5 0:G— G4 (2)
&2 G-lsom = @00:G — G, <S5
ad o sSae i (Bijective) aiSauls (5 00 (o2 5.0 5393 50 3(1) s
2@l SOt S QS L s (Bijective) —uiSaul
s> G-Hom
al, b1 € Gl
= 3da,b € G;p(a) =a, Ap(b) =b; [ ¢ surjective ]

= ¢(@a®b) = p(@Op() =a,0b; [ ¢ G-Hom ]
> 971 (a,0b) = ¢~ (p(a® b)) = ¢ op(a B b)
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=id(a@b)=a®b

p(a) =a; A @(b) =b

=9 (a)=anet(b)=b
NS
¢ 1 (a,0by) = o7 (a) B ¢~ (by)
32 G-lsom 5 @7 (asd @

5 P10 o> (o5 S (558 QS Gl 4y (e 2.2 0 1(2)sd
.2 ( bijective ) —aiSail
: Injective
a,b € G, pr09(a) = @,09(b)
= @(a) =) [ injective ¢@; s ]
>a=b [ injective ¢@4as ]

.g2injective » @00 > 4 Qs
: Surjective
g2 € G, > 39, € G1,0,1(g1) = g2 N I E G 0(g) = g1

= ¢1(0(9) = 91(g1) = g,
= @,0¢ surjective
s surjective , injective 438 g2 & sai¥a g 258 12,2 (g4l
$2 4 S 5l 2 G-Hom

(a) f:(Z,+)—(Z,+)

zZ — 2z
(b) f:(Z,+)—(Z,+)
z — z+1
(c)f:(Z,+)—> (R ,.)
X — X2+1

(d) f:(Z,+)—(R ,.)
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e)f:(R ,)—=(R ,)
X — X

A€ G .uiraic Cuie 4ard e Sl S0 (G,.) 123 e

L,: G —= G
X — a.x.al

sSwker (Ly) o 63 G-AUt 5 Ly wa S sl
52 i e 4ka e g s K g (Gyo) 1 2. 4 el

f:G—>G
ar— doed

(commutative ) 258 Lwin G o> ¢S @5 G-Hom s f 4
8
s R o (Qp.) @dds 0 ST 114 2.5 e

f: (A% 6)—(Qs.)
by — E , b, —m A
b; — B , b, — C
22 G-Hom s &b Sos L)

o G-isom 2 ¢: (G,) — (Gy,") :2.6 s
(a) G Commutative & G; Commutative

(b) |G| = [G4]
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Juad oy 0
(Subgroup) s s 8
HCSG Jsraes8 2 (6,0) 3.1 G

o2 @ b LA H (s 4S 65 (Subgroup) s S =843 H
SR8 w(H,B) & s Qg 8 4 il 28
s JUia

G paie Qie @ (e S Gaany S e ioyn{e} G (a)
4 P aaahi Qs S e f w7 (b)

(48 47 ekl Rogs S e 8 0Q (C)

)

"aaki CFas S e R R s Sef0Q (d

e AW gy S e He{aga) (e)
. HC G2 paie Cuie o € >S5 X 2 (GD) 3. 14pd
3\

(1)a,beH,a®b€eH
(2) ee H F O R (H@)
(3)aeH=>aleH

J

-

WSS ra(1) by SG vl pn H 2 hi!"eag
on sy H 2 i Cuie & 48 184 (2)
EEH=>E€EG N é@é=¢

ou.é=e .G 2 paie Cuie @ )l Ol D g 4aa o
s> ee H
1&g (3)

e,a€H =>3beH;adb=e [ S 2812 ]
Gs (b=a'! Gm)adossameabb oy . oS 2GS A
b=a1€H:Swamay
S o5 @ 2 45 (1) Dhi o) s A Cun H 5 45 (2) ki 1" o "
ol paic jaag)l e Cuw H 243 (3) 5l (2) ki L @S Bua pa adal
2P S oo B A @D by g S
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W HCG 5 yaic Cuic e € G« w58 5 (G,D) :3.2 4pd

(1) H# 0

(2)Va,b € H,a®b t €H

LI

e s oal Ao S e B anrmaly " e gl
e€EH = H+0

VYabeH Ib'eH N a®b ' €H

LI

, (1) a8 28 0 H o (5Ol Aedl il 31 00" o "
. ) 4aalia (8) 4 (2)
H# ¢>3a€eH>e=abaleH> (2)

a,e€EH=>e®aleH=ze®al=a'teHd=>(3)
a,beEH=a®db 'eH [ 4 (2) L& ]

@b EH by S Bra 2m83.12(3) 2 dsddasus e
=>a®d(b ) leH [ ©(2) & ]

> a®Ob ) = adbeH= (1)

H:={by, by} 2{bs} 5 AP? Lyede S8 (ARD) ) 4 b
SH4 by raic e S& 63 S AP w0y S e B g Cun
LSS byo by=by ) el
H:={e,a,b,C} ¢ {eab} 2 {e} 3 D4 X s 5ole é ‘#})s A (D4,.) Q. dl:u
.$- D4"‘7}4—.’}:’J)S s‘;)sﬁ'“‘*-’}‘-‘“
3(2),(1) =831 20¢us D, 2058 =8 02 Hi={e,a,b,c} S
st (3)
e € H= (2)
:&A‘dd_ﬁdé D42
aa=b€eH ,ab=c€H,a.c=e€H,b=e€H,
cc=beH =(1)
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bds mSacbadgra S crslc QS g A
23D, 25 8 = hnH={e,a,b,c} S aaiia 8 3rvaa (3) ou
$3 S Dy a8 oo A ARR gl Y 3 pa ST Gnpad

H; ={b,f,h} ,H.={e ,b,d,g},Hs={e,f}, Hs={eb,c},

Hs= {e,a}

Cue Hi={e,a,d,f} 2 {6} 5 Qg nosde S8 (Qg , )41 Jda
o) (8S Buadnad 312 (2 )5 (1) S8 .25 8 o A4y
Gl SH4 VX EH dpsSan o gl

df=e= d'=f A f! =d= d",f' eH
aa=e = a=a' = a'eH
L6 Qg wesfee A nH={e,a,df} Sty
e R 2 (Q,) > Jdul e Sdie41.92:3.A Jba
M'ddé (Q ’ )473&71})3(59-)5373‘_‘“ Q1:= {E,'E,I,'I} 2 (1)
Seddsn ASy @ EF e Q) ) Q2 oaic Cule £ gpb gyise
(-E).-E) =E, (-E).l=-1, (-E).(-]) =1,
Ll=-E, lL(-D=E, (-I).(-])=-E
o B G g [ pesSan =] ) = paSan | 2 —E Al s San -E 2
VABeEQ; =ABeQ; A AleQq

L6 Qaos R e pn QA ol i1 2 (S a4
Cuie ol 39580 (GL(2, R),.) o>y » SdE164 (2)
(82 E2=(1 0

0 1
N:={A€ (GL(2,R),.) |detA=1}
H:={A € (GL(2,R),.)| A diagonal (%)}

M:={A€eGL2, R) | A=((1) Cll) }

) OS2 fe a5 (o paic

2 GL(2,R) 24iss S e iH M N
})SDJM\J\ASMS‘I Jc‘)\;ﬂd; :da
A, B EN = detA=detB=1
det(A.B) =detA.det(B)=1.1=1= A.B €N
det(Ez) =1 = E:2€N
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A=(Ccl Z) EN = detA=ad-bc=1

A= deltA | (—dc _ab) - % (—dc _ab) - (—dc _ab)
det(Al)=ad-bc=1= A1€eN

2GLE2, R) 28 e AN S aniiq
Az(a 0),B _ (c O) cH

0 b 0 d
48=(5 )G @)=(F p)en =y 7)en
detA =ab #0 [A€ (GL(2,R),.) 45& ]
= a#0 A b+0
1
- 0
vt 9=2.6 9= V)
b
2 GL(2, R) 2058 = 8 npd H (o 58 D
ei<(} en
n=lo 9=l o
o=(5 9.0 D)= (3 “1%) e
detA=1+#0

Vgl Dl TG e
GAGL2, R) 2 S b o M o s s

13.1 A
528 8 (Dy 1) 4 st3.8 oo A48 e 5238 05 ()
Hi={bfh}, H2={e,agh}, Hi={e,f},
Hs = {e,b,c}, Hs= {e,a}
5265 5 ( Qg 1) 4 3238 o 5k o 5o S (D)

Hi={cfh} , H:={e,agh}, H3={e, f},

Hs = {e,b,c}, Hs={e,a}
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$2 S (Q,) 4 aiss S e A4 s sxVanaS(C)

H,={E,-E},H,={E ,ILK },H;={E,-K}, Hy={E,-E,I,-1},
Hs= {E,K}
rJba
Hi={a€Z| -6<a<6} (a)
546=11¢H 458, Laghs (Z 4) 2058 = A H

R,:={x€R|x>0} (b)

Sl 290" e aSa 24 (R ,+) 2 (subgroup) s S = AR,

i dald SRy 4 Jia Se o3 R 2 paie Cubie 45 % 2ea

1 3.2 (A
(a)
M: = {4 € M(2x2,R) }

N:={aeM@2,R)|4=(% 7))

N o 6.8 €1sh5 ) St asm (M) cep dodon o5 J 1.1
(B F3S (S A 5 43a0

wosfepn Rii=(x€ER|x>0} xS (b)
S (R

Sshie, €EGy e €G > 4555 (G, 0) ¢ (G,D) :3.34pzd
Sy Sed HH S Gy o) HSG 4S . g2 palic Cuie
.65 G-Hom & ¢:G — G,
. -1
$3Gaqs e pAng (Hp) (

a)
& GiagusSee A o(H) (b)
ragd(a)

pe) = e [ e ad 210 ]
-1 -1

= gel (e;))=e=>e€eq@ (H))

>¢ (H)#¢

-1 » . . -
oW a, b €@ (Hp) A2 s SOl oS Al Aeal wxi32 o
-1
LS Ns3xa a®b Tl €@ (H)) <Kl al
—1
a,b €@ (H)=¢a)e)€EH
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= @(a®b™!) = p(a)Op((b™!) = p(a)Op(b)~! € H;
Sa®b e (H)
63G S S sing  (Hy) o
«aisé (b)

p(e) =e; € p(H) = @(H) # ¢
a;, by € p(H)=>3abeH; p(a)=a, N o(b) =b,

= @(a®b™) = p(a)Op(b™1)
= p(@)Op(b)™! =a,0b; "' € p(H)

GG rg S e f w (H) St
2U ey sab as & AP )y & e b H={ag,as} € AW L 1l

f:H— A®
XH[e 'if X = qy
a if x=a,

S .62 G-lsom s f
f(ap®ay) = f(ag) = e =e®e = f(ay)Of (ag)
f(ag®a,) = f(ay) = a=e@a = f(ay)Of (az)
f(az®a,) = f(ag) = e = a®a = f(az)Of (az)

»f S s bijective Sl s f (o S Jad 455 )laea
2 G-lsom
@ (generator) dse 5 alic slsis a5 K (G,) 21 3.2 iyl
S a5t 4o (Cyclic group) Qs S s 3 (s maic s 4z 3 5 n
LA YAl gopalic o G B aAE G 2 AS S
N

VbeG,JiEeN;aa...a ( -i)=al=b
o (a) =G 4l 5258 G2 (generator) A a4s
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s R (Z,+H) on. e Z={n1n €L} >4 Jla
(1)=(Z,+) &=
Jse 4 Jhad

51=14+14+14+1+1 = 5, -5=-5.1=-(1+14+1+1+1)
Z={n(—Dnez}ss. (-1)=(Z +) &)1
Js9 4 Jha 2

3=-G@B.(-1)=-(-1-1-1) , -3=3.(-1) =(-1-1-1)

A s S G (AW, @) :Jlia

(a1> = (A(4)1 @)
ail=ai1, ai?=aiPai=az,
a3 = a1 aiPai = azP a1 = az,

a14 = a®aPa;®Pa; = a3 D a;= a
s < az >= (A%, @) 45l
2 (cyclic group) GsoS s s 4 AP
ASA (g2 Ay S Sl s ARP) K
VbeARD ; p2 =p, =< b>={b b}

e dbens hglhaS e {b, by} 2k paic ha
< by >={b,, b}
AB2) s (generator) dse > @ 4 355 pmaic f S AP 4y
(S PeS
4 APD 23054 die s 558 323 Asao peaie 050 b SIS T G
<b,, by >=A2) S8
by =by, O by A by =by O bs

L2 AP 3 Nsachy, by > ) <bg, by > 45l

ves <a>=G 2 (G,.) P38 (e n sE Y S Yise 1o
PS5l G 2 4y (53 paie Cuie 43a

Cune 483 € 3l <@> =G = (G,.) 298 Fs e s pise 1Jba
T JSG L;.\.':‘}! 4 2 yuac
G={aa%a3a*a% at=e}
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4SS a8 e p oG oH={a%a%at=e}

az.a2=2a%*,32.at=a=e,
a*t.a*=ad=a2 a®=a% e=2a?
:3.3 (sl
(505 1 Aiys S o b o pealic ey G e Siysp (a)

(b)
H:={e,a,b,c} , W:={e,b,fh} € D4
ReS AU Sesa 3Dy 240 S e AW 5l H (> 58 509
AR L._;.'a\)}a s
:3.4 (oAl
Cuie 4820 o) <a> =G > (G,.) 238 S e mgisa (1)
L8 1 2 (subgroup) 4 S e 50l JSE 3T 4y (53 paie

G=1{a a%a3..,a%al0 all =e} (a)
G=1{a, a%a3..,a%al5alt=e} (b)
H = {2" | neZ } (2)
G (Q7 ) s 8= AS 0 0 Ha s SOss
2 (commutative) L (cyclic group) <8 s ceee 2 (3)

g p B b f1 X 5 X 2w X # 0 3.3
X sise . s bijective » f g 4S ¢ .S by (Permutation)
itz s 0w S(X) 4 43 sdiise I3

SX)={f:X— X|f bijective}

TP 4_:.64.1.})4).1 Lﬁ&‘ﬂc}d@)\ﬁgdﬂ_} X={1,2}J£d&

forX — X fi: X —>X
1—1 1— 2
2— 2 2— 1

2.5 palic 4xh 2 Al a1k G g1 el (Permutation) oesi se s 2

AX AS O pa agee 4y sl el sy X={a,b,c) 2 s 4 Jhe

= .2 (factorial ) n! swed (i se jy 24283 Lo ¢ (55 N el 5 palic
|IX] =n = |S(X)| =n! (nl=123...n)
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S Sl GRIS(X) W s aX # @ 48 :3.4 Al
. @9 8 4 "map-composition”
P
: (binary operation) 4dkail, (A8 094
203 Gubai o Bl §(X) g adail gV Iy a 25 Sl Al
o: S(X) X S(X) — S(X)

(f,g) r— fog

Cafifadly s S i (s 3l ¢ o aiSanl alio 0 AS ASA 0 pual 5 o
(89
ASA (52 paie Cuie o &l id 2 (identity) seis Cuie
(idof)(x) =ido (f(x)) =f(x)>idof=f
(63 ol g Ae s jia i s 1y (@associative) cuald gl
:(inverse element) saic (ussaa
f €S(X) = f bijective

= f~! bijective = f~!eSX)

(ftef))=x=id(x)=>f"of=id
¢k a5 4 permutation Group o S(X)
131 ¢
SIS Y 4feSX) »see)d X ={1,23,...,n}2(a)

1 2 3 n
f =
(f(l) £(2) £(3) - f(n))
X={1,2,3} Jso 4y dbiea saaiglas ) |X] > 2205885(X) (b)
1 2 3 (1 2 3
A= me 63)=G 3 1)

1 2 3
=t 6o 63)=G 1 3)

fiecfa(= fi2)=3 ,fif(2) = f1(1) =2
fief23)= fi3) =1

foh=(3 3 100G 139G 2 1)
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fofi=(3 130G 3 D=0 3 3)
&3 fr0f1 # f10f; > ¢S N

Sposs Sy 458 S(X) 2wy X={1,23,......... n} 4S:qsl
. g5 diy (Ssymmetric group) = (degree) 4x 2 n 4

e badia g nb > ol g a,be Z 3.4 iyl
b=2a.cC > ¢s5352%CE Z 2 ngonSs(advidedb )
_Qsjgdq};ayam a4l b
silnbdly b#0 sabe z (division algorithm) : 3.5 4ud
(Gl ge o puspalsh Yy QE Z s TE Z &

a=q.b+r 0<r<|b|

9 4 (the remainder) sxladlh 2 1 ) (the quotient) awsi Jala 2 q
TR

Seba Hi={a-bg|g€ z;a—bqg=>0} yise o dsdiargd
T30S Qs 5 )l 5& 5l gus

H+0 (a)

LA Sl gilla Y s salas Wl b2 sigd

b ssSese qS% Alls o4y 1bh>0 alla gl

qs% > gb<a= a-qb>0
oS q 20 Alagia b0 cllapy
qZ% = qb<a= a-qb=0

sax8a-g.bEH 2 shlmqgae 5 S sl g4 o dsd dalds
oo A S H 4Qpaie JaSdgn g dH #0 oo

reH = 3Jq€ zZ;r=a-b.qg A r=0 = a=b.g+r
r<|b| (b)
r>b wcise goqg. 6y r> bl Wby s r<|b| S
L6sb <0 by b>0wbhoweab #0044 R S
:b>0

b>0 A r=b =>r-b=0 A r-b<r
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a=b.q+r > a-bg=r 2a-bg-b=r-b
= a-b(q+1)=r-b=>0
= r-b €H
: b<O0
b<0 Ar=2b=r+b>0 Ar+b <r
a=bqg+r > a-bg=r > a-bg+b=r+b
= a-b(q-1)=r+b=0
=>r+beH
dsase F+ b Sr—b ool JaSr i sddady (S sl gyl ay
s S Ha paic S Slg i1 o bl o 4rad b Ka (62
G r<|b| Ndom. s
LB se o puspal A B3 1 s Q )b o (o Qe Al Gl
G gl oAl lhar 1y gl g e aS
gb+r=a=qub+ri = qgb-qu.b=r -
=>b@-—q)=1r—mn
= |bllqg— q:| = |r—mnl
egsa g = qp S
q # ¢¢ = lq— q:11 =21 = | —r| =D
Al g s d QBT 7y 1 <|b| (203 (S Al Aoy azanly
LT =18 q = qq
s JUia
a=55,b=24 = 55=224+7
q=2,r=7 «b
a=-55,b=24 = -55=(-3).24+ 17
q=-3,r=17 «b

a=-55,b=-24 = -55=3.(-24) + 17
q=3,r=17 «b
: 3.2 L
<A (Z,+)22 mZ:={mz|zeZ} 2o)4d VmeN2 (a)
LY @S
(S5 S oo 8 g atly ablsl 15 S e (b))
(e el A Sl Al L m832 aragd (a)
(1)ymz=+0
(2)VYabemZ,a — bemZ
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m=0 : A sl
& (Z,+) 2582 A8 s {0} ¢oSmMZ = {0} Qosa sy

m= 0 ; Glls a0
0cZ >m.0=0emZ >mZ+9 = (1)

abemZ = 3a,,b, €Z;a=ma; N b=mb
=>a—b= ma;, —mb; =m(a, —by)
>a—b emZ [al—bleZ ¢5~>] = (2)

ris Jgd
23 G-HOmM 5 &8 ¥ b el 4 s 2.1 2
. (Z,+) — (Z,+)

Z — Mz
&Y (Z,4) 258 = Anf(Z)=mMZ S5 =833
3 sy paic Cuie @0 (G L) @8 » yisnaSaed (b)
[:={12,...n} gs+nsSe=r H (i€l )
i Ho4g adal (g gaan

H :=ﬂi61 Hi

S GuosSeed aH oS Qs 5 )

ee H; (Viel) > e€H
abeH = abe H; (Viel)

= abe H (Viel) [<wsS =p H 3]
= a.be H
aeH =>aeH, (Viel) =>a'eH (Viel)
= a'eH
G SG v S e p el 831 H ( Saaiiy

=P 5 57 ={52|2€5Z } > s e Ll 3.2 1JGa
SR G el pal 2330 5 )8 sl 62 (S (Z,+) s S
51€e5Z = 5Z+ 0
abe5Z = 3 a,,by€Z;a=5a; N b=5b
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—a—b=5a, —5b, =5(a; —b)
=>a—b €5Z [s2a, —beZ SA]
S S L4 es S = AST Sy
Wag S e d 6Z 117 > S Qs bl 4 082 303:3.5 Gl
@S (Z,+) %

ab NS H=nZ > S(Z,+) ©H @s8 o » 3.6 4uad
L6 S Hag e panha Ja S 65 L) jha g dbue NeN
1 gl
H={0} : s
H={0} >n=0A H=1{0.alacZ}=0.Z
H = {0} s a0
_ngdamé@.e“\mwbw‘@ Z x5 8 2 A aH o4
S H e b s K 606 5NN 2yl i
meH = meZ
= dq,reZ;m=nqg+r 0<r <n [division algorithm ]
=> r=m-nqeH [ mneH s ]
cesr=03bon e S Hyoe b Ga S dayin >a0A
>m=nqeH > H =nz
a; € z > (commen divisor) s« S jils CE zZ 2= 1 3.5 iyl
2Bl ¢ g Je by el gl (i=1,....,n)

(2 (S ppadl

cla; (i=1,2,.... ;)
“S)-‘*L“ d, d1,d2 ...... ,dk S dq,do ...... ,an€ Z 3.6 ‘-a,-.l)*:‘
di|d s ws(i=1,2,...n) a,€ z 2 (commen divisor) a8
2 el gq,as ... ... anadl . ¢ Sy 8xa(i=1,2,........ K)
S epbasay (sl Sk g4l J6 55 ) greatest commen divisor
a0 d=ged (ag,az ... ,an) 43 4

: (Euclidean Algorithm) 3.7 4ud
aj,a, €z, 0 ANa,=>1

Az ,A4y.e.nn... € z 43X Jlaiul Division Algorithm o)) g3 (a4l 2
. gdgé\)ﬁw‘}] b)&)m\}'at..;..\iy J alac |
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ai=qiaztas qi€ z,0<az< az
a; = Qpast+ay 0€ Z,0 < az<a3
| G
an4= On4ans+ana Un-4€ Z , 0<a,,<a,3
an3= On3an2+ani1 On3€ Z , 0<a,i<a,,
an-2 = qn-Z an-l +an Qn-ze Z ’ 0San<an-1
An1=(n1dnt Ann On1 € Z, 0= dn+1

Sy 9 GV S J g0 e 4
ai = qj djy1 T Ajy2, 91 € 2,0 < qiy2 < Qi )
162 25 9a oy geal A g2V N ;A (g) g Anal
dn€eN,a, #0 A a,,1 =0 A a, =gcd (a;,a;)
D g
ay sazs> o = dAn€eN;a,#0A a,;1=0

an-1= (n-1an + an+1=(n-1an + 0 = an | dn-1
an-2 = (Qn-2an-1+ an A an | (n-2 dn-1 [an | an-1 S ]

A\ an |an
= an | dn-2
DSy o $h Y S o AL el W g gl ygaS Jg9 laea
dn | an-1 = anlan-Z = A = an |az N anlal
L8 9 Ay Y pnlB S yide g, (S a4
s Ay sl ag el S paat aS
t|ajaz

d;=(a,+ a3 = az=a;-(i1a;
=t | a3 [tlaz At]aiasa]

:L.si\‘)‘uu.uyb)iyuchSJ}M\J\&J\mé\S
tlajaz =>t|laz =..... = t|an1=>t|an
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puld S il g8l d Ay o amld BB Ty An o g Al ga Al
a, =gcd (ay, @) = .srag,ay
¢4 4 Euclidean algorithm 2 @, a8 S e @, ,a¢ 2 o> s+ o)
S Bua Ailae g3 & 5 Sl dlel 1 SE 7 #b ¥ S ¢ S oy
an =rai+ saz
958 edldin) 43X abaa (k) 26l (g0
an-2 =(n2.an-1+an = an= an-2 - Qn-2.an-1
Dla Gl
an3 =(n-3.an2+ an1 = an1 = an-3-(n-3.3an2
Sy el 4283 LA any 2 o)
dn = dn-2 - (n-2.dn-1 = dn-2 - (n-2 (an-3 -(n-3. an-Z)
an-4= (Qn-4.an3+ an2 = an2 = aAn-4- Qn-4.an-3
Sy Qe 4383 glA  Qpp 2 o)
dn = dn-2 - (n-2 (an-3 -(n-3 an-Z)
= (an-4 - (n-4. an—3) - (n-2 (an-3 -(n-3 (an-4 - (n-4. an-3))
b ay o ag bl (S Adlae Ths 4 S5l Jae e 4548
UYL Ne § Ay pa azj\m: r 2w y»a gy 3@259_:\5
dn = dn-2 - (n-2 (an-3 -(n-3. an-Z)
= (an-4 - (n-4. an—3) - (n-2 (an-3 -(n-3 (an-4 - (n-4. an—3))
= e =rai + saz
L;JSJ é..\md\.hg\)g;.il‘)! @jé\qﬁ daclg sl r a5y e 3_1dlfu
gcd( 9692,360)=r.9692 + 5.360

:Ja
9692 =26.360+332 4=28-1.24
360=1.332+28 =28-1(332-11.28)
332=11.28+24 =12.28-1.332
28=1.24+14 =12.(360-1.332)-1.332
24=6.4+0 =12.360—-13.332

=12.360-13.(9692-26.360)
=12.360 + 13.26(360) - 13.9692
=350.360-13.9692

feS Ayl 4

r=-13,s=350
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ged (9692 ,360)=4=(-13).96 96 + 350 .360
68 Guadh ;) ca¥ o s Sl rse z s 1Jba

gcd(-65,25) =r.(-65) +s25

Ja
-65=-3.25+10 5=25-2.10
25=2.10+5 =25-2(-65 +3.25)
10=25+0 =25+ (-2).(-65) - 6.25

= (-2).(-65) +(-5).25
r=-2,s=-5, gcd(-65,25) =5 =-2.(-65) +-5.25

oSl (SshbegaV a4y rs €z :3.6 Gial

(a) gcd(150,40) =1.150 + s.40
(b) gcd(170,30) =1.170 +s.30
) gcd(2615,315) =r.2615 + s.315
(d) gcd(-60,36)=r.(-60)+s.36

Syiba sl s N s slg el g, b, c EZ g e AS @l
ey Jge a4 (ged) el

ged(a, b, c) = ged(ged(a, b), c) = ged (a, ged(b, ¢))

4 (ged) amld S jisa s 5l 5 5 s oma an Ly eyl dae) ek i) as
(S Y J3 g
. 5251w gcd(30,66,93) sl :3.2 Jua

Gcd(30, 66, 93) =gcd(gcd(30,66),93)
66= 2.30 +6
30=5.640
9cd(30,66)=6 > oy

93= 15.6 +3
6= 2.3+0

‘ow . ged(6,93) = 3 o> S d
Gcd(30,66,93) =gcd(gcd(30,66),93)
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= gcd(6,93)=3

. 5.8 ged(36,60,150) 5 s :3.3 Ja
. sSean gcd(36,60) sl

60=1.36+24
36=1.24+12
24=2.12+0
gcd(36, 60)= 12 o
148a .sagced(12,150) =6
150=12.12+6
12=2.6+0

gcd(36,60,150) =gcd (gcd(36,60), 150)
= gcd(12,150) =6
‘Ww.abc€eZ 3.3

(a) a | b.c A gcd(a,b) = 1=>a|c

(b) alc/\ blc Agcd(a,b)=1=>a.b|c
(c) gcd(a,c)=1 A gcd(b,c) =1= gcd(a.b,c) =1

(d) Pprime A pla.b =D | a Vplb
gd(a)
gcd(a,b) =1= 3Ir,s€Z;ra+sb=1
= ¢.1 =rac + sbc

aIb.c/\ ala.c =a rac+sbc=a|c

sl (b))
gcd(a,b) =1=3r,s€Z;1=ra+sb
= ¢ = rac + sbc
alc/\b|c=ab|racAab|sbc=>ab|c
sl (C)

ng(a’ C) =1= 1,51 € Z; rna + §1C = 1
ng(bic)zl: EerSZEZ;er+52c:1
o 4 s 5

84



Algebra --------mmmm e il palas

riryab + rys:bc + rys,ac + s;5,cc = 1
= rrab + (rys;b + rys,a + s;5,¢).c =1
m:=nr,,n:=1r5:b+rs,a+ss, EZ
= m(ab) + nc =1 = gcd(ab,c) =1
Pta o .gsdadiadilioil p ya &S sl (d)
Pt a = gcd(pa)=1 = 3Irs €Z ,rp+sa=1
= b.rp+bsa=b

plbrp/\plbsa :>pr
G Sjibe GaSliad €N 2 k3.7 iyl
4 el ag,ay,..,a,€Z > ( Lcm:=Least Commen Multiple )
Dbt gabes
(Dai|d Vie{1,2,...n0}
b b gy e S Hde e § € NAS
(ii)a|s Vie{1,2,..n} = d|s
S e b ¥ ol Sl Lem
103 03 g2 s adayl ) g2V 43 i Lom 5l ged 2 1Al
mn € z
gcd(m,n).Lem(m,n) = |m.n|
s8N Aesdd ged 2 lom sd Y S G
4 4y (53 J S 4933 (factoring) o588 (Sl 4y dlae) (o 58 J 81 ) tanga
505 (Alied Lu gl sl ) g )ty cla ) o1 5 Jald (S ) 53 43 4 0 e
Sy o
s S Lem(36,15) syl @ Jha
oAl ged 2 sl
m= 36 ,n=15

36 =2.15+6
15=26+3
6=23+0

gcd (36,15) =3
gcd(36,15) . Lem(36,15) = | 36.15|

540 540

= Lcm(36,15) = =cd(36.15) ==

=180
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sl 4 s (factoring) s 5853 (5 el 49 1an9a
36 =2.2.3.3
15 =35
i Sl 82 Gucea daldi (S50 403 2 4a%iR
Lem(36,15) = 2.2.3.3.5 = 180
551 Lem(72,108 ) sl @ Jba

72=2% 3°
108 =2°. 3°
il il sl i) 3% 912 Gu oo Jals (S5 )50 438 512 (2 aGR
Qe S jide (Fa S el 5 o deala ) 558 ey g3 a4l ()
.2 (Lem)
55w Lem(-24,10 ) s :JGa
m=—-24 ,n=10
—24=-310+6
10 = 1.6 + 4
6=14+2
4=22+0
gcd (—24,10) = 2
| —24.10 240

Lem(—24,10) = _
cm( ) = Sd(—2410) 2

=120

(e b Al
_24 = 23.(=3)
10 =25
S b et e Gl [ oM 4 4SS 558 k0 (8 ja 43X sdle e
Lem(—24,10) = 23.3.5 = 120

s S Lem(8,10,12,16) syl @ Jla
8=23
10=2.5
12 =223
16 = 24
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Cilla ol 5 2 G ) 2% Gwd Jald (Selgag e 20 a2 asi
Syide S J8 5 a daala 500 S ey b I3 2 ()
= .2 (Lem) @ pase

Lecm(8,10,12,16) = 2*. 3. 5 = 240

S ss yhag 249 Lem(180, 600 ) @ 3.7 Sl
S (Z,+) 4 55 VS SesSa(Lom ) e Syide Ja S0 Gyl
S8 d 3l a1ay,.e,8y € Z AS (S 5 )S oy adald gigeg S e j8 0
DS B oad) (s Ly (55 e S jida (S Gl

d=Lem (a1@z,....an) = Nie; a;Z =dz

- o

1 g
medz = d|m = q;|m (i=12,..,1n)
= meaq;z (i=12,..,n) =>meNL, a;Z
= dzC N, a;z
kenl., a;z =2 keaqz (i=12..,n)
=a |k (i=12,..,1n)
= d|k (d = Lem(al,az,..... ,an) 451)
= k€dz =N, q;z Cdz
NIL &iZ = dZ S 4 4

82 2ZN3Z N4z =127 Js b

Lem(2,3,4) =3.2% =12
: 3.8 (Al
sl lwabliing 8 c$47 5 67,1022 S(z ,+ )« (a)
G Sebls g8 487 ) 6Z2S(Z ,+) 4(b)
(4 5_%) group order 2w s palics iy S (G,.) s 1 3.8 iy 2l
(S Gma 0 SAS by |G L sl Ord(G) 4 axs sl sl g4
swioy Ord (G) = © 4 axa Ly

20rd(A® ) =4 o Gmeseain (Z ,+) 3dss4dben
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adad........ D a2l Sl 2 S8 (G, D) na: s
S A" Gl (4) sl m)
$2aEG § (2 ) raie Cuic e 5 8 0 (G, D) : 3.9
Sbasa(aix)ordera 25 2" =6 > ME N K s 5
| 2L ordg(a) 4 4xh i )
ordg(a)=min {ie N |a'=e}
cSdord(a) bl e s s S aS 2 gy asleeas
ord(Dg,.) = 8 s 4 Jbe 2
el=e = ord(e) =1
bb=Dbz =e= ord(b)=2
cc=b
c3=ccc=bc=a
c*=cccc=a.c=e = ord(c)=4%
(Qg,.) s (D4,.) 4 ord(g) s ord(f) « ord(d) :3.9 ¢ns
S (Ses S
. paie vic e JAEG @ Some 2 (G, Q) : 3.8 4nAd
(e 03 b b i S 43X (Order) 5+ 2 G 2 (order) 48« a
ord(a) < ord(G)
|G|= ord(G) , k= ord(a) : s
3 K >|G] 2oy g4 ord(a) < ord(G) 4
= k> |G|+1
X:={1,2,3,......k}

o pugalsd g3V 3] EX Abpn sk ik > |G] SR
SRR

i>j,f(i)=al =f(j) =a =al.(a)1=a (a)!

= al-i=e
S S STl ord(a) o> A8 Al 43X o Al
a"=e auiae gias dak A& g ) ol s s Ciy 232 (Order)
s Ord(a) <ord(G) 2w .2 0<i-j<k4ah S g
Cuie @, s S ome 5 (G, . ) 1 (theorem of fermat ) 3.9 4xzd
a®@ =g . ae G, i
tSals s8 Y S (o o K e G (2 4SS A 1 G
G={0g1,02...,0}, 0rd(G)=|G| =n
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: wéﬁ@@bgmy \Jcﬁdd\j\_.a G).U.UA
.6 — G
gr—ag

s> bijective » f > s S Qs 5 )

x,y €6,f(x) =ax =f(y)= ay
ax=ay >a tax=alay=>x=y > f injective
Ll pd Al s (A dl od 0.1 2 0w g2 s S AL G aa a5 A
IS L_.g_\i‘).Jd\,g
YEG,x: =a Ly =2fx)=(@ly)=a(al.y)=y
= f surjective
‘0w .0 bijective s f o 58 sl

G = f(G) = {9192 - 9n} = {ag1,a92, .., agn}
Hl 19i = Hz 1ag; = a Hz 19i
= ([lk19:) - ( ?:1gi)- =a"([Tiz19:) - ( glzlgi)-1
=e = a = aord(G) —e

(5 A€ G s pmaic Cuie 4ade 2 @S e (G, ) 3,10 dpad
ord(a)| ord(G) sz . o3 axadi & J8 s23b ord(a) Lz ord(G) W

Ord(G) w2 58 U= sisises gsord@) =n s ord(G) = mas : s
) g g4y Ly o0 45wl 3 QB 50 43k ord(a) Ly

dqre€N; m=qn+r ( 0<r <n)
= r =m-qg.n
w92 gM =z s Aedd i s fermat

ar=ama =gm, (g)am= agm, (an)d=-e.(e)d=e.(ed)l=e
e S sl yin aSA (g bl o s iy 230 (order) (e 213 S
ow .sir<n sa =e &> sdulsSedin .S a"=e 2
s ord(a)| ord(G) wb
G5 S 4nd Ly ¢ 55230 adsl o (Order) 4 e 4xas > s S 1 3.4 Ll
.2 (cyclic group) s

89



Algebra --------mmmmm e sl palza
e sl p e 4l 2 (order) 4ix > s S 2 (G,. ) S ag
LS9 paie Cube 42a)
Srrmals s G GalessG={e} =
G = (e} (2upaf o
G={e} =23 acG ,a#{e}
ord(G)=p = ord(@)|p [ > =8 310 ]
<a> =G S4aiia g gsord(@) = pab oy .grae Allp S A
L8 S G 2 G S e sS B
6 ay i Cuie S s S (AD,D) 4 3.4 Ja
ord(A®) = |A®| = 4
a® a = a
a, P a® a =a,® a = as
aPDaDa®Da=a;Pa,=a = ai=aq
=ord(a;) =4 A ord(a;) | ord(A®W)
a,® a, = a, = a:= a,
= ord(a,) =2 A ord(ay) | ord(A®)
az; D az = a;
a; P a; P az; = a, P a; = a4
a; D a; D az; D a; = a; D a, = a, = a; = a,
= ord(az) = 4 A ord(as) | ord(A®)
ord(a,),ord ( a,),ord( as) < ord(A®) @S Jaul 455 laes
:3.10 o<
sl S8 (Q,) 4 ord(E),ord(K), ord(-E),ord(l) (a)
S (S o8 (Qg,. ) 4 ord(f) ,ord(h) ,ord(g) (b)
AEG .62 e raic Chie a2 S 2 (G,x) 1 (C)

@:(Z,+) — (G %)
n— an
sl ker( @) s 2 G-HOM ¢ o> S @ss
a€eEG.cres S e hnaanrH o8 0 (G, @) :3.10 @l
s (D8 &) left coset 2 a @H={a®h | heH}
b s (IS 2u) right coset 2 HP a ={hda | heH}
s (S oy s 8 o 8 Hi{by, by} 2 S AR 4 yise 1 Jla
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bl@HZ{blin}
bZ@HZ{bZ'bl}
b3®H={b3'b4}
by © H = {by, b3}
(oS Jad
Hi:=bOH=b,0O, Hy=b;OH=b,0OH
622 4 H ki (S AGD 4y el (38 1) left-coset sisia
D oS dad A0 laea
A@? = H, UH,
b .2 a,beG s S e pamy Uegy S o (G, )311‘\:"“'.4§
(a) aU=U o ae U
(b) aU=b.U & albeU
(c) a.Unb.U# 0 < a.U=b.U
(s ables M Ll g0 s bm o b left-coset o5 o> (S 524 )
s (a)
we v
geal = 3 ueU;g=a.u
= geU [ auelUsdasS=rUss]

alc U
geU =>g=eg=a.alg=a.lal.g)
= geal [a,0 eU 53]
aU=Ug Saxia
y ="
gealU=U =3ueU;g=au, gueali=U
= a=g.u ! = aeU [ g,UuE U 455]
1< (b)
“ e
albeU = al.b.U=U [ S=4(a) 2]
= aal.b.U=a.U
= b.U=a.U

”: "

gealU=bU = uy;,u.eU;g=a.u;=b.u,
= al.auv.u,=al buxu,™?
= Up.u, '=alb
= albeU [U1, u, eU 45‘3]
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gea.U=Db.U
=3 Uy U €U ; g=a. ui=b u
=> gea.Unb.U [ s b.ueb.U 3 a. ujca.U 45a]
aUnb.U#£ @ Sty
e
a.uUnb.U# 9= 3 geaUnbU
=3 uy, U € U; g=a.u = b.u,
= alauy.u, '=alb.ux u,™?
>ul.u, '=atlb =2alb eU [uyueU 53]
= a.U=b.U [ 24d(b) 2]
ey Se pam oy Uy S 2(G,) 3.5 L
o left-coset es0p 2 hyia4, G= Uggal (1)
cg s bl (A Ll g sl
acG (2)
la.Ul=|U|=|Uqal
s el gpalicd g U o) Ua «U 20)d a€ Goaoam)
(&2 ssbue
izl Uyegal € G orcsd (1)
vae G ,a=ae€a.l [ee U 454]
= GC Ugcgal
G= UaEGaU é‘bﬁ"‘\:’
S sboa o e 0 b (S ) left- coset o5 Aead ol 311 2
a,be G 2 G, 0 & o abliia by
a.Unb.U#x 9P alU=bU
Dosh i i g2 ol g€ G 2 1@ (2)
.U — aU
u — a.u
1 45a 2 bijective s f
Uy, U €U ; f(uy) = auy = aup = f(uy)
>uy. atau,=U, = injective
bealU =3 u€U;b=a.u=f(u) =f surjective
Sl o el g palic gU 5 U 2 0w 2 bijective s f (24548
laU] = [U] &= .2
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.2 bijective s &b gV a5 )S Gigl gd (oY S J g9 laea
f:U— Ua
u — u.a

laU|=|U|=|Ua| 4254

Seags R e s H={e,a,0,h} S 255 (Qs,.) 4 10
s (Soki 4 bE Qg
b.H=b.{e,a,g,h} ={b,c,f,d} = |b.H| =4 = |H|
Ty 9 ) & )
Qg = Uae Qs aH
e o e e =8 3.11 0
eaghe H = eH=aH=gH=hH=H
st Sl 4y peslic J Qg 2 el
b.H =b.{e,a,gh} = { b,cfd}
c.H=c{eagh}={cb,df}
d.H=d.{e,a,gh} ={dfb,c}
fH=f{eagh}={fdcb}

D> S dul
U:=bH=cH=d.H=fH
[ Al 4
Qs=H UU
¢ gy S Sz, 4) e Se b U=6z2 548135k
o> S d

546z ,44+6z ,3+6zZ 24+6z ,1+6zZ ,6=Z

o a0 el g palic gy a4 U ki (S @a) Left-cosets
6z|= |3+ 62| o4 Wi3.5 2dsmadies, st
PSSy @bt AR Lip 4l L eft-coset Jsaxa S

U=6z={... -18,-12,-6,0,6,12,18...}
1+6z={... -17,-11,-5,1,7,13,19...}
2+6z={... -16,-10,-4,2,8,14,20...}

Sa (G Gsbmo e 7462z 5 146z
7+6z=1+(6+62z)=1+6z [ A4 2af 3.11 2]
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R SGau S AU s S 0 (G,.) 1311
a4 sl sobasiaIndex 2 S G4 leftcoset silisasisia U
LS s [G: U] L ind g (U)

ind¢ (U) =[{a.U]| a € G}|=|U.a|a € G|=[G:U]
: Jha
(a)
indc (G) =|G:G|=1, indc(e) =[G:{e}]=|G]|

(b)
ind, (nz) =[z :nz]=nVneN

EASZadnadias gangsbw Sz nz 2 AdedS g Ja5A
ind, (5z) =[z :5z]=5 S @8
S SGauans S p Hy s H e 8o 2 (G,.) 1 3,12 4pd
‘W H CH

[G:H1]=[G:H].[H:H] (indg(H1) = indg(H). Indu(H+) =2)

Sl SRS gai¥ 4 G s Y S Al 350 gl
G = UjeraiH
G S aladl 4 H-left coset 2 o> g g Sl oy q; €G
daddidg g N O Rl by qH I Sm 54 salls aada o o (IS
C[GH] =1 oS
P Salssd 6V S 0 s2ed 4y
&S A=l 49 Hy-leftcoset 2 > gsd Sail Jso 12 by € H e 4l
SABABSR Bidds biH; 5 . o540 aladadao sy WS a g
[HiH ] = J oS a4
G = UicraiH = Ui a; (Uje; biHy) = Uie(Ujey aibiH)
= [G:Hi]=1]
— [G:Hi] = L = [G:H].[H:H4]
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@2 S (APP o) waiss S e b H={by,ba} 51 Hi= {by} 1
ki Hy o leftcoset Usi ow s AB?) 5 jaie cuie by o 4%34
s* {ba} 5 {ba}{ba},{oi} « A®B?

indA(g,g)(H1) =4 <_:,—”L.J

b,0H = by {by,ba} = { b0 by, b0 ba} = {b, bs}
bsoH = b3 {by,bs} = { b3 @ by, b3® bs} = {bs,b,}

S 4ali4gs) 52 {Dy,bg} o {by,bg} 45 A®?) ki leftcoset Jsi H
{b4} B\ {b1} 44 H)L-‘ leftcoset Js H1 Q. indA(gyg)(H) =2
Indy(H1) =2 = .2
indA(z,z)(Hl) =4=22-= indA(gig)(H) . |ndH(H1)
IS diay Ll
[G:Hi]= 4=2.2 =[G:H].[H:H,]

raie Cuie 4xa 3@ ¢ @y S (pra g (G,.) (Lagrange) :3.13 apd
T (S G es S =4 2 H S (identity)

Ord(G)= ord(H) . ind(H)

ouw.ed Hy GogsSeed Ely S wE={g} & gl
0rd(G) = [G:E] A ord(H) = [H:E]
JSG dr g b
|G| = indg(E) A |H| = indy(E)
PS5l oY S A Al a8 3,12 3

ord(G) = [G:E] = [G:H] . [H:E] =[G:H] . ord(H)

A8 e 5 S (pae 0 asAlaagiiaal i Lagrange 2 o

03 a3 B s S o 8 8 4ka0 4 5 (Order)

ly Indai(H) 50052 . o2 S Qg 458 =sin H={e,a,d,f} :Jba

S5

A =8 Lagrange 2 o« .2 0rd(Qg) =8 s ord(H) =4 s
ord(Qg) = ind(H). ord(H) = 8 = ind(H). 4
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> ind(H) =7 =2
0311 Gua
=< # H={eab,c} sH;={eb} SwsS(Dy.)u(a)
RELREPYPRS
A Indp.( Hy), indp.(H), indu(H4) (1)

alic giws AV iy s S ashs o left-coset 4bs e (i)
(s Sy

{a.H| aEG},{a.H1| a € G} ,{a.H1| a € H}
«H; CH ¢2ans S = AG2H H co2x258 2(G,.)(b)

left-coset > Hy 2 (> s Sesle . indg (H) =6, indy(Hy) = 4
LS indg( Hy ) . i a8 G okl el
A58 (G,) eVl i (C)
G={a, a%a’..,a"a" a%=¢e},
H={a",a%,a",a"=¢}, Hy={a" ,a"=¢}
G aaiss S e b S Hy S H > Sl (1)

s S indg(H4) ' indg(H) (i)
ASA (536 mad g palica s 8 S50 3.5 JUa

1S4]= 31=1.2.3=6
DS Aisa st UY A palic B 4ra

G383 Y 803
S GHE IO BV

Ss={ id ,f1,f2,f3,f4,f5} o

<385 (Map composition) S 55 (i 2,k Sy (Aedl o0 3.4 2
s ) JSE Y (Cayley Table ) Jsas LS (S5, 0) 5 2
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Lﬁ)—'s f30f4=f2 édjh @U_)ﬁ‘\-’,djé“\-’,d&ﬁ

fofi=(3 1 2) (13 =G 5 )=t

P IS Jiate 4 Lyl
fi(1)=2 ,fi(2)=1, f1(3)=3
f30fa (1) = f3(2) =1, f30f4(2)= f3(1)=3,
fz30 f4(3)= f3(3) =2
1 2 3)_
f30f4=(1 3 2)—f2 o

b 55l Sy el (af Lagrange 2 om s [S3]=6 > 4R
B2 .55 6 51,2,3 = (order) 4w (o> 5 sl A S e 8 s
c (a3 QM) Hg g sdlae) sy B
;QL.A';SN‘;_'\:\&%})S(S&o) J G

LgAms R e AV b S; (a)

.21 = (order) 48 e 2 {id} (1)

.26 (= (order) 48w 2S5 (2)

3)

(
U1:=<f2> ={|d fg} ) U2:=<f4> ={id,f4} ) U3:=<f5> ={id,f5}
32 (eyclic) s Aisms S e ds
ord(Us) = ord(U,) = ord(Uz) =2
5058548 dsia AS ASA 63 @5 8 o 8 (s Ug o s dsw 49 JUeo
|d0|d=|d y id0f5=f5 , f50f5=id
<fs>=U; = s Us 2 fg @&)—‘Sdﬂ \}.Ag_;-.“d
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Ord(U)=3 3 U:=<f1> ={id, fl ) f3 } ( 4 )
Index s 8o A sl s S SguesSeepnHS (b)
@uY 4 Aed nd Lagrange 2 s Y S (U left costes 515 )

DS Jae
1S3] = | H|.[S3:H]
L)
ord(S;) =ord (H). 1nd (H)
1S3 _
ind({id}) = 1
S 6
ind(S3) = ISl _ 8 1
IS3| 6
: _Is3l 6
ind(U1)=ind(U2) = ind(U3) = - =5 = 3
_ sl 8 _
ind(U)= T ;= 2
=8 lagrange 245y Uz o (428 @a) left coset Jsisy s oa)
9S Aulaa
152 g0 DSl 3V (S 8 Sz 0w, 62 Us = {idfs} 240 A
@2

Us , fioUs, fa0 U3, fzo Uz, f40 Us
fio Us = fro {id, fs} = { froid , fro fs} = { f1,f)
foo Uz = f10 {id , fs} = { f20 id , foo fs} = { f2, T}
f3o U3 =f20 U3 @d)—'s dj-‘j

f30 U3=f30 {id,f5}={f30 |d ,f30 f5}={f3, f4}
f40 U3=f40 {id,f5}={f4o |d ,f40 f5}={f4, f5}
f30U3—f40U3 @LS)-\SJJJ‘MJ
3 s S Sz Ug 2 (s8¢ left coset 2 o2 slal angii o AYL
C o el Y andih acn a8 o WAl Lagrange 2.0
:3.12 (o
S Gxa <fi>={id, f,f3} SJ& 3540 s Sasi(a)
oS s fe fafadn S8 4 f; (b)
Siresf=pn Hi={fe Sy 1 1(4) =4} v fas ()
LGSl ind(H) 5 [H| .
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Q:={+E, 4l ,+J #K} > dulyse Sy 1.72: 3.6 J4s
o (Sl 4y (52 puaic Cue drr 0 B 5l QS s oS ile 3 ks
Qo S e f aHi={E-El,-I} o 58 Vasa

ASA 62 A e ardd S0 e | e s S Sl w H

P=ll=-E , P=lll==-El=- ,I =P .1=-lI=E
822 s iNd(H) Sl<l>=H Saama
THT1o[O<lu] o 0@ 8 _
[Q:H]=[Qx<I>] = a3 =2

Juos N3G ros S e AN S 58 2(G,.) 812 @
» 2 a.N=N.a @ bdgr4saS dis invariant bl (normal)
i NSG s ysw. o)W aeG
JUia
G 4« Normal dw_si {8} .s2 maie cuie 05 S (G,) 2 e (a)
VaeG 5= . s
a.{e}a’ ={e} = afe}={e} .a

(normal) Jw s @38 = A » 5 S (commutative ) L 2 (b)
e
Tl s s R e m A AN 5 K 0 (G,.) 45 :3.6 Layd

VaeG;a.Na '€ N o (G «dw,sN ) N3G
ncn ;Q\g,u"
NG = VaeG; aN = Na
= VxeN; a.x =x.a = a.x.a’ ! =x
= a.x.a 'eN
":" Q\w“

YaeG; a.N.a 'S N AalNac N
= aN € Na A Na € aN

=>aN=Na = N=G
2 S G4 (Normal )JJdu,sipa G 4l 4 oo sla) aami 43X Lad (50 4]
aeG Sa
VgeG; a.g.ateaG a?!
a.G.alCG ww.sima.g.a leG 15 L4
:3. 7 Jha
= A 2 U3:=<f5> = {id {5} > duls SJ3.54 s (a)
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D dlys SaL 50 (S Sy a8
fio Us = {fioid , fyo fs} = { fy, f2}
Usofi={idof; , fsofi}= {f1 , fa}
.24 (Normal) Juys Us o . frolUs # Us ofy > A A

(b)
N:={ A€ (GL(2,R),.) |detA =1}
o5l .2 GL(2, R) 258 =8 2 N (o> Jalsse S JE 3.A 4
LS GLE2, R) 4 Jusi N (o9 S sl 5y 5
AeN, Be (GL(2,R),.) = detA=1, detB+ 0
det(B.A.B1) = detB . detA . det(B1) = detB . detA . —

detB
= detB .L .detA =detA =1
detB

= B.A.B1eN
2 S (GL(Z2,R),.) 4 duys Aead lad 3.6 3 N (S 4aii 4
Qs 8 Juest e B o é Jis 3.5 A Uy = {Id , T4, f3} W 3.13 G
T
ABcCG sl o582 2 (G,.): 313
A.B:={a.b | aeA, beB }
. b a8 4 complex product 2 A.B
A:={a'|aeA}, aB:={a}B, A.b:= A{b}
=* A:={ab,d} «B:={af,g,h} 2S5 SQg 4 yisaS Jba
D gty SOk 4y 40 s
A.B ={a,b,d}. {a,f,g,h}
={a.a, b.a, d.a, a.f, b.f,d.f,a.g, b.g,d.ga.h, b.h dh}
={e,b,c,d,f,g h}
At={a",b",d"}={a,cf}
B:={e,bf, h},A={a,b,cd} S D, :3.14 (n
sShy BT JAB
oy Qi al g bl ¥l @ # UCSG s s 8 (G,.) @ 3.7 Lad
W Jalas
s2GagsSe=n U (1)
uucu,U'cU (2)
U.U'cU (3)
P
(2 (1

N~—
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uelU = Ju,u €U ,u= uy.u,
S u=u U U [ e @8 = Usd]
=> UUCcU
aeU™l > 3belU;ab=e
>a=bleU [ belU <]
> UlcuUu
(3) < (2)
ueUU™t >23wel A uyteU™t; u= upuyt
> u el AuyteU [UTlcU 4]
Su=u .ulel.U €U = U.UtcCcU

(3) 9(2) ¢ (1) =312 U s 80sis)seadh 1(1) &(3)
A ual A
a,beU = e = b.b™'eU.UTCU
VbeU,br = e.bteU.UTCU
a.b = ab™H)tev. Ut CcU
LG s S e U sdass
:3.15 (Al
SO s S 0 (Z+) > sarnrx (a)
3Z+37Z <3Z A (3Z)' 3%
G S (R, )4 S e b W:={xE]R§|x>O}9,3,M‘\5 (b)
WW'E W au S, )l S
Loy 8 e dH={ebfh} s Saaild 3720044 (€)
s S Dy
o Ay (g diss S e pamnn VU ol @S (G, 3.1 @
s R e (UV &m) Vs Us Complex product <)sa
ViU ssSarllaelydin Jie 3.5 ool im0, gy G
(SR s i ad J g 1Y g Aisys S o 8
U:= < fo >={id , f5}
V= <y >={id , 14}
U.V={id,f2 ,f4,f20f4}
={id,f2,fs,f3}
= ord(U.V) =4
Aye > Ay Q S = ALY S 4 S el b Lagrange -
> bl .54 2 (order)
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f30f3=f1$ u.v
L. gsdiss S e damaVe Usosg 0 (G,.)4S 3.8 L
.2 G2 (subgroup) es S = A 2 UV «UV =V.U
UU' c U 5 VV' € V e al 37 Lo agd
(UV). (UV)'=uv.v'ulcuVvU' [VV' cV «sa]
=VUU' cv.u=U.v
=>U.V subgroup (=85S ) [ cxeWd3.72]
= A 5522 Complex product > sl asiii 43X el (55 ) g
Ly dls SR (> S5 P8 (S s A5 A 55 S
523 e1€Gy , e€G o> 4iss R o5 (Gy, %) « (G, .) :3.15 4pcd
.2 G-Hom 5 ¢:G—Gy sl_ralic Cuie
o (V) ={aeG | p(a)eV}aG <« Va Gy (a)
[62 S Gy duos @ (V) s oS Gyayduss Vas gin
[ .2 SGadusikerp & ] kero <G (b))
Lo 50 sUrjective n@4S  (c)
o(N)2G1 < N=2G
[ S CGradess (V) wees S G dusi NS n]
LGS @ (V) dedl amd 3.3 1 s (a)
xe ' (V),aeG
= p(x)eV , p(a) e Gy, p(a™') € Gy
S gax.a ) =@ *px) * pla eV [ V2 Gy & ]
= a.x.a le p (V)
= ¢ (V) (normal) w5 [2edld3.62 ]
(b)) wsd
aeG,xekerp = @) = e
= @(a.x.al) =¢(a)* o) * pa™)
=p(@) xe * pla™) =¢p(a.a™)
=@(e) = e
= a.x.a lekere
= kerp 2G [ S Ll 3.6 ]
L3S Gy s Seep naedani3 32 p(N) :(c) wsd
beG, = FaeG; p(a)=0>b [ surjective ¢ 5a ]
= VxeN ; bx p(x) *b" = p(a) * p(x) * p(a™)
=¢(a.x.a1)
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a.x.a leN 4l 3.6 oo .2 normal & G4 N
axa'eN = bxe(X)*b'=¢(a.x.a')ep(N)

.2 Normal S Gy 4 o(N) Seadlad 3.6 Saadia
A Ho yaic e €€6 s S n (6,+) @ 3.9 Ll
x 1V Hx={xThxheH} & XEG s> S G 4.8

S Gueu s
D g
e=x".exe x L.Hx
abe x 1. H.x
=3h,k €EH;a= x"Yhx N b=x1kx
ab=(x"1hx)(x1kx)
= x Lhx.xYkx= x"1 hkx
= ab=x"1.hkx exL.Hx [ h,k€H 5]
a=x"hx
= al=(x"(hx))' = (hx)h (x1)! =x"htx
> alex LHx [QusSeep H) heH S
LG s R e f A =831 xTLHox Sandiiag
L AE G i Gicamre s S w (G,) :3.10 Lad
(60 s iy et J g9 g1Y 4 Cuw Cg(a) 2

Cc@)={x€eCGxLax=a} ={x€eCGlax=xa }
. A€ Cg(a) s 62 G a8 =4 2 (g(a)
j}SoJLq.w\d\;SMB‘] Jo‘)\;ﬂ&"—iﬁs.}-:&\”ﬁ
e l.a.e=a =e€ ;)
>x,y €EC;@Q) =2xta.x=aA ylay=a
>@y) ta xy) =y txtlaxy=ylay=a
= ylxlxay { x €Cs(a) s> ]
=yleay =a {y €(g(a) =]
= xy € C;(a)
X€ Cg(@a) > x la.x=a
a=xxla.xx!=xa.xt=H1a.(x?
= x 1 € C;(a)
centralizer 2a 2 Cz(a). ©2 S G s 8= 8 2 Cg(a) > 5 Dl
g SCGaesiy
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Cp, () ={x€ Dy|xtcx=c}
elce=ece=c = e€(p, (c)
alca=cca=ba=c = a€C(lp,(c)
blcb=bcb=ab=c = beC(p, (c)
dlcd=dcd=fd=a = d¢& Cp, (c)
f,g,h & Cp, (€) .24 dld (p, (C) 4f,g,h Sl
CD4, (c) ={e;ab,c} S 4
:3.16 (s
raic Cuie 5l s S » (GL(2,R),.) o> dusse S Je1.64(1)
&2 E2=((1) (1)) OS89 yie aal g o
H:={ A€ (GL(2,R),.)| A diagonal (ski)}

M:={AeGL(2 R) | A:((l) Cll) )

S (GL2, R),.) w4ims S e M sl H o> Julsee S B 3 A4
S SGL(2, R) 4 Jwsiadls s S oo 8 a8
2.a€D, s A S e p Hi={eh} 2 S w58 (Dy,.) % (2)
S a8 e b U=fa' Hal sl s S eliin) 435 L1 3.9
Lo gl o Sy ealdinl aAX Lad 3,10 2 :3.17 (sl
s SslwuSee Cp, (h) 5 ()
8w R = Al (f3) 2 (b)
sl Seed Co (g) 2 (c)
Do) s 52 yige (S s 84 (Qg,.) 2:3.18 rs
H={e,ad(f}, H ={e,a}
S Qe S ety I H > 82 (1
w22 S H4ord(f) s Hy 4 ord(a) (2
s H JH s SO (3
1S Iy 4 Sl s s (4
indg,(Hy) , indg,(H) , indy(H,)
A paic Cuie @E G 5l e S » (G, ) 13.14 iy
o S S dis self-conjugate L sl central <5 xe ¢ (a)
¢s (x=a'xa =) x.a=ax

N— N N S
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asi4centere 2uscentral S G 4> sralicdgacus (b)
Pt oy Z(G) agars Sl g
Z(GQ)={x€ G|x=alx.a VaeG}
={XxeEG|x.a=a.x Vae€G}
@ Z(G) =G w.es<sS (commutative) s 52 G 4S
@3 Dy 2 centre oS = {e,b) S S(D,, ) 4: 3.8 Jha
S . Z(D,) = {e, b} : &=
Vx€D,; xle.x=e =>e€Z(D,)
alb.a=cb.a =aa=b
c'b.c=ab.c =c.c=b
dlb.d=d.b.d =g.d=>b
(S8 Bra a0 L f g h (o2 S dad b ¢ (L8 J S s 4elal Jsolaes 4S
o
Vx€D,;bt.x.b=x=>beZD,)
= Z(D,) = {e, b}
g2 axad 8 e b Z(G) S (G L) Qo Sond: 3,16 4wl
j}SoJ\.nu\ms.:ms 3.1 Jo)\T}SU_}}.{S :CU,\:.'\
= X,YE Cs;(a) Va€eG [3.10 Wl nCs(a)]
x.y,xt €Cs(a) [e=AesRdiCs(a)n]
(xy)'.a.(xy) =a A (xNY'.a.x'=a (Vae®G)
a.(xy) =(xy).a A a.x’ K
(x.y).a=a.(xy) A (x)
a'.(xy).a= (xy) A a'.(
x.y,x 1 € Z(G)

L

LG S e b 2 Z(G) ash D
@2 pa Ju 5 center s S a3 @
uss i da Va4 Aut(G) 2 (G,. ) @850 :3.15 s

Aut(G): ={f.G- G| f G — Autom }

> 2238 » (mapping composition) <S5 &b 2k AutG

4 yige w3l 1o f €AU(G) 2 posSaas) &li Id 2 (2 paie Cuie
. s (Aut(G ), o) «

TS 2 (G,) 13017 Anad

S2sase P el s S mEiesi Auto(G) G2 (a)
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3G 3 (center ) Z(G) S =ssoe=4 ker(g) (b)
st XY A g olgEe G2 i s (a)
@:G — Aut(G)
g— ¢(9)

e h i s il 4 (g) besl S

0(g):G—G
ar—g.ag
.2 G-Autom 5 @(g) > & b Al
: G-Hom s ¢(g)

a,b€G,p(g)(ab)=gabg™'=g.ag'g.bg™
= (gag™).(gbg™)
=(p(g)(a)).((9) (b))
= @(g) G—Hom
: injective s ¢(g)
a€ ker(p(9)) = p(g)(@) =e=g.a.g™*
=> gleg=a> a=e
2@(g) >N 2H82330mcsrker(p(g)) = {e} >4
. g2 injective
: surjective » @(9)
YEG ,x:= g7'yg
(@) =0@@yg)=9@ 'yglg ' =eye=y
= ¢@(g) surjective
@(g) € Aut G S 44
: G-Hom s ¢
g,h€ G = Va€eG; p(gh)(a) = (gh).a.(gh)™
(gh).a.(h™ g7
glhah g™
¢(g) (hah™)
(@) (eh) ()
0(9)° p(h(a))

= @(gh) = ¢(g) > ¢(h) .
ressi(b)
gekerg & ¢(g) = id;
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< @) =ids(x)=x (Vx€EG)
©gxgl=x (Vx€EG)
©gx=xg9g Vx €G < gezZ(a)

48 o8 (Normal) Jwoss N s S (G.) :8.16
G/N 4 5 SG4aNleft-coset sl (4o saxs) sEt .52 S G

(S L o o
G/N := {a.N | aeG}
G4 S =t (Normal) Jwost 2 N 5l s 8 (G L) :3.18 4apzd

tl e S
Ly R Ghly SSen Y iG/N (a)
.1 G/NxG/N— G/N

(aN ,bN) +— (aN).(bN) = a.bN

|G / N| = [G:N] (b)

Do et i iy gailh (G/N L) B G ras ()
©:G — G/N
a—aNlN

. o2 surjective ' G-Hom o2 @ (|)
kerp = N (ii)

62 S Gags S ee b (Normal) Jesss s N a2 4G A -l (a)
S Brao )l g, beGyle ¢
aN = Na A bN =Nb
= (aN).(bN) = a(Nb)N = a(bN)N = a.b NN

NNCS N Seadld 372
neN > n =e.neNN = NCE NN

N.N=N S
(aN)(bN) = abNN =abNeG/N
sa Ll s (plaisle ) G gea sl 2 (G/N L) on
N(aN)=aNN=aN
A
(@IN)(aN) =(a.al)N=e.N=N
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spsSae @'N 5l (G/N L)) 2maie Cuie N o 1) 443X 5o 4l
.2 aN
a,bcetG A LGS B ad Cuald gl
(aN).(bN.cN)= (aN) (b(Nc).N
= (aN)b(cN).N = (aN)(bc)N.N
=(aN)(bcN)= a(Nbc)N
a.(bc NN)
(abc)N.N = abcN

(aN .bN).cN = (a(Nb)N).cN = (abN.N).cN
= (abN).cN
=ab(Nc).N = ab(cN).N
= (abc) NN = abcN
4 (factor group) w8 oS 24x 3 5 S (G/N ) (> 38 sl
cgophp s
ES 3ra Aed @ ai[GIN] 2 s (b)
1&gl (C)
@l (i)
a,beG; o(ab) = ab N = abNN = (aN)(bN)
=¢@(a).¢ (b)) = ¢ G—Hom
GusSoa aN » el s @ (@) =aN @ ¢ surjective
a2 ((si)sals (Left-coset)
(i) (C) g
ackero = @(a)=N A ¢(a)= a.N
=> N=aN = aeN [HSadx83.11 2]
= kero € N

aeN = N=aN = ¢(a)=> ackerg
= NC kerg
ker 9 =N S4siia
S04 a5 4 canonical Epimorphysm 2 ¢

. ¢ center w8 Dy a{e,b) o Jals yise 139 Jha
588D, 3 5 Y S G2 p8 Ju 8 Z(Dy) > 4R L Z(Dy)={e,b}
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5513 Dyf Z(Dy) sre A (o 43,5y 2 Z(D,) L (factor group) s S
. sud (Sl eft-coset Jsi Z(Dy) 2 S o2 4
E:=Z(D,) ={e,b}
A:=2(D,).a={e,b}.a={a,ba}={a,c}
=Z(Ds).c ={a,c}
B:=2(Dy).d={e,b}.d={d, bd}={d g}
=Z(Ds) . g ={g,d}
C:=Z(D,) . f={e,b}.f={f, bf} ={f,h}
= 7(Ds)h = {h, f}

G S U5 G 251 48 Z(Dy) ki el left-coset + Dy
3 paic Cuie o E=Z(D,) s Dy Z(Dy)={ E ,A,B,C}

|D4/Z(D4)‘ = [D4:Z(Dy)] =4

i) IS Y Jgas (S dxan
E |[A B [C
E |E |A |B |C
A (A C |B
B [B |k |E [A
C |C A |E
d}@‘*—)dl-mqédth_)

AB=7(Dy).a Z(D,) .d = (Z(D4)). (Z(D4))a.d
= Z(Dy) a.d =Z(D,) .f=C
AA =7(D,).a.Z(D,) .a =Z(D,).Z(D,).a.a
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-7(D,).b=7(D,) =E [oie Al o 3,11 2]

:3.19 (o
oS 9 (GLER2,R),.) > S164(1)
(a)
s={AeM@2R)[a=(¢ 2),a¢0}
¢ (GL(2,R),.) 258624 0 S S
(b)
H:={ A€ (GL(2,R),.)| A diagonal (sk8)}
1 a
M:={AeGL(2, R) | A=(0 1) }
N:={A€ (GL(2,R),.)| detA=1}

S:={AEM(2,]R%)|A=(3 2) La#0)

Ay S e ASGLR,R)4NSIMH > sd 08 SJ83AY
s(center) S» a8 A3 S ¢ NeM H 2 o> S w62
s2GL(2, R)
S B4 S (Dy,.) 4 s S eefde)s Ni={e,ab,cl > x5 (2)

S
S (Dy /N ,.) (Factor Group ) <58 o554 (a)
) & 44 (cayley table ) dsxs JASacs 2 Dy/N  (b)
swiom Gy S (Qg,.) 2 pm 13,20 G
¢ Z(G)={e,a} ru S5 (a)
sS4 Z(G) Lk left-coset Js G2 (b)
eSS (C)

G=Z(G)U Z(G).buZG).duZQG).g

s S s Sl Sy G /Z(G) (d)

LS e pdlasi g paln a8 e B dlyso 1 3011 Lad
s oy paic Cuiie @2 (G ) @S 5 s g
383 S Ga wsmss) S e deys Ni(iel I ={1,2,...,n})
s N4y adali (g g2
N:= ﬂ iel Ni
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AN S 32Ldo, 0 SGaduys N oS Qg e
aeG .s2 Gags S

geaN = 3heN; g =a.h = a.heaN; (Viel)
>a.h = h.aeN;.a (Viel ) [ wdwys N, 53]
=>a.N S N.a
Sy N.a SaN 58 Qafisd GY S Joo 2t 4
s2Gaeduwys N aN =N.a
(Theorem of group homomorphism) : 3.19 4xzé
s 1E G, ¢« €E G oralie Cuie 3 a4y Sos (G, x) S (G,.)
22 G-lsom s 8 gaVa by .2 G-Hom s ¢: G - G,

¢~ :G/kerp — ¢(G)
a.kerp = ¢(a)

sy bl 7 LRI R @(6G) 3 Glkerp s 8 o5 S
G/kerp = @(G) &= .2 (Isomorph) <, 5a 5!

s R e Al pkerp Sead kb 315 2-r gl

P3N G @ R o i Al 2R83.30 @(6) Sl
a,beE G .2 Dy s

@) =pd) = @@= b)) e = ob) " *gp(a)=e
= @b) + pla) = g(b7!.a)=¢
=>b7la ekerg
= a.ker@ = b.kerg |34 d 311 2]
=> @~ Iinjective
29" vz @ (Glkerp) = @(G) S iy @
. &2 a4 surjective
: G-Hom » @~
G S e A dsin kerg o> s s gise pslul 4 08 3150
Fod S G
go‘( (a.kerg).(b kergo))
¢~ ((a.kere). (b kerg)) = ¢~ (ab (kerp.ker))
= @ (abkery)
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= ¢(a.b)
@~ (akerg) * ¢~ (bkerg) = p(a) = ¢(b) = p(a.b)

= ¢~ G-Hom
G/ kerp = @(G) = .¢2G-lsom » @~ Sasii4a
(theorem of group isomomorphism ) : 3.20 4xzd
GRS GuesSduyse A Nyl S e alUcas S 2(G,)
(g Gy @y Semdy w4l UN/N S U/UNN

UN/N =U/UNN
22 G-Hom &b i 1o Aeal 028318 5 1 gl
o:U—- G/N
a—aNN

oU) = {uN|ueU}
= {uvN|u€eU,veN} [aeddnd 311 2]
=UN/N [ 3 et g2 ]

ucekerp =uelUAN= @p(u =uN
= UEN [Sedd =8 3112 ]
— ueUNN
ueUNN = ueUA ueN = ¢pu)=uN=N
= u € kerg
kerp = UNN :((S4sii4
23 G-lsom &b iVl el 28 319 2
¢~ G/kerp = @(G)
a.kerg = ¢(a)
SUN4JwsNeGasSeef UN 43 sd @l Slad 3,11 4
sS@U)= UN/N sinesde > SU4Jw, sUNN
s kerp = UNN
.S Bua e b U S e 8 panal 319 oS4y
23 G-lsom o5 &b 1Y
o~ :U/UNN - ¢@(U)
a.kerp - ¢p(a)
(Saaiia .2 @(U) =UN/N 5 @U) =U/UNN 4485 A
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UN/N =U/UNN
A NZ={n.k|keZ}>o 1 neN _A> o> 5.0 510 50 -1 g
( commutative ) S s (Z,4) o> 488 62 (Z,+) 2 o8
s 8 e Ads wnZ on e @8
st SOBI 4 G S (RY) 3 ise :3.B Jba

g:-R*— R*
X +— X2
2 G-Hom 52 g (1)
Ja
a,be R*

g(a.b) = (a.b)?2 = a2.b?2 = g(a).g(b) = g G-Hom
S R4S exdys » ker(g) (2)
Ja
ker(g) ={x€R* | g(x)=1}={x€R* | x¥*=1}={1,-1}
w2 Jwy s G-Hom s 2 kernel (2 Juls (S 408 315 4 i
SSRGS o b ds mker(g) oS Je sy
16 Jse Y 4 58 )54 R*/ker(g)
R*/ker(g) = { x. ker(g) | xe R*} = {x.{1,-1 ) | xe R*}
2 ker(g) raie Cube 42 2
: Z(R*)
&Y R* 2 (center) S e o s @8 sl o (RY,.) o> &0A
Z(R*) =R*  m
:g(R*) = R*/ker(g)
el iy el Jgo iV 4 @ ida

¢ : R*/ker(g) — g(R")
a.ker(g) — g(a)
}B\JLSAA&}%)LL;MYJJJDJ\;JJ;J
=2 s sker(g)s s G-Hom s g o> 408 1Ak g
.2 isomorphism s 3 4l (228 319 2@ o ¢ 62 S R* 49y 8
e

R*/ker(g) = g(R") o i
AL 2 94

:@ injective
abeR" , @(aker(g)) = @(b.ker(g)) = g(a) =g(b)
= a?=>b?
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b #0 wcaa&uéR*Mb@d&sﬁ
= —2 a?=1 =>(— a)?= 1:>g(— a)=g(bla)=1
= bl a€ ker(g) = a. ker(g) = b. ker(g) [« 4l (=8 3.11 2 ]
=  injective
.2 pb surjective >« w25 @ 2
¢ G-Hom
a,be R*
a.ker(g), b.ker(g)e R*/ker(g)
¢ ((aker(g)). (b.ker(g) ) = ¢ (ab.ker(g)) = g(ab) = g(a).g(b)
¢ (aker(g)) . ¢ (b.ker(g)) = g(a) . g(b)
= g G-Hom
g(R*) = R*/ker(g) = .¢>G-isom 5 @ S 4sb 4

6 S @S 4 (Dy,.) 2 e A H={e,b,d,g} :3.21 (s

2 (Dgy) 2 S = A v H e S@s8 (1)

IR = AG U s HY (2)
@S e A aHUW (3)

s R e pdes aH > S0 (4)

s S H s g S (Dy,.) 2 left coset Js5 (5)

SN palic a8 s S5 Dy/H 2 (6)

i S dss AS4a s SDyY/H (7)

62 S @584 (Qg,.) Y = N={e,a } :3.22
$2(Qg,.) 29”8 et uN e S@(1)

s S A e NL (2)

oS e Adhs o N> Sasd (3)

s Sy AN ki g 2 (Qg,.)- left coset Jsi (4)

A malic oS 0y 8,588 Qg/N 2 (5)

581w Ord(Qy/N)  (6)

e S dsn S SQg/N (7)

(8)

) Qg 2 aidsesad Qs S @ 5l s Sy ealinl 4AX 0n83.182(a)

LS)S \J.u C._\.m_)a QS
s2 4 injective S« «a surjective » ¢ > LS.)S Css (b
O0#neN ¢ aeZ :3.17 &

~~
VZ
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a+ nZ:= {a+nk | keZ}
a 2 (residue class or congruence class) oS sl 45 g + N Z
(e 4o g he 7 o5 som 48, S disn (Modulo)d s2 s s
Alosa i ssatnNZ = b+nN7Z S S oS sailadly
sl as 4 (modulo) sisase n Lkib 2 congrouent
4S sy #8 GV S Jo egee 4 g pS IS Jse 4 a = b (mod n)
S B sV gl aie ¢ B Sy Far S andin 32 e
a=r (mod n) O0<r<n
(residue class or congruence class) 38 (Sb) skl ge Z 2
DLy @ 4 (modulo) slsise n ok
a =at+nZ ={a+n|keZ}
rJba
8mod3: 8=23+2 = 8mod3=2 = 8=2(mod3)
-8mod3:-8=(-3).3+1 = -8mod3=1 = -8=1(mod3)
18 mod5: 18=3.5+3 = 18 mod5=3 = 18 =3 (mod5)
-18 mod 5: -18=(-4).5+2 = -18 mod5=2
= -18 =2 (mod)5)
14=2 (mod 6) ,12=0(mod 6) ,13=3 (mod5) ,
26=1 (mod5)
2 Jolaa oy Syl g gold) 2V o JuAl0 £ neN sla,b € Z 2: 3.12 Lo
a = b (modn) (1)
a+nZ =b+nlk (2)
a—benZ (3)
2. s eailadly sl S ardin n b Jaas (4)
a=qun+r1 A b=qn+rz =r1 =n2
r oo
a+nZ = b+nZ s S50xs)e 1 (2) (1)
he a+nZ =3 keZ;h=a+kn
AESWRIEN
a=b(modn) =3 qe€eZ;a= qn+b
o
h=a+kn=qn+b+kn=>b+ (q+k).n e (b + nZ)
= a+nZ < b+ni
b+nZ € a+4+nZ (>S5GS Qe
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(1) =(2)

a+nZ=b+nZ =3 q;,q,€Z; a+qin =b+ q2.n

= a= (qz-qi)n+b
= a = b (mod n)

1(3)&=(2)

hea+nZ= b+nZ

=3 q1,92 €Z;h=a+qu.n =b+qzn

= a-b=q2n-qun =(q2-qi)nen’Z

1(2) &(3)

{EE IR

hea+nZ =3 qeZ;h=a+qn

a - be nZ
=3 keZ;a-b=kn = a= b+kn
= h=a+qn=b+kn+qn=>b+ (k+q)neb+nZ
= a+nZ < b+nZ
ou. b+nZ € a4+ nZ eSS Qb Je s 4
b+nZ= a+nZ=(2)
1(4) (1)
a=b(modn) = 3 geZ;a=qn+b
ssbmb da el dd.s2b=0n+b oy b<n s LA
8Ost ad (o) (55358 SV S J o9 (saed 4.5 eiladily
4 n (modulo) sh s cuw (residue class) so\S sxiledl 13 7 3
D S Jsa Z 4L Z /T
Z,=Z/nZ={a+ nZl|a € Z}={ala €Z}
(=g (residue class) (S odiledly (il padi4y n 3 Z )
Z . ={0,1,2,...,n—1},|Z | =n
12 8 IS Jse Y 44 (residue class) (OIS sailedly S ol il 4y
[a]ln={a€Z | a=b (modn) }
Ly ={[0]n,[1]n,[2]n,... .,[n-1]n}
[a] ={a€Z | a=b (modn)}
[0],[1],[2],... .,[n-l]}
Zs ={ [0]5,[1]5, [2]3 } :ds9 4p e

n
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T3> Syeasd4y . sxis a 4 (residue class) (38 sailadly g 248
d)l)a\_\c eaY (IS o2ilaadly

{.. .,-12,-9,-6,-3,0,3,6,9,12,.. .}

{...,14, -11,-8,-5,-2,1,4,7,10,13,.. .}

{...,-13,-10,-7,-4,-1,5,8,11,14,17,.. .}

)

D] | O
Il

iJse 4 Ui 2
12=43+0 = 120
-14=(-5)34+1 = -14el
-13=(-5)3+4+2 = -13e2
14=43+ 2 = 14e2
R G w48 Gl SsSesn gaY hai 7, 13,21 dukd
. &2 (cyclic group)

+: Zy X7y — Zn
(a+ nZ, b+ nZ) — (a+ nZ)+(b+nZ ) = (a+b)+ nZ
(a,b)—a+b=a+b L
paie Cube 4 2 3@y S o (Z, , + ) e 208(3.18) 2
.83 a=a+nZ > S —a=-a +nZ 5 0 = nZ
(residue class group) s S sudS sailadly 3 5 S 5 588 (Z,, ,+)
(generator) A Z, 22508 Qofis)se sl gsapbasia N slsase
s> 1=1+4 nZeZ, r=aic
35 S e dl i 3,18 5 Ll 3.7
nZ =nZ+nZ+ ..+ nZ = knZ ( (=)l k)
Z,={k+nZ|ke€Z}={k+knZ|keZ} ]
={k(1+nZ)|k€Z)
={kl|lkeZ} =<1>
sler s s (eyclic) Gosn (Z, ,+) S4afia
cord(<1 >)=|Z,|=n
S QR @A g SOk 4 Qs 8 (Zg ,+ ) i 3.10 Jba
Usin 4y GBS 3 sy Zg s abils s ass "+ 5 07d(Ze) = || = 6
. sxx (cayley Table )
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+/0/1|2|3|4]|5
0/0[1/2|3|4|5
1/1/2|3|4|5]|0
2(2|/3|4|5/0]|1
3/3/4|5/0|1|2
4/4|/5/0]1/2|3
5/5/0(/1/2|3)|4

dpusSan 2=-2+6 7 Js 4 dhied 520 = 67 paic Cuic 44l
D 4SA L s 2=246Z
24+ (-2)=(24+6Z) + (—2+6Z) = 2+ (—2) +6Z + 6Z
=0+ 6Z+6Z =67 =0
. & (commutative) @58 s (Zg,+) o> 28 Ju

4 +2=6=0 = 4=0-2=-2

44+5=9=6+3=0+3=3
245=7=6+1=0+1 =1
4502 0u.50 145=0 5 2 +4=0 S48 4
(80 i usSan 511 4S5 jlaea o) g s sSae
s 8 Ghat 0 (Zg,+) o> 4R a2 Hi={ 0,3}
A H Lk (coset ) cu S Jsi (Zg) 2 521t 0es) . 2 pp Jysi H o
5 S 4allas
Uo=0+ H=1{0,3}
Ui =1+ H=1+ {0,3}={1,4}
U, =2+ H=2+ {0,3}={2,5
3+ H=3+ {0,3}={3, 0}=H=Up
4+ H=4+ {0,3}={4,1} =1 +H=U;

i (coset) simsS3 Zg 3 o> S du
)S&‘.A} Z=(Z6,+) JJJA.L.,SJ,U1 ,Ug
H

D

G/H={H,I+ ,2+H}={U0,U1 ,Uz} )

ind(H) = 3
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oxilaly s3Y a0 ) 52 @58 (Z,.) o i s g3Y 1311 J
s (residue class) >

Z; ={[1],12], [3]. [4]. [5].[6]} A |Z7] = 6

[1]=1+7Z
2l—z+7z - 11121 131|141 15]] [e]
(1] [1] [2] | [3]][4][5]] [6]
(2] [2] [4] [6] [1][3] | [5]
. 311 13) [6] | [2] [ (5] [1] | [4]
6l=6+7z  [4] [4] [1] [5]]|[2] [6]][3]
5] [5) [3] [1] [6] | [4] [2]
(6] 6] [5][4]1] (3] |21 [1]

[6].[6] = [36] = [5]. [7]+1=[1]
DA 6 (Zy ) 2 s 8 =2 = Hi={[1],[ 2], 4]}
A ((Oiale) e gl adal ) (S8 05 M HRIH (i)

[1].[1] =[1] e H ,[1].[2] = [2] € H ,
[1].[4] = [4] € H, [2].[4] = [8] = [1] €H ,
[4].[4] = [16] = [2] € H

[1] € H (ii)
@2 duisd e Sae [2] ) [4] (iii)

RSy aes S e hnH A =831 200

s S lawas H ki (cosets) CuwsS J@ Z5 3 s e sl

[3]. H=13].{[1].[2],[4]} = {[3].[6],[12]}
={[3].[6].[5]}

[5]. H=[5].{[1][2],[4]} ={[5],[10],[20] }
={[5].13].[6]}



U:=[3].H=[5].H=[6].H
ind(H) =2, Z:/H={H,U}

98 Gubd 4uxd | gagrange 2 4s
|Z7|=ord(H) .ind (H) = 6=3.ind(H)

= ind (H) =3 =2

LA At 6 5l 4 ¢ 3 2 Sas S (Z7* ;. )% 13.20 G
s Sl ord(6) s ord(4)« ord(3)

3L Z,, o (binary operation ) 4kl 568 653 su¥1a 48 13,22 4usd
.t ZxT, — I,
(a +nZ,b +nZ) — (a + nZ).(b + nZ) = ab + nZ
rhiiea Sl ab=ab 45 YK Js paiie 4y
w Seashi=b+nZs a:=a+nZ
. w3 semigroup % (Z ,.) (a)
g2 () Fudunr bl g Se (2, ,.)(b)
e Dl b G
(i) a=a A b=b, = a;b, =ab (@b,a; by €Z,)
(ii) va,b€Z,=>ab €Z,
(iii ) associativity (Lsébﬁ‘ )
gl ()
a=a, A b=b;=a+nZ=a; +nZ A b+nZ=>b, +nZ
= a;—a€nZ Ab;—beEnZ [Sdld 312 ]
= al—a|n A b1—b|n
= 3dr,s€Z; a—a=nr A bj—b=ns
= a;=a+nr A by=b+ns
= a;by = (a+nr)(b + ns)
= ab + n(br + as + nrs)

= a,by =ab+n(br+as+nrs)=ab+0=ab
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a=a+nZ,E=b+nZ€Zn
=abe{012..,n—1}
ab €7, > palslsasia.gsabanas: s sl
Copagia.ssa.b=>nas; s ae
ab >n = 3q,r €N;
ab=nq+r 0<r<n [division algorithm]
sab=nq+r=nq+7=0+7r="7
= ab € Z, [0 <71 <n]
&g (iii)

b;
(b.c) =a.bc = a.b.c =ab.c = (a.b).¢

L e adsl N o2 ssa B yige s Gigd (D)

s>a€f{l2..,n—1}
= gcd(a,n) =1 [4l) 22 n 453
= 3Ar,s €Z; ar + ns =1 [ Euclidean algorithm |
>l=ratns=7ra+ns =7.a+ 0.5=r.a

LA Y S T S Jal
Al mn oS g (Olaiale) Gy 298 9 (Z),.) Sl
L6 1 =14nZ raic Cuie 78 3 S5
dabpw e Ayl w4 2GR s S laiay (77,)) 1 Ja
4 0522=0 2R yus R (Z],.) e 2=é 3.21
AN pasSan 2158 gl eoas i (S (Z5,.)

Wl NI =1

[FOIIE T PNy
Nl o1 roi| rol
1| ot ot Lol

SRS GRS 4(Z,,.) 2 (2.8)°)7 sl idba
Ja
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(2. 6)3)1 ((12)*)1=

7+ 59)1=(O0+ 5
5.5))1=((3.7 +4).5)1

=((0 +4).5)
=(4.5))1 =(20)t =(6)1= 6
L
((2.6)°)'=(12)° =(5)°=(5)".(5)".(5)" =3.3.3
=27 =21+6 =0+ 6=6
T ) WY IS a4y wsSae 55 6
6.6=36=5.7+1=0+1=1=(6)"= 6
53=15=2.7+1=0+1=1=(5)"= 3

:3.21 (s
el (Uladale) G (g S AR ghu g3V 3 waS (@)
. (ZZ'-) ’ (Zip-) y (Zy, ) gl (Zy1,+)
(Z,,,) % ((2.8)))2 5 ((2.6))2 ((4.6)2))* (b)
sy S
Gy S lliie 4280 5 S 1 ( Cayley theorem) 3.23 4nkd
@2 (G-lsom ) <59 58 = 8 s (Symmetric group)
2 gy oSkl 4y (§(G), 0 ) 3 s 8 2 (G,.) &S S
(S s o G adn (g3 35a 50 (S S(G) 4 H S o A

G =H =
Pg 2o AE G 2pise. ¢ paie Guicde 5l @85 (G,.) @ed
Lot (S0 4 1l Y

0,6 — G

X— a.x
bijective s ¢,
4SA
X,VyEG

0, (x)= p,(y) 2 ax=ay 2alax=alay
>ex=ey =>x=Yy>= @,Iinjective
yEG
x:=aly
Pa(X) = @a(a™'.y) = a.al.y=ey=y = @, sujective
‘s S(G) 4 Odiisan P Cun Gy i
S(G) ={f:G—->G|f bijective}

-1
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2 paic e 5l 3@y 8 n Aed @S i salis §(G) 4350 s
wéﬁ@@b&m‘}”dw}\ _odc__ati id 2
F:(G,.) = (S(G)y)
ar— @q
(S Canpd ot oy e G o0 Sl @ 4n 4S5 A
:G-Hom & F
e Shasiabe g heG o
F(g.h) =F(g)°F(h)
F(gh) = @gn
Pgn(x) = (gh).x = g.9p(x) = @4 (Pr(x)) = (@g ° @n) ()

= F(g.h)=F(g)oF(h)=F isG—Hom
F(@)=F(h) = ¢5= ¢on = ¢(x) = @py » VX EG

>g.x=hx ,Vx €EG 2g.x.x 1= hxx1=>ge=he

= g=h = F injective
(e se e Ha G F ki G o (eead) image s

H:=F(G) < S(G)

2F:G — H JS(G)rqs S H 44uni2 4 )l
G-lsom om 58 2 8 2 §(G) 2 35S G S 4adi 4 .62 G-Isom
.89
Al Cua V={1,2,3,4} 0 x "4l S8 g00 (S J% 1.3 ) 1Jba
o 8y pa3 J 9 g2V 43 (S Jgas S 4 60

AIWIN|—|*
MW=
W=D
N = |h~WW
= NDW| A~

e AR 6 1 (el Cuie Ax S dal (S s 4
2x2=3x3=4x4=1
(Y AR 4y (e Saa paie A
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»5 42 Klein four-group 2 5l g2 @38 s A d dsan o (V)
e
Cuie 4a¢ i S(V) 4 ( symmetric group ) s oS shlite 4xa2 5 e
o @ V] =4 a8 2 02id 2 (2 paic
IS(V)| = 4i = 1.2.3.4 = 24
g aliga¥e )l g =1,2,34 2. ralic 24 w5 K §(V) Sx
@V —V
X— ax*xXx
o, (V) ={1%1,1%2,1%3,1%4}={1,2,3,4}

e, (V) ={2%1,2%2,2%3,2%4}=1{2,14,3}
p;(V) ={3%1,3%2,3%3,3%x4}=1{34,1,2}
o, (V) ={4+1,4%2,4%3,4%4}=1{4,3,2,1}

s plad 4y S (Y
F:(V,x) = (S(V),°)
ar— @q

FWV) ={p:(V), 02(V), 03(V), 0s(V) } A |F(V)| =4

g paie Cuied (2 @1 (V) 5162 (S(V),0) 2 58 = 8 2 F(V)

(P2 c92)(V) = (3 °93)(V) = (@4 2o )(V) = @1(V)
G Ald 4 Saa paie A3 G
V =2 F(V) i Sosasil o din F(V) 5V e ansad IS
s A I8 Y Jga S @y 8(Z5,4+) 2 :dba

NI =IOl O

I NI = =
=IO NI NI

Nl = Ol +

E
y
:

(Z3) 4 ( symmetric group ) G5 S bl 4283 i 5e
NS I |Z3| =3 4%4\5&.1)5 203 id 2 paic
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|S(Zg)| =3i=1.23 =
4 @U L..SJJ\J a_)\T:J a

I o

Yot Lz — I3
X— a+x
05(Z3) ={0+0,0+1,0+2 }=1{0,1,2}
0r(Z:) ={1+0,1+1,1+2 }={(1,2,0)
0z(Z3) ={2+0,2+1,2+2 }=1{2,0,1}

F: (Z31+) - (S(ZS)JO)
ar @q

F(Z3) = (95(Z3), p1(Z3), z(Z3) } N |F(Z3)| = 3

Spaie e g 05(Zs) 3 (S(Zs),0) 2 s S e s F(Zs)
S L6 @7(Z3) 2 oS 1(Z3)

(p1093)(Z3) = ¢7{2,0,1}={1+2,1+0,1+1 }
={0,1,2} = ¢5(Zs)

(g3 Gsas ) oom i F(Z3) 5 Zg Aedd (o S
Ly =F(L3) =
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Juad a )9l
Direct product of groups

s (1i=1,2,...,n) e€G; > ¢4ns X (G,.) 14.1 @
o pi Jga eV 4 Cuw G 24S | (g3 palic Cuie
G:=G;xG, x....xG,
={(apaz..an) |a; €G; (i=123,..,n)}
a5 4 cartesian product 2 ss55 (i=1,2,3,...,n)G; 2 G
152 w5 S 45 (Binary operation ) (il (&8 650 1Y i gl 5ol
. GxG- G
(ab)— a.b
a=(a; ,ap ,az ,. .. ,ay)
b= (b; ,b, ,bs,...,b,)
a.b = ( .by, a; .by,... ,ay .by )
: (associativity) cuald salal)
a=(al ydz ,d3 ,. .. ;an); b=(b1 JbZ ,b3 JANR ;bn );

c=(c ,C3 ,C3 4o .. ,Cq)

(a.b).c
=[ (@ 8« an )e(by by e o o)y Cpve e i)
=(a; .b; ,a,.b, ,... ,a, .by ).(¢c; ,¢c2 ,...,Cp)
=(1 by ¢g ,a3 by ez, ..., @y bycy)
=(a; ,ay,.. ,ap).-[(by ,by,.. .,by).(cq ,C2 ,.. .,Cn)]
= a.(b.c)

e=(e; ,e, ,e3 ,...,e,) :(identity) ,aic cuis
: (inverse)u«ssaa

a™! =(a7',az', .., ayt) o»sS—a=(a; ,a;,.. .,a5)°
TASA 60
a.a™t=(a; ,a ,. .. ,a5)-(a7",az", ,ah)
= (a; .a7t,a, .ayt,. . . ,a, .apb)

= (el y€2 5 e ,€p )= €
ot asi 4 58 External direct product 2 (G,.)

(GZ s ) j‘ G1 s ) @j_).—.&j:’ . GZ = G1 ={1,_1} : 4.1 dt‘"‘
(S paie Cuie 4ad 1 o g (Ulile) Qe (9 S A kS
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G

{1, q,

(1,1)

(1,-1)

G, xG, ={1,-1}x{1,-1}

_1) ’ (_111 ) ’ (_11 _1)}
.3 ds Y 4 (cayley table ) dsxs AS @5 2 (G,

(-1,1)

('11'1)

(1.,1)

(1.,1)

[1,'1)

('1,1)

(_11_1)

[1,'1)

[1,'1)

(1.,1)

['11'1)

('1,1)

(-1,1)

['111)

(-1,-1)

(1,1)

(11'1)

(-1,-1)

(-1,-1}

(-1,1)

(11'1)

(1,1)

51 Gy 2 (ext —dir — prod) external direct product » <52 (G,.)
cs20rdG =4 § e=(1,1) r=ic Cuic 4aad a0
,Ord A=3 (2 sAs4iss K0 C B A yisaSJden s 4
CospadassG=AxBxC «<.s50rdC=6 3 ordB=5

L6 90 medig palic 3 G oSS 0ordG =3.5.6 =90

A gt Sohig g £ (R, ) (R, 4) 2 s 4l :Jlia
e iy SRe ¥ hiGlwsGi=R* X R

&3(1 0) @reie Cuie a2 R* 5l R 2@ S (ext — dir — prod)
:GxG — G
(a,b) — axb
s dp eV adals a=(ajay), b= (b, b)eG 2

axb = (ay,az) * (by, b2) = (a1 b1, a2+ b2)

at=(,-a), b=, b)
b=(2,4),a=(35) s 4o
axb = (3,5) * (2,4) = (3.2, 5+4) = (6,9)
1 1
al=(,-5),bl=(3,-4)
aSA
axal=(3,5)*(,5)=(3.3,5-5)=(10)
bxbl=(24)*(5,-4)=(2.5,4-4)=(10)
1 4.1 s
S gt Sk digs S Dy 5 ARD AW J933-°(1 )

ss Gi=Dy x A2 x AW
s2aS (identity) raic cuie G2 (@)
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s S (inverse) 5=« (C,bg,a3) 2 S G4 (b)

S ordG = |G| G . Aowd s palic s G (C)

Sodd 4 o San > S o paic 4 )R SGa (d)
$s Gi= 2, XZy S35 8 0 (Z, 1) > smnise (2)

2 asS (identity) raie Cue G2(a@)

s S (inverse) oassas (1,2) 2 S G4 (b))

S ordG = |G| & . Aowd s palic s G (C)

S s Cayley 4 <52 (G,) 2 (d)

A4y S (le,.) J‘(le,+)ﬂ,~),-"}° (3)

s3 oS (identity) saic cuie G2 (a)

(b)

s Sw Xy
s S lw ordG = |G| & . Aol g palic s G (C)
14,2 (s

G, ={1,-1SR,G, ={1,-1,i,—i} S C ,G=G1XGz

G diyahal ) S8 e aill saains S (G, . ) I Gy, . ) s
SIS (G, ) 2.2 s ext-dir—prod s S (G, x) 2. e
L@3dse 4 Js (Cayley)
«s3 Gi= Z, XZ, S .63 58 5 (Z,,+) 2oas 4.3 (i
el 0 (G, ) &> e S Jds Cayley 4
3 Hy JHy slraieCuie 0 €EG 258 2(G,.) 4.1 L
(I N5 S (o B ARd 30 gual A (g3
() H nH, ={e}
(ii) Hl .H2 =G
(i) x.y=y.x (VXeEH, N VYEH,)
‘02 (3- isom c__ati Lﬁﬁy‘d\:}.}
(p: H1X H2 —)G
x,y) —x.y
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¢@ G— Hom:
X = (X1 ,%X2),y = (¥1,y¥2) €EHy xH,
pxy) = (P((X1 ,X2). (¥4 ;Yz)) =@ (X1.¥1,X2.Y2)
= X1y1 -X2Y2
OX) = @ (X1 ,%2) =%X1.X A @) = 0(y1,¥2) = y1.¥2
eX).0 (y) = X1X2.Y1¥2
=X1¥1-X2¥2 [ (iii ) 2]
= @(x.y)
= ¢ G— Hom
@ surjective :
g€G = Jh; €eH; A h, €H, ;
g=h;.h, [H;.H =G&3]
= ¢@(hy, h; )=h;.h, =g
= (@ surjective
@ injective :
(x,y) Ekero = ¢p(x,y) =e=x.y >x =y !
=>x€H; Ay leH, [y',y€H, 3]
= XxYy'eH; nH,
> x=e ANyl=e [HynH; =e & ]
= (xy) =(e¢€)
= @ injective [ Aol =8 2.32]
L2 G-iSOM 2 @ (s Cisd (S Al 4y
e, EB sle] EA > s A4 S Sses Bl A yise: 4.2 Jba
. A _palic Cuiie (g gaAl
<a>=A ={e; ,a}\ a® = e,
<b>=B ={e, ,b, b2}Ab3 = e,
G:=AxB
= {(81182)1(81 ,b),(el,bz )r(aie2)'(a:b)r(a'b2)
3B A 258 ext-dir — prod s 4 il SR e s suV G
1 GxG — G
(x,y) — x.y
O Y = (Y1,Y2) , X = (Xq1,Xp) 243l
X.y = ((X1,X2) . (Y1,¥2) = (X1. Y1, X2.Y2)
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(X,Y) N O"}m (X_lry_1)£|}*o-3~° W LR2 D e=(elie2)
s Sl (a,b2 )u—*}s\’-ﬂ s)se Jso ay JUey .o
a.a=a‘=e >al=a
b%.b =b3 = e, = (b?)"L.b2b = (b2) e,
=>e,.b=b=(b?)"!
L b? 2 esSasb o aressaal S da
A= {(x, ez)lx € A} ={(e; ,e; ), (a,e;)}
B" := {(el,x)l xEB}={(el,eZ),(e1,b),(el,bz)}
LS G qans S e idls BTYAT
o). S Gaaisns S e i B A (b eaS s Sl 4
3 dlys BT s AT o S Dl g glse
Dt Qi Al Aedllad 3,60
V X =(x;,x,) €EG; xB"'x"1 € B’
y= (y1,y2) €x.Bx7?
= 3b" = (b;,b,) €B’;y=xb'x?
:(X1'X2)-(b1'b2)-(x1_1;Xz_l)
b"=(by,b, ) EB’
> b, =e; EAAND,EB [ Aedmmi]
y=(y1,y2) =xbx™" = (x; byxi ", x,b,x5 1)
= (x1 €1 X7, X, byxyt)
= (e1,Xz bpx5 1)
[PEQAIE
X,,b, €B=x,.b, €B
=X,.b,.x; 1 EB [sr s R e f aB SA]
=y =(e;,x,b,x;1) € B"= B" normal
L SGaduesm AT s S Qs VS Je g 4y
. &Y »aic (identity) cuie €€ G §) @38 2 (G, .) 1 4.2

L;Jb).ujm‘};&-\dy-ﬁée @My)ﬁscﬁduj}!Nn, - INZJNl

( i ) G = Nl' Nz ..... Nn
o= {@ .. ay)|a €Nj (i=12,..,n))
(i) Men (N Ny.ooss Nx—1 - Nyq... Np)

={e} (k=123,..,n)
N; 2 ( ent-dir-prod ) internal direct product « <5 <G
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sx8ds (I=1,2,3,...,n)
wa .y (i=1,2,3,...,n) N; 2 ent-dir—prod 5 G 4s
@S IS JSG s Y

G= NN, ®...Q0N,
LA i S e b Y (S £ (A%D, @) 2:4.3 JLa
<b, >={b; ,b;} ,<bz >={by,bs}
3 55 <bs> 5l <bo> Gw . S b s AP aass A

<b2 > <b3 >={b1,b2}.{b1 ,b3}
= {by,b3,bz,b, } =
A2)

<b, >N<bz >={b; ,b;}N{by,bs} = {by}

.s2<bs > sl<b, > 2 ent- dir —prod s AZ?) S asi4
APD =< b, >Q< by >
_ L sAMms S e AT S s S (26, ) 4 4.4 Jha

<2> {024} , < 3>={0,3}
<2 > .0 @R (commutative ) sz, o> SR
82 dLAJj-" < 3>

<2>N< 3>= {0}

s <2 > ent-dir-prod s zg &= .63z =<2 > QR < 3> om

L < 3>
3ol e (aly)) Sl 8ASA L8 sas s S (z,.) 1 4.5 Jha
dﬁ‘\-,jdum
4e€z;,,44=16=0¢z
Dm0 yu ZF 4y palic (fﬂd)sﬂuﬂu»ﬁw\dﬁ (Z§,.) > s
z¥ = {1,3,5,7}

e J5h g Jan S aa vyl a8 o (zF,))
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W = 1| U1l U1l
=1 QO 1|

NI G| W3l = | =
Ul I =1 Wl W

N (1S 1RSI =N

RN ZE iy 4 ol @ aigs S e b (2F,.)2< 5> < 3>
s> < 5> 5 < 3> 2ent-dir-prod

<3>=1{1,3} ,<5>=({1,5}
<3>.<5>={1,3}.{1,5}={1,3,57 > =z}
<3>n<5>=1

6 ZE=< 3> ®@<5> Sty
o> S D i (S i 5 8(23,.) 1 4.5 (e
S zZE =<3>QR<T>) zE=<5>Q<7>
sl w8 zZX) 2 (Zg,.) 3 ZE 43R (z,.) 2 4.6 (o
A4 R e h < k>l <> @52 (Q,.) 2 4.7 s
(order) 4xiye ssxd 3 5l (sl palic aSAins S )b Hsm (@)

BN
< k> 3 < I>2entdir-prod 2«52 Qa4 (b)

UEPERPY

Q=<1I>Q <K>
@3l disonsl e A da Dol b 1y 1y LT, i 1402 Led
fem L gl (e A i 0 (W8
gcd(ri’rj)zl (G,j=12,...,.n N 1#]))

23 (el Sy ) R-lsom s abga¥e lk €N » oy
Y. Zrl Iy ..y — Zrlx Zl‘z X...X Zl‘n

k+r.rn.nZv— (k+nZk+nrZ,... k+nr7Z)

r = 7‘1.7'2 ...Tn
P injective:
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k+7rZ , m+7rZ €L,
k+rZ=m+1Z Kk—merl [Sdll3. 12 2]
or|lk—-m ©rj|k—-m [i=12,..,n]
S k+nZ=m+nZ [i= 12, ..,n]
S YPkk+rZ)=yY(m+rZ)
< Y injective
Y surjective:

|Zr|=r= in=1|Zri|:

Ly XL, X oo . X Ly

3 ) Al A 5hs (codomain) cessSsl (domain) mess 4 483 A
GU 2 A qumd 0.1 2 0 60 s sbus o s (el 5 palic
L 03 (Ao ) g
SSobi 4 s 23,18 (i 3) R-Hom o (Al e mia qh 15 Ll
2 R-Isoms i (S 4aasiiay, od (s sl
s JUia
n=2,1,=3,r=r1r.1m=23=6
Y: Zg — ZoX s
k +6Z — (k + 2Z,k + 3Z)
S Jle sy 4z 5 ) 52 aaln Sa 02 R-ISOM 52 &l 1) 2 A alladl 4.2
55 Qg
k+6Z,m+ 6L € Z
Y((k+6Z)+ (m+6Z)) = Y((k+m)+6L)
=((k+m)+2Z,(k+m)+3Z)
= ((k + 2Z) + (m + 27), (k + 3Z) + (m + 37))

=(k+2Z,k+3Z )+ (m+2Z,m+3Z )
= Y((k + 6Z) + P(m + 6Z))
Y((k + 6Z).(m + 6Z))

Y(k.m+ 6Z) =(km+ 2Z,km+ 3Z )
((k+ 2Z).(m+ 2Z),(k + 3Z).(m+ 37Z) )
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=((k + 2Z).(k+ 3Z),(m + 2Z).(m+ 37Z) )
= ((k + 6Z) . Y(m + 61))
S oaid ol 3,4 €Z¢ 2 dse 4 Jied 2 R-Hom s 1 S angii 4y
Do Js9 Y 4y (5 28 yise o LSl S il g yalics Zg ol Zg ¢ Z 2

Z, = {0,1}={[0]; ,[1]}

Z3= {01112 }:{[0]3 '[1]3’[2]3}

[0]c ={0+6n |neZ }, 1] = {1+ 6n |nezZ },
[2]¢ ={2+6n|neZ },[3]¢ ={3+6n|nezZ },
[4]c ={4+6n |neZ }, [5]¢ = {5+ 6n | neZ }

Y(B+6Z)+ (4+6Z)=¢Yp3B+ 4 =yp(A)=9(1+6LZ)
=(1+2Z,1+3Z)

W(3+6Z)=(3+2Z,3+3Z)
V(4467 )= (4+2Z,4+37)
W(3+6Z) + Y(4+6Z)

(342Z,343Z)+ (4+27Z,4+3Z)
(7+2Z,7+3Z) = ([7],,[7]3)
([1],,[1]z = (1+2Z,1 + 3Z)
((3+6Z)+(4+6Z))
Y((3+6Z). (4+67Z)) = v(3.4) =yA2) = ()
=yY(0+6Z)
=(0+2Z,0+3Z)
Y(3+6Z) .Y(4+6Z)
(3+2Z,3+3Z). (4+2Z,4+3Z)
(124 2Z,12+3Z) = ([12],,[12]3)
([0],,[0]s = (0 + 2Z,0 + 3Z)
v,b((3+6Z) (4 + 67))

22 R-Hom o)W 3,4 €Z¢ 2> 1 4a s sl
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2243 R-[SOM 52 1) 4 sy e (62 apuili
r=rnr.1mn,=24=28
Y: Zg = ZoX 7y
k+8Z » (k+27Z,k + 47)>

={0,1}= [0]2 '[1]2}
{0,1,2,3 }={[0], ,[1]4, [2]4, 31}

= {[0 ] [ ] [2]8 ,[3ls » [4ls ,[5]s, [6]s, [7]s}
0 8—{0+8n|neZ} , [1]g = {1 + 8n | neZ}

N
N
Il
OI
=

ooN
Il
,_,._.\
L=
=
o
w
IS
U'l
O\
~

|
2] ={2+4+8n|neZ} [3]g = {3 +8n | neZ},
4]g ={4+8n|neZ},[5]g = {5+ 8n | neZ}
6]l ={6+8n|neZ} ,[7]g ={7+8n|neZ}
ASA o2 43 CaiSaly) ali 9
Y(2+8Z )=(2+2Z,2+47Z) =([2],,[2]4)
[0]2,12]4)
0+ 2Z,2+47Z)
6+27Z,6+47Z) = ([6],,[6]s)
([0]2,[2]4) =(0+2Z,2+4Z)
1,[)(2+SZ)
w4 injective 2 Y on .62 2+ 8Z # 6+ 8Z S
( Chinese remainder theorem ) : 4.1 4xxé
Dol o gual gA g2V dlac] i ge 4S

7N

Y(6+8Z )

(i)
Ty Tp, Ty € N,(ri +0(i= 1,2,...,n))
AN(ritn(Lj=12,.n),i#j)
(gcd(ri’rj)zl (,j=12,..,.n AN i#]) =)
(ii) apay ..., ay, €L

AkeZ; k = a(modr;) (i=12,..,n)
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a;+nZelZ, (i=12,..,n)
(ay +Z,a; + 5L, ..., @y + L) € Ly X L, X oo . X Ly
223 (surjective) —aiSiia ) gu @6 g2V 2 Jadsse S lad 4.2 4

l/):Zrl Iy ...I'p - Zrlx Zrz X""XZI‘H
m4+nr.1m..1mL— M+nrnZm+nrZ, ... m+nr7Z)

ik € Z;
Yk +r.rn..nZ) = (a, +nZ,a, + 157, .....,a, + 1, Z
Ll Cyaia h Aa Al

Yk +r.1y..1rZ2)=(k+nrZk+1rZ,....k+n7Z)
IS Aagl 4y

<

k+rZ=qa+nrZ (i=12,..,n)

= k = ai(modri) (i=1,2,...,n) [ LSA“‘AJLA-‘SS‘Iz-J]
sasa 0 K Usd 450 s (Al L Gy (93 o0 a1 4n S ALA LAl
0d

:solve equations of congruent classes
(J> si¥aaad sudlS L)
Chinese remainder 2 W Ja 2553 5lee congruent classes -
5sS ool 43X _uoad
0% PACEPUPRN P
X = a;(modry),X = a,(modr,), ..., X = a,(modr,)
Ty T2 v, Ty EN; gcd(ri,rj) =1 (i,j=12,....n AN (i #])
a, ay ..., A, €L

1508 Ja 4yl i 4558 GV S dlaa ) 5
r
T I=T.T9.T3. . Ty L, Sii = — (i=12,..,n)
i
195S edn o yu geal A GXVY k; € Z o)
ki.s; = 1(modr;) (i=12,..,n)
> 4 euclidean algorithm 2 o csaged( 7y 5;) = 1 43 48
DS Ja gaY kel Y S
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Elki,miEZ; ki.si+mi.ri=1 (i=1,2,...,n)
ki=k;.s1.a; + ky.s5.a, + ...+ k,.s,.2,
(e Y G K4 1Z 2 Ja gi¥alaa gl ) g0
X={k+r.nneZ}
1508 1 da shalas iV ) 1Jla

X =1(mod 2) , X = 2(mod 3)
il
aq =1,a2 =2
™ =2,T2 =3
r=rm7.1r =23 =6
6 6

Sl:rilz E=3’SZ=:_2= §=2

})S\..\.uo).u)m\};&m‘ﬁd kl, k2 EZL}QJ‘
k;.s; = 1(modr;) = k;.3 = 1(mod 2)
k,.s, = 2(modr,) = k,.2 = 2(mod 3)

> 4 euclidean algorithm 2 o csaged(ry s;) = 1 43 48
oSl Jgo a4 ky o Y S
Elki,miEZ; ki.si+mi.ri=1 (1=1,2)
gcd(2,3) = gecd(3,2) =1

3=12+1
2=12+40
1=3-12
ky.3+m.2=1
k, =1

k22+m23:1
k, =—1=2 [1+2=0=2= —1: <4 |

k1=1,k2=2
k=k1.Sl.al+ kz.Sz.az =131+222 =11
K+r1rZ=114+6Z=16+5+6Z= 0+5+ 6Z
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160 Jg9 Y 4y S Ja 5i¥alae
X={5+6n|nez }

SR 6254+ 62=17d> 2ebin =2 2d 4 b
17=28+1= = 17 = 1(mod 2)
17=3542= =17 2(mod 3)

P58 1y sl a5 e 1l
X =2(mod3), X =3(mod5), X = 2(mod?7)

il
a, =2,a, =3,a3 =2
£} =3,T2 =5,T3 =7
ri=r1n.1r.13 =3.5.7 =105
S1=—="2=35,5,=—-=""=21, 53= —= “==15
T 3 T 5 T3 7

:3}5 \J.t..ga‘)u_g.a.a\);ggmyd kl, kz, k3 EZU“‘}\

k;.s; = 1(modr;) = k;.35 = 1(mod 3)
k,.s, = 1(modr,) = k,.21 = 1(mod5)
k;.s3 = 1(modr;) = k;3.15 = 1(mod 7)

>4l euclidean algorithm 2 oy «s2ged( 7y 5;) = 1 42484

S Jaa g 4k sh VS
Elki,miEZ; ki.si+mi.ri=1 (1=1,2,3)

k135+m13=1

35=113+2
3=12+1
2=12+4+0

1=3-12 =3-1.(35—-11.3) = 12.3 - 1.35
ky=—1=2 [142=0=2= —1: 54 ]

k221+m15:1
21=45+1
4=14+0
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1=21-45=121-45= k, =1

k315+m37=1
15=27+1
7=17+0

1=15-27 =115-27= k; =1
P LENR
ki =2k, =1,k;=1
k=k;.s;.a; + ky.s5.a, + kz.s3.a3
= 2.35.2+1.21.3+ 1.15.2 = 233
k+rZ =233 + 105Z = 2.105 + 23 + 105Z = 23 + 105Z

160 Jg9 Y 4y S Jad iV alas
X ={23+105n | neZ }

482 632341051 =128 d~> 2ein =1 24 Jba
128 =423+ 2 = 128 = 2(mod 3)
128 = 255+ 3 = 128 = 3(mod 5)
128 = 18.7+ 2 = 128 = 2(mod 7)
323 +105.(=1) =23 — 105 = —82 Js 2osdn=—1 2

aSA
—82=(-28).3+2 = —82 = 2(mod 3)
—-82=(-17).5+3 = —82 = 3(mod)5)
—82=(-12).74+2 = —82 = 2(mod 7)

(S Ay (S K050 (5 ) 58 alaa pu A0 s s 1l

SoxS S B (K832 sy S 3 ki as

Lﬁ)ﬁiégujbdﬁu1u‘g§joﬂ4)&§4&

@GS A Bl o RLE F Ly (g5 0 % 7l 4S

Lg:ﬁ)é\é@&@ﬁﬁﬁ\qﬁmq%dﬁwh

;L;)&dut__;wuyvsgsmmdg‘wkwﬁuﬁwagss}}g«s;d;
k = 2(mod3) , k = 1(mod 4), k = 0 (mod 7)
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aq =2,a2 =1,a3 =0
1] =3,T2 =4,7‘3 =7
r=1.7.13 =3.4.7 =84

rT.Ty. T3

S = —=——"—"—=17,.1, =47 =28

1 " " 2:13
Ty Ty

Sy= —=—"-—=1,.13 =3.7=21
T T
Ty Ty

S3= —=—--—7—=1,.7, =34 =12
T3 T3

:jﬁ\dﬁ:by)m‘jiéﬁyﬁ kl, kz, k3EZ o)
k;.s; = 1(modr;) = k;.28 = 1(mod 3)

k,.s, = 1(modr,) = k,.21 = 1(mod 4)

k;.s3 = 1(modr;) = k;3.12 = 1(mod 7)
> 4 euclidean algorithm 2 os csaged( 7y s;) = 1 43 48
oSl Jgo a4k o Y S
Elki,miEZ; ki.Si+mi.ri=1 (1=1,2,3)

k,.28 +m;.3 =1
28=93+1
3=13+0
1=28-93 =k, =1

k221 +m24:1

21=54+1
4=14+0
1=21-54 =k, =1

k3.12 +m3.7=1
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12=17+5
7=15+2
5=22+1
2=12+4+0
1=5-22

=5-2.(7-15)=5-2.(7-1.(12=1.7))
=12—-17-27+4212-27=312-57

:k3=3

k= kl 'Sl .al + kz .52 .az + k3 .53 .ag
=1.282+1211+3.12.0=77

IV ASA | ) ) SLE 77 DB (i 4z x50 77 da g S¥alaa
(S Bra Ly

77 = 2(mod 3) , 77 = 1(mod 4), 77 = 0 (mod 7)

TR L;JJ‘)_JA::JAGA}«: QYJ\.&A}&AJ
k+rZ =77 + 84Z
sopig o pm X4 4S (o Cuw da o
X = {77 +84n|neZ }
:Qgctf}nzléso‘)gohln\d
k=77+84.1=161

aSA
161 =53.3+2 = 161 = 2(mod 3)
161 =404+1 = 161 = 1(mod 4)
161 =23.7+0 = 161 = 0 (mod 7)

16 S law Ja glalea (g2 1y pal
X =1(mod 2) ,X = 2(mod 3),X = 1(mod 4)
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(cyclic groups) 498 Aluge

<A n G2r.a€eG ) srraic uie ade 2580 (G )
Lo <a> 46 A (generator) A o> g S

<a> ={a*| k € z}
¢ o (identity) saic Cuie 2 €€ G > 38 2 (G, ) 5.1 4ud
ae G

CCosa il s Ord(@) = NS (a)
(i) ord@) =|<a>| A <a>={e,al,a?..,a" 1}
(i) a*=e @ord(a)ls
s ord(@) =~4(b)
Vi,j EN,i#j =d #ad

G e gaah Sa S5 5N ge s ord(a) = N 4S8 1 G (a)
Lmat=e 2

Hi={keZ|ak=e} : 5,8 cumidphcus H2

WAL s S8 w(Z,+)H

nEH =H=+0
kmeH=ak=a"=e=a
= k+ (—m) € H
A 28836 2.620(Z,4) 25 8= 8 0 Hdedd il 320
LAt =e e mb GaSdain s gsH=nZ 2k A
:w#lsl 4 division algorithm 2

k m k—-m

.4 = a =€

me7Z

— dAq,r€Z; m=q.n+r 0<r<n

= am= (@’ = (@ .a"=ea" =a"

= a"=a"€{eat,a?.. . ,a" 1} [s2r<n ]
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G5 S{eal,a?.. . ,avwame U mMETZ s SN
NSTINED

<a>= {akl k€Z}=1{eala?.. . a1}
Sadag . ord@) = [<a> ;kwel<a>=n >SKA
A58 ()
L s (i)

ord(a) =n|s =>3q€N ;s=q.n
= a° = a9 = (a" )1 = (e)? = e

as=e = SE{kEZlakze}Zn.Z
= Jz€Z;s=nz = n|s
i<j;_s%ﬁsub)§9,5}4.gdq\qc\ﬁj, o ‘\JJM\G& 4=
JEETER
ai=aj:ai_j=e

ord(a) 3b . S ak = e > sh ke g oaslal A4l a4l
ou .S &g« 52 ord(a)= @oyahzjg*a)éa\aﬂ_@jw
b
v ijeEN,i#j = a #al
C.—‘-"-‘,-‘r‘gv;-’ eleGl }\eEG @‘L:I}‘)SDJJ(Gl,*)j\(G,):S_‘ILA:\S
.82 G-Hom 5 @:G— G, s s} (order) 4 42 @ € G .52 palic
gEY
(@) ord(¢(a)) |ord (a)
(b) @ injective = ord((p(a)) = ord(a)
33 B g 2 G-Hom &2 @ 2 A1 asd (a)
= (p(@) * 9(@) * ..
*@(a)) [ (=)l ord(a)]
=@ (a.a....a) [ (+2)sis ord(a)]
— g0(8[01‘d(a))
=g (@) =& [edgm 21 ]

ord(a)

(o))
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= ord(@(a))| ord(a) [ e b 51 ]

(go(a))ord@p(a))
= ((p(a)) x@(a) * ...
«@(a)) [(+2) el ord(e(a))]
=p(a.a....a) [ a sJs ord((p(a))]
= (aord(qJ(a)))
= e = (@)D = ¢ (U @))
AESNPCRN
ple)=e; = ¢ @@= e = g(e)
= qor*@) = ¢ [injective ¢ 455 ]
=4 (a) 25 ord(a)| ord(@(a)) wu Aead =851 0y
ord(p(a)) =ord(a) S 484 sy ord(e(a))|ord(a)
A EG 4K, ) yaic Cuic a3 €6 32582 (G,.):5.2 W
s Sy (@)= (@)™ 5 a%i=e o)
L2 GargsSepu<a>= {a|ieZ}
D g
i=0,a’=e€<a>=><a>#*0
X,y E<a>=3Imn €Z ;x=a™ ANy=a"
=x.y ! =a™ .(a™)!
=a".at=a™""
=x.yle<a>
GG Yo See f g Aedd pnd 3.2 3<a> Saaiia
LS s S (Jlpsa (S ag
35S oaldind 438 Ll (359 0 (S Jlha (53 1M
58w Qs wesSeeicf>a5)0% (a)
fo=e , fl=f,f2=e = <f>={e,f}
98w S Qg s SeeAd>5)% (b)
di=d,d?=a,d3=ad=f,d*=fd=e
= <d>={e,a,df}
s8I S(Z,) wesSee A<5> 2505 (C)
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—_

5) =5, (5)%=(25)=4,()"=45 =20 =6 ,
(5)°=6.5 =30 =2,(5)°=25 =10 = 3,
(5)=3.5=15 =1

= <5>={1,2,3,4,5,6}=7;

c S5 el 43X Lad 52 5e )l da 3 zip

8w S Qg o Qg «Dy s S =si<b>2 (a)

sl S QuasnsSed <> 5 <k>2 (b)

S lw S (Zi3.) S (Zi1), (Zg,) w08 = A<3> 2(c)

& (cyclic group) s S Host s Qa8 e b p 15, 2 Audd
NS BT
Cuie e EGI/<x>=06G >9300 (G,.)K g
GG QS e A H (pssnd gk s pmalc
L6 S H=<e> G)pa 24 H={e] @ alla gl
H # {e} : «lla aign
H + {e}=3y€eH,y+e
= 3Im>0;y=x™ [yEG 45~A]
EhAn H A A s xMEH osASl m Fa Ssld i o)
om 6 @ 8
xmeH = x™,(x™)?,(x™)?,....€H
= <x™>C H
LG H S < x™ > 2 Gy ) el
h€H= 3i€Z;h=x
= 3dq,r€ Z;i=mg+7r, 0<r<m
— xl = xMa+r — ,mq , T
= x"=x'.x"™ €H [x™,xt € H 45&]
oy S HAE (Sx™E H 4 2 SasSsld i mose 4R
Lo =030 s 2 xTEH Sr<m 2508 5%
r=0=i=mq = x= (x™7 e<x™ >
=HCcC< x™>

LG S G H=<x™> o 58O
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« (generator) sl 2@ 8 (cyclic) Hoss (Zy ) @ 5.1 Jda
MR <3 > =77 st 3

ord(Z7) =\Z7|=6 , Z7={1,2,3,4,5, 6}

(3)'=3

(3)2=9=7+4+2=2

(3)2=2.3=6

(3)*=6.3=18=27+4=4

(3°=43=12=7+5=5

(3)6=53=15=14+1=1

AL A Y 72 2 palie J5 48R (1= 1,2,3,4,5,6) (3)! 2 oasd isd

L83 3>= T e

L8 L s R e A H={1,2,4}

(B =4

(4)2=44=16=14+2=2

(4)3=24=8=7+1=1

<4>=H Saaii4
G Sl dins 8 e 3 ds (Z3,,.) ¢« (Zs,+) ¢ (ZE,.) > 5.1 G
SR S s
a€G 5 G-isom 5 ¢: (G,) — (Gi,*) : 5.2 (us
W) (order) 48 e Auea

G cyclic (&3 ) © Gy cyclic (s

e €G3 w58 e (cyclic) Gos 2 (G,.) =<a> :5.3 L
sdéd eN s xnord(G)=n <<, &2 (identity) raic Cuic
e s ams QoS e A p ) nhil D sa a4y, (5 arlld

L <ad > @y S e paasl ssd sslee 2 (Order)
L6 G=<a> 295 R e d g <ad > Aedd and 520 dgd
Ord(a) =|<a>|=n

= a"=e [ b SA55 0]
(@@l (1=1.2,..,d)

= ~l<n [l #d > ]
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= qd! #e [a"=e > ure SaSdginasi]
n

(a)? = e > e SaSslgs d oaslal dagiiaal gaal

= d= ord(a%) = |< ag>|

n
WA Gaos S e A G n<ad > 25)S Qb 5 e
> 5SS S An Al a8 H A4S, 55d (2 (Order)

B nwt EN oSl px8525 sSordH = |H|=d
s H=<at>

| 4x=8 fermat |

= (@)% =e
= n|t.d [4x=8 5.1 ]
n n
= Elt ﬁn P <t )
d H S<ad>

= aleE< qi > =
n n
H = (a3) u»;j.gsd|<a3>|=d=|H| 4S5 A

4 . 6y |G =24 > 258G » G=<a> 45:5.2 Jba

G ={a',a? .., a%, a* = e}

/ 24 \ /< al>\
1 <a> < az>

2
6 <&> <a>

B,

6
4
- <a>

S N\LS

A G sa i gea s Secs S e n G S Gy
2R e A IS |5, =24 Jsvar Jhe a2 am 4l gy cpat g1 S
L2330 ol

1
a
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b Gamie dhie @ > 25 S G 2 (G, .) 5.4 L
W .ean 2 (order) 4 o> s s K (finite) v 2 G4S (@)
G =7, &= .23 GIsom s & (Zy, +) s G 3
2O ma g4 . (infinite) e e G 2 (order) a8 <4S (b))
G =7 2. 62335 G-lsom zwi (Z,+) 3 G
35230 @ € G 20y s a8 (cyclic) Gos 5 G o AR T Ced
. G=<a> 2w
0:(Z,+) — (G,.)
k — a*
: @ surjective
<a>=0G 30200 a€G snoner s A 5r » G A
x€EG = 3Ik€eZ ; x=ak=¢(k)
= @ surjective
: @ G—Hom
k,r €Z ,p(k +71)=a*"" =a*.a" = pk). ()
4G 2a83.6 26 (Z,4) Y9l n e R8240 Kerg
)bl gy R e A7 0 Y S kerg b
sHsBS(neN ) kerop=nZ L5 kerep = {0}
gl (a)
ord(G) =n A <a>=G
= pn)=ar=e=a"=¢@2n) [ovll4 =8 51
= n,2n€ kerg
= ker ¢ # {0} = ker¢p =nZ
= ker ¢ =nZ
L kerg ¥ @(T) 2 Grlsom s 2a sl ((38)5e se ) 2 3.19 3

262 50 e S
_ 7 _7Z ~
Ly = /nZ - /ker(p = ¢(2)

Saiiag. 8 @(Z) = G 3b o s surjective » @ o> 48 A

(b)ass
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ord(G) =~ = Kerp ={0} [(a) ]
= ¢ injective [ o4 pai23 o ]

G =7 s2.6G-Isom » @ S4aday
‘wesd =ged(ag, ag, ...,a,) S slag,a,, ..,a, €L 5.3 4ud

a)<a,a, ..,a,>=d7Z
1, Y2 n

A 3 14,1y ..,y EZ;d =117 + T35 + -+ 13,

(b)k|a; (i=12,..,n) = k|d

ou .6 a;Z > (generator) A a; sa oslal 4 Ll 3.2 51 (@) sl

D Sl sl (Y S 1agd

< aj, a,, w,dp > = a4+ a,Z + -+ a,Z
= {Xk,sia| s € Z} .
k€Z ssomuss (Z,4) 235864 2<ayg,ay, .,a, > @A

e GRsa
< ai,ay, ..,ay >=kZ =<k >

a; €< ag,ay, .., a, >=kZ
= 3s; €Z ; a; =s;k (i=12,..,n)
= k= cd(aj,ay,...,a,)

con .k ERZ >S5 A (ag,ay, ..., ay dealB S HEe g kS

ke€kZ =a,Z+ a,Z+ -+ a,Z
= 3ry, Iy, ...,Iy €EZ ;k =rja; + 138, + -+ 14,
.69 Ag,Ay, ..,dp d pel Sy paamMASski(b)

rou m =cd(ag,ay, ..,a,)
ml|a(i=12..,n)= m|na (=12..,n)

= m|rja; + rya, + -+ rpa, =k
= k =gcd(aq,ay, ...,ay)
o ‘Lﬁ)j} (ng) ("“G “S‘)m &)j 5 si\)" Ladd dq,dp, ..,dp d‘% d"i");

b
d = gcd(aq,a,,...,a,) =Kk

95 S bl 43 (2:m8 5.3 3 .2 ged(9,12) = 3 44 1l
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<9,12>=9Z +12Z = 3Z
S Qighiadal ) H)s 5 ) & e

he9Z + 12Z = 3Ja,b € Z ; h =9a + 12b = 3(3a+4b)
— he3Z = 9Z + 127 < 3Z
he3Z = 3Ac€Z;h=3c
gcd(9,12) =3
= 3s,r€ Z; 3 =r.9+s.12 [ division algorithm ]
= h=3.c=(r9+s.12).c=r.c.9+s.c.12
= he9Z + 12Z = 3Z € 9Z +12Z
Al Sy R(Z 4) 4 dZ @y S ep » 5.3 G
3<40,24 16 >=dZ (a)
$s <4512>=dZ (b)
relatively prime 23l (i=1,2,...,n) 0 #a; EZ :5.1 &
o S c gl asiag () (Soal ()
ri EZ W s b 372 . 2s5gced(ag,ay, ..., a,) =1
DR A g0y gual A g1 dalael (i=1,2,...,N)
ria; +rpa, +--+rpa, =1

L 45& 0 (rel -prim) relatively prime ow il 9 515 Jla

9 =1*5+ 4 1=5-1*4
5 =1*4 + 1 =5 - 1*(9-1*5)
4 = 4 * 140 =2 *5-1%*9

s> relat-prime o disnd 9 o1 5 .2 ged(9,5)=1 > xS Jud
g2 s=-15r=2 «
Afijdine QEG 5 paic i e €6 5K 2 (G, ) :5.6 Lad
L. ord(a) = n . )
Vk €Z;ord(a") = gcdr(ln’k)
Cosa i .ss di=ged(nk) s t:=ord(a®) S 1
a¥* = (aM)t=e =n|tk [ =851 2 ]

n k

150



Algebra --------mmmm e il palas

AS 4S5 g3 (el el ) relative prime oom el 25 X

>G5 MEN nably (g4 b
k n k n
ng(E,a)=m¢1ﬁm|—d/\ m|€
= md|k A md]|n

dalaSe g ta o8l d=gedk,n) ov.sd md>d 244

5 relative prime eowdi mal = 5l = Ml Gy s DA Sl

. K K

el 3.3 Ju»g.gsdgh.a 3 gcd(a,%)=1 EPUERES
n . n

2 =< i) daxii 44X gadl 3 — Qb

g oSt PESINEEN TEEANTS ST d|t ne

DA b

(@)= (a")d=(e)d=e

(@)'=e 2> SNaae «:—'\ﬂsﬁﬁﬂt=0rd(a’?@&ﬁ
LY t < 3 o8 LGS

[sS Al 4
kY —p_n__ n
ord(a®) =t = d gcd (nk)
s (SOl s 8 G ={al,d? ...,a** =€} > ys 5.4 Jha

al eG

<a®>={d3a5a%a'?al a'® a2l a2t = ¢
a5l gl ord(< ad >) =8 . 028w s S e p< g3 > o
1483 L ord(a®) =8

a3,a3.a% = ab = (a®)? L a%.a3 = a® = (a3)3
a®.a3 = a? = (a3)* . a'%.03 = ¢ = (a3)°
als.q3 = g18 = (g3)° | al®.g3 = g2l = (a8
a?.a% = a®* = e = (a®)®
15y K=6 piseas
(a3)6 — a18
q218 — 418 418 — 436 — 424 412 — o 12 — 412
318 = g12 418 — 430 — 424 46 — 46
Q418 — 4318 g18 — 46 418 — 24 —
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ord(a®) . 8

36\ =
OT’d((a ) ) "~ ged (ord(a3),6)  ged (8,6)

8_,
2

Al n o> 65 w8 (cyelic) sus m<a>=(G,.) 45 :5.7 Lad
3o Wk €Z oyl sa 4, g (finite order) 4
LGS (B o2l

G=<ad'> o gcd(nk)=1

II:IIQJ;
<a>=G=<ad*>=ord (@) =n

P duly 50 Sl 564

kN n
ord (a )—gC TS
n n
:n—gcd(n’k) = gcd(n,k)—;—l
";"
(o dl o il kY = 5 Jaly S Lad
e o 8l ord (a¥) a0 > Jdsddals Sl b6 4
J ky — n =E = =
4t 4 ord(a”) Ao =1 Snows srged(n, k) =1
<aft>=6 S

2 palie (generating) ds Jsigh VS Al bl 57 20 1 @l
> 8 G (Zyy,+) I Jhe 58 N s 8 (Z,,4)
LEJ Ord(le ) = 12 }‘ le =< g >

(keN|1<k<12 A ged(12,k) = 1} = {1,5,7,11}

5 )l k=73uﬁ55.735,g\)¢9})4.¢53a=géd&gag@&)&
o _5456.-39143
(5))=5+5+5+5+5+5+5=35=11 = <11>=17Z,,

RN Gxa 7, =<1> =<7> e
sSlw Mi={ae (Zg,.) | <a>=7Z5} 50 b
NG 8 s wZE o> VS Db o Sl 4

L <3> = I
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0w Ord(ZE ) =4 24 A

{keN|1<k<4Agcd4k)=1={13}
o)l k=3 2l 57 255 yiseor @a= 3 Jhegad aaiA
35S Gk

(3)°=3.3.3=27=2

M={23} 3 <2>=<3> =7 o~
5.4 Gaal
sS\w Mi={fae(Z},.) | <a>=7;} (a)
sl Ni=fa € (Zyy,+) | <a>=7Z,,} (b)
. @ aing S Ll 4iss S (cyclic groups) s :5.8 Led
> s AEG #abow. 6558 G 2 (6,.) S agd
= <a>= G

x,yeE<a>= AmneN;x=am™ A y=a"
:x.y:am.an:am+n:an+m
=a".a"=y.x
= G commutative
sk a5 4 Euler — function &G ¥ o)l n € N 2:5.2 iyl
@:N —N
n— pn)={keN|1<k<n Agcd(nk) =1}
S 1< k<Sne et Kds #ad s p(n) G
Jsay i 2.5 ged(n k) =1

n =1

p(D)={keN|1<k<1Agcd(1,k) =1}
= {1}l =1

n =2

@2)={keN|1<k<2 Agcd(2,k) =1}
= {1}l =1

n =3

¢3)=|{fkeN|1<k<3 Agcd(3,k) =1}
=1{1,2}] =2

n =4

e(4)={fkeN|1<k<4 Agcd(4k) =1}
= (1,3} =2

n=>5



©(5)=|{keN|1<k<5 Aged(5,k) =1}
=1{1,2,3,4}| = 4
n==6
©6)={(kEN|1<k<6 Agcd(6k) =1} =|{1,5}] =2
n="7
e =|{keN|1<k<7 Aged(7,k) = 1}]
=1{1,2,3,4,5,6}| = 6
n=38
©@8)=|{keN|1<k<8 Agcd(8k) =1}
=1{1,3,5,7}| = 4
by e (ads)) Gl pas ¢ gaS Jad
pp)=HkeN|[1<k<p-1}=p-1
S Buadhly gedkp)=1 D1 <k<p—1 dsr44
spalic madle s NG S G s (order) 4six4S: 5.9 Lad
L2 @p(n) ssbae « 2 G 2 (generator) A o> el
4wy 43X w23 (Euler function) @ (n) 25 Ll 5.7 2 gl 1 &igd
WESE
(generator) A3 S @y 8 A0 (Zyg ,+) L dsmadban
482 634 jed g palic
n=10
©(10) = {k e N |1 <k < 10 Agcd(8,k) = 1}]
= 1{1,3,7,9}| = 4
4 iy palic (generator) sidse by s (4lyl) Sl pas
WS (Zs,H) 2 s dnqdian s o) =p—1 & (Zp,+)
s (5)=5-1=4 b w.grae Sl 95 | gt Sk
0(5)=1{1234]=4 )
Z:=<1>=<2>=<3>=<4>
> Euler function o5 @ ) 4 ©sbue 48 e 5 S (Z5,.) 2 10
(S e T4y sy 4eslaa 5 palic gl e d el 551 02 5.9 L
<2>=<3=2=(Z.) , <1>=+#1Zk

Aach nsl m ga¥a 5l s S el 43X Fuler function 2 :5.5 (Al
Sk
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(a) m=[{a€ @+ )| <a>=Zy,}|
(b) n=|{ae@;.)[<a>=173}|
:5.3 @
ZX = {a € Z,| a:invertible (%518 (s sSae )}
&b a5 4 prime residue class group 2 5 s2 @3S s(Z3,.)
: L . e Euler functionss @ sn € N :5.10 Lad
(@) 7% ={k € Z,|gcd(n k) = 1}
(b) |1Z%] = ¢(n)

: (a) @b
keZX =3reZ,; 1=kir=kr
= 1—kr € nZ [3eddld 5122 ]
= 3ds € Z;1 —kr =sn
= 1=rk+sn=gcd(n, k) =1
= 7% c {k € Z,| gcd(n, k) = 1}
s Gl

k €Z; gcd(n,k) =1
= 3Irs€eZ;rk+s.n=1
=1=rk+sn=7.k+ 5.1
=7.k+35.0="7.k
= k invertible = k € 7%
7% = {k € Z,| gcd(n, k) =1} DS Aadi 4y
LA awYa4AX ¢ Euler function 2 &b (b) 2
prime residue class group «is s S Y e 4l Ll 5,10 2 1Jba
NN
25 = (k € Z,| ged(1,k) =1} = {
=k € Zp| ged(2k) =1} = {
75 = (k € | god3,0) =1} ={
f=(k € Z,| ged(4,) =1} =
25 = (k € I| ged(5,k) =1} ={1,2,3)
lan 43 995 S prime residue class ¢3Y Ae 4 Ll 5,10 2 :5.6 (uual
EEBS

13
1}

1,2)
1,3)
7.3

(Z)f@-) ’ (Z)z(oj-) 3 (2)3(6;-)
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Juad

(Ring) 43ls

il 3oy sl a3V S (R, D ,0) s> sl s 16,1 Al
Sk o5 4 (RiNg)

.s> (commutative group) <58 b w0 (R, D) (1)

= ‘" ki (associative) sasil (2)

(a®b)Oc = a®(bOC) (Va,b,c ER)

&= @-O Lk (distributive) x5 (3)
Ya,b,c ER
a®(b®c) = (a®b)D(a®c)
JAN
(b®c)Oa = (hOa)®(cOa)
3y paie (identity) Cune 45 “@" i Sy p4S
.ot a4 Ring with identity
I, €ER; a®Iz =a (Va€eR )

Sk a4 (UNity) 35 3 4" Lkl pale Cuie
Jis (commutative) Sy s aiyy sy s ad ‘@ kiR as
S s
a®b = b®a (Va,b € R)

My sy g assy) L (R +,.), (Q+,.), (Z,+,.) :Jba
> Say s o (Zy, 4, L) Sl 231" g paie (Unity)
&Y 1 2 paic aaly
Lodgq S (R+,.) s (RO ,0) 2@ by s 1o
Qa2 psSae gl ‘07 4 maie Cute 231 4l LSy gt hle o
o @ 4 @2 oesSaasl 17 4y seaic 4" Ll sde e -3
bl S8 e Y i 7, =1{0,1,2,3,4,5} :6.1 Jk

Ring e sd dass S s 4 >4 (Binary operation)
L2 (4dls)
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1 6.2 Jha

slo|1]z|3|3|5
olo|1|2]3]2]|5
1|1|z2[3|2]5]0
2|23 ]a|5]0]1
3325|012
ilza|5|0|1|2]3
5|5|0]1|2]3]|1
.10/1/2|3|4|5
0(0[{0|0[0|0]|0
1/0(1/2[3|4]|5
210/2(4]0|2|4
3/0[3/0[3/0/3
410(4|2|0(4|2
5/0/5(4(3|2]|1
R=(0,1,2)
s s ¢ <y 23 (binary operation) 4dail ) (JsS 050 Y by sk Ry
.lof1]2 ol1l2
olol1
ololo]o
1]1]2] 0
>3 o0l 1 11012
210121

.03(4535) Ring 65 (R ,+,.) @JJSQ}:’S}&LSYJSo)&@LJQ
GA A paic 2aly S

M:={ aemM@ER)|4= (" )} 6.1 e

d

3l S8 e aisaill b2 (Ring) 4dls o (M,+,.) o> S Sl
LS Pd ) pan suSg i
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Si={2x+1|xez }, R={2x |[x€Z}
@488 (S,+,.) o (Ry+,.) U
sy s ol g €R 2.2y 2 (R+,.) 16.1 Lad
2 G- End

pa:(R; +) — (R, +)
X— ax

XY ER p,(x+y)=a(x+y)= ax+ay
= pa(x) + pa(¥)
497 Dl e Cule 3 0 (“07) Lt o) Sy s (Ry+,.) 1 6.1 Akl
LS}S Oua Lﬂgd\é\ Lﬂgd.'m‘}(\d o_)\T:\S a,b,ceR 2» .
0=0.a=a.0 (1)
a.(-b) =(-a).b=-(a.b) (2)
(-a).(-b)=a.b (3)
a.(b-c) = (a.b) - (a.c ) (4)
tasd (1)
(a.0)+0=a.0=a.(0+0) [ Coald s ]
= (a.0) + (a.0)
=a.0=0 [ el 281.22]
@S 0.a=0 & HSuaSDgide g g
1 (2) wad
0=0.b=(a+(-a)).b =a.b +(-a).b

a.b=(-a)b = .s(ab)(inverse) sssx (-a).b e L
P Sedliin 435 (6.1 L) &l py 2o sy 1 (3) cisd

(-a).(-b) = p_a(=b) = —(p-a(b))
=—( —a.b)=a.b

S e 4AX g s A aily 1 (4) Qg
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pa: (R, +) = (R, +)
b—cw+— a.(b—c)
a.(o—c) =py(b—c)
= pab —pac  [G-Hom =+ & P, “a ]
= (a.b) — (a.c)
4 2 €R 5.5 e paic (UNity) 252 Sa; (R+,.) 1 6.2 iyl
sald ¥ adic SR eSS disinvertible b s unit
(55 S 5 0
c.a=1 A a.d=1

(S5 ol pusSaa (i gl a8 U g g

Jlia

(invertible )y ussae 1 5 -1 @il S S0 (Z,+,.) 2 (a)
.o

Unit (ealie dsi)siaad padd e SSu,4 (Q+,.)(b)

(S e Saa S

A4 (invertible )y usSae ma Su, (2Z,+,.) 2 (c¢)
A4 paie (Unity) )y 4SS

2 5 5 1 (invertible) »y ossSan (S Sy (Zg,+, ) 4 (d)

@ 453 2 1 oS (Zg,+, L) N S

R4 R,4S .62 0 m paic (UNity) )52 Sa) 0 (R+,.) & 6.2 4uzd
L Lssomale (invertible) e (usSae 1o cun (S
a €ER,,beER,(b.a=1V ab=1)=beRr, (1)

.89 ‘T’JJS ] (Ru ; ) (2)

(1) s
ba=1 asS0=ai a€R,=>3IcER;ac=1
tl LS Qe
b=b.1=b.(a.c)=(b.a).c=1l.c=c
=>ab=ac
=>b.a=1=ac=a.b=>b€ER,
(2 )@sd

s a.a ERyybe a2’ €ERy 2 (& Dl b s adaly g8 g0
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a,a €Ry

= 3b,b,c,c ER;b.a=a.c=1 A b.a=a.c =1
(a.@").(c.c)=a.(a'.c).c=al.c=ac=1

(b’b).(a.a") =b’.(b.a).a’ =b’.1.a’=b".a’=1

> a.a ER,

1.1=1=1€R,

Va€ER,IbER;a.b=1=>b€ER, [ A4 (1)2]
S AdpSas A1 Hhih a Jregay
Su) £ A3R.p#RCS R S, »(R+,.) : 6.3 @yl
$s Sy s (R +,.) omaS wsahasi 4 (subring)
oy Jasd g8 a¥ha by p£ESCR Sy o (Ry+,.) 6.2 L
:LﬁJdJLM

2R 2 (Subring) Su, =4 2SS (a)

sAe Wl x,yES »2(b)

x—y€S (i)

x.y €S (ii)

e Syl 4 Shy, o B A 2SS A L (B) & (a) wud
3 (R4) 2@ 8628 0 (S, 4) e .2 Sa) e (S,+,.) o

RIS SA S Bras (i) .o SOva (i) Aol pnd 322
LN palA b G 4 Sy
bl 4 (28 3.2 2 (S, 4) o> 8 4 adl (i) 21 (@) € (b) s
L6 (Ry+) 2 S = A
Al o A R0 Buki 0 QB S padee” o Al aagii 43X (i) 2
o S Bua (S R4 ualsa (Distributive) =05 51 (Associative)
GRS, = A 0 (S 4,.) Safiia e SGuaan SS4
s JUia

@ (R 4+, )28 =% (Q+,.),(Z+,.) (a)

wlyagpsn. G (Z+,.) S = A4 w (2Z,4,.) (b)

“ 1 , )*449
ek 28, o A {0} ) Rald 4 5 Sa) 2 (R, +,.) 45 ()
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&2 M(nxn, R) 2K, =4 2 M(nxn, Z) (d)

: 6.3 Jha
G i e eV 4 dus Sa(a)

s={ (¢ )] aem)

62 oS e g2V (g paie g A I M(2X2, R ) 2 Sy e 8 2 S

(0 o

@H_LSJJ@QJ;‘jJM(zxz,R)J&JMJAA..\.GJA\}SJ
1 O
(o o)i (o 1)
(b)

M:= {4 € M(2x2,R) }, S:= {A € M(2x2,R) | A = (_ab Z)}

A 62 S (M,4+,.) 4 subring 2 S
a=(" Z)':z(—cd Cé)es o
a-e=(5 )= (5 D= (G35 asdes

aB= (4 D)8, 9= (G0 S )es

62 S (M,+,.) 4 subring » S A4l 6.2
G (R+)2es S e bl Sy 0 (R, +,.) :6.4 s
Do S s asi 4 feft-ideal -
VreER,Va€El=>r.a€l ( LRCSI =)
;4SS b a g 4 right-ideal 21
Vr€ER,Va€El=>a.rel ( LRSI =)
. s right-ideal S left-ideal s I 4S .S disideal < |
S sie 3 gansl e GBI Ri=M(2x2, Q) o3 s sipise t 6.4 Jba

DL S o

161



.Y (commutative ) @5 S b w (R+)  (a)
VALBER =2 AB€ER (b)

LS Braa pal i Sy ()

Q

0-(y o} E=(5 )

Doshn JSE a4y G L el

L:={ (8 Z) IpgeQ }

145s > R=M(2x2), Q) > Leftideal » L
0 O
(0 0) €L

a0 800 9e

0 a+c
0 b+d

A= e

@ (R+) 28 e b mdedd pal 312 (L+) o
:4.5!.%_)..1:1:_5»\.9

:>A+B=( )eL

D= (’Z‘ Jt’) € M(2x2,Q)

.a=(2 D)0 D=(5 2r)er

L6 S M(2x2, Q) 4 Left ideal s L o
eV s (aKXu,Ji 6.4 2 R ) SCR 2:6.3 %

103 (5 gk Ry yad

— Xy
S.—{ (0 Z) | x,Y,zZ€Q } |
2 Ra( KXy, =8)Subring » S > u S sl
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6.4 Gaal

M:={4eM@2,R)[4= (2 Z),a2 +b2 £0 )

G Shy A e, G gl 4 gaasks (M+,)) U

W ISR 5 ompaic 1 alsa ) 5 (R, +,.) 1 6.3 dnd

(MI#¢
(2 a,bel=>a+bel

B)reR,a€l>r.a€l <—> ]

s
n - -

bd@a\jwd&_ﬁ:\ﬂdgdg‘d "< g
L;Jd\_m.}\}l 1 @cd@'ab\,}.} L5j1={0} aS :"i"&\*\f\
s T # {0} S

I+ NI # {0} =3a€el a0

0OER,ael=>0.a=0€l [(3) 2]
a€l>—-a=—-(1.a)=-1.a

>—-acl

V a,bel=>a+bel [ (2) ]

= (I,+) is Subgroup (@s A et ) [ 3.1 4xai ]
= lisaideal [ (3) ]

r e
s dbyl A R ) (Zero-ideal) {0} .2 <) = (R,+,.) (a)
A dblagsSee b (NZ+) 2SS (Z,+,.) 4 (b)
V z€Znz€enZ=>nz.z=n(z.z) € nk
A gy doy) Se (QH4,.) xSy = 8 2 (Z,+,.) (C)
SE€EQ1EL ;.1=1¢Z

@3Sy s (R+,.) 6.3 lad
[wess=Nigl <. :={1,..,n} 3SR 4dl () (1)
62 dayl s e

s SR Sa) e b 2 S s dwl sl (2)
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S R4y e f pouwgai¥a(a)

S+1={x+y | x€S,yel}
R SS4edw s Snl (b)
S (R4)wesRe i nAaadlal 3112 1@l

ael, reR = ae€l; (Vie)
S r.aael; (Vig)) [ wrduy) [ &5&8 ]
=>r.ael
L byl o A [ (Sasgiig
1(2) s
(a)
u, We S+l
= JUL,WES A T Uy,WoE | ;U =Us+Us, W= Wy+W>
= U—W = (Us-Wy) + (Uz - Wo) € S+l
U.W = (Ug + Up) . (Wy + W)
=U1.W1+(U2.W1+U1.W2+U2.W2)
U . W€ S [Su) =4S 54 ]
Us . Wi+ Uq . Wo + Us . WoE | [ dbd\ld\S\;]
Gl Sy o A Acdld 6.2 2S84 5l U WE S+l (S aasii 4y
:(b)< s
weSnNn|l = 3aeS A3Jbel;w=a ,w=>Db
= W.X =a.X=Db.x (VXES )
= W.X =a.XES A w.Xx=b.x€ |
=>W.XES NI
6 Sadwl s SNl Sasiiag
QPiR - S 8,050 (S,+,.) S (Ry+,.) 6.5 ua

J b g asia ( R-Hom) Ring homomorphism
SS9 Bua W8 sa¥ o g, b ER »
p(a+b)=¢ @)+ ¢)

A
@(a.b) = p(a).¢(b)
sl aa Ja pl (a3 (S iy pali Ay o 30 ) ge e 98 S 0 (S S g 4y gl
S
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(p(lR) = 1s
35S B pa adX L jd 5 0 4ty yise S
Ring Monomorphism 2 <« injective » R-Hom 45
Ring Epimorphism 2 s surjective 4S <2 4 (R-Monom)
4 (R-lsom) Ring Isomorphism 2 ¢ bijective 4S5 (R-Epim)
c Sl a s
4S 5.4 a5 4 (R-Endo) Ring Endomorphism 2 R-Hom s
2 ¢ s bijective S @i e 4> R-ENdo .65 S=R o
.l a5 4 (G-Auto) Ring Automorphism
s Og 5s0g salic Cie Sy SRS
@(Or ) = Oy
SA
®(0g) = ¢(0g + 0g) = @(0g) + ¢(0r) = ¢@(0g ) = O .
AUVl sl gl 2 S w(C 4. ) Do s 1 6.5 Jua
23 R-Hom

:(c,+,.) » (c,+,.)
z=(x+iy) P Z= (x—iy)

Ja
z=x+1iy ,z;=x1 tiy; €EC
= . G-Hom s a8 “4+7 5hig (o dadsse (S B 2.1
p(z+z1) = ¢(2) + ¢(z1)
HESRERY

0(z.2,) = go((x + iy). (x, + iY1))
= @(xxy +iyxy +ixy; — yy1)
= @(xxy — yy1 + (yx1 + xy1)0)
=xx; — yy1) — (Yxy + xy1)i
@(2).9(z1) = (x — iy). (1 — iy1)
= XXy — IyX; —IXy; — Y%

= (xx; —yy1) — (¥x1 + xy;)i
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0(z.21) = @(2). 9(z1) Sty
e sl iy 28wl (s 1 (g0 Al Sy (Zg,+,

. )= . 6.6 Jha
@: Ly, — 1L
x—x.x=x)?°
S .6 R-Homs @
X,y € Zy
p(x+y)=( £+ y)*=(2)’+ 2y + ¥+ (§)

O Sl gl (g3 o520 i 2
y=0 ;s

= XX+ ¥y = o)+ ()
£y=1 dlaas

AN y=1
p(x+y)= (0D+ x.y+ x.y+ (y)?
=12 +1TI+11+(1)2=4=0
p(xX)+ @ (y) = (X)2+(y)?
=1.14+1.1=1+1=2=0
) S A4
p(x+y) =0=¢p(X)+ ¢ (Y)

¢ (xy)=(xy)*=(y)*. (%)
= (X)2. (7 )2 [ ek Zy 1455]
=(x). 9

s> R-Hom 5 ¢ S 4aiiia
83 (5 9 iyl i (oY ab S,y (Z 4, . )41 6.5 (e
Q7 — L

X — 2x

s> R-Hom 5 ¢ U
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(a) :Z3 — 13
X —X.% =(%)°
(b) @23 =,
X +—Xx.%.%x=(%)?°
6.7 i
23 R-Aut o5 & LﬁM\J\J@G‘QSQ}S(a)
p:(c,+,.) = (¢, +,.)
z=(x+iy) > (x—iy)
23 R-Isom o5 a8 2Vl (a2 S (b)

R=(aeMEeR)|a=(% 1))

p:(c,+,.) ™ R
z= a+ib — (—ab Z)

a€ R 5 »=ic (Unity) =ly 2"1" ¢ KXy » (R,+,.) 6.8 (i
052 @l 5V 3 S sl 53 maie (iNVertible) Ly (e sSae s

.2 R-Aut
L.:R— R

x—axa !
54 Prime Ideal > I Juy) s .2 Sy 5 (R+,.) 6.6 <yl
o S g

(i) T#R

(i) Vx,yeER, x.yeEl=>x€l Vyel

rJla

43 bad 1«2 Prime Ideal s <uw pZ 2 S S, (Z ,+,) 4 (a)
$s2e Sl P
e ddld pZ a4 e p=38 Jdpeadiwasa g2 pZ+Z d>
AESECRN
a,b€Z,abepZ =>plab =p|a v p|b
=>a€pZ V bEeEpZ
@ primeideal s pZ S 44
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(2Z ,+,) 4 .s> Prime ldeal s < p2Z 2 S Sa) (Z ,+,) «
ASA g 4 JL a.g\‘)..;ﬁ Jual 47 J‘_éa_i_u)
2€2Z = 22=4€4%L
2 ¢ 47 S
R-Hom s @:R > S o 4%, (S,4,.) 5 (R,+,.) 4S: 6.4 4uzd
TRy
LGSR s kerp ()
LS S (KSuy = A) subring 2(R)  (b)
Q) Cora 4.6 SR4a 2 5 surjective 2@ 4S(c)
LSS 4 dhy s
A OB SRaes S e nkerg gded 2x82.4 0 1 (@) @b
Y Al
rER, x €Ekerp = @.x)=@r). pxX) =¢@().0=0
= 7r.x EKerg
2 dba) s kerg (S a4
S Shs S n Imp) = p(R) el 2824 51 (b) @ss
sy gt ks

s1,S52 €EP(R) = 3Ar,r, ER; () =51 A @ (1) =5,

@(r1.m2) = o). @(ry) = 1.5,

= 51.52 € 9(R)

3> & @(R) _» (Binary operation) 4y 438 593 "" 3 2 sh Jals
.2 S 2 (Subring ) 48la e Bogn P(R) S 4niliag o . 02 Gk

A Al o yai bl o pa a db) w | o 4R 1 (C) ws
S rqu S e hnodula uaml 332 (1)) 2t (R+) 4 S
o
bepl),seS
=3Ja€l] ANr ER;

p(a) =b,p(r)=s [ Surjective = ¢ 3]
r.a€ [ [ oyl o TS5 ]
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= s.b=@().¢(a) = p(ra) € o)
b.s = p(a).o(r) = @(ar) € p(I)
L@ S dby) n(l) Sl

5 @:R—>S NI CS 48,05 (S,+,.) s (R+,.) : 6.5 dpad
.2 R-hom

S SRedM s (D& SSadwdnl

A= o

€@ (1) = @), ¢() €1
= p)+ o) =90 +1) €I
=>r+1r €@ ()
reR,r €@ ()
=>¢Tr)eS AN o) €l
=> o(M.o(m) €I [ w3dwl [5]
= @(r.r) =o).o() €1

=>r.r € )
6 S Raeduy s o 1) Saasm 4
(4c sa3a) 8Bt pige . S R4 L) ol s/Su) o (R+,.) 6.7 s
(e e R/ 4 S R4 left-coset ssie |

R/I:= {a+1| aeR}

Jwl sl 52 (ablean group) <8 has o (R,4) Sy > caat 4y ks
o A 28318 2 (R/L4) .62 S R4 s Sdu,s o il
22 (factor group) S L8 s a3 skl ) 4358 650 Y

+:R/I xR/I — R/I
(a+I1,b+1) — (a+I)+(a+1)=(a+b)+1
DS < g2t J g3 Y g3b R/T padadl yais€oga (gl

.t R/IxR/I — R/I
(a+I,b+1) — (a+1).(a+1)=(a.b)+1I

169



Algebra --------mmmm e il palas

a5 4 (factor ring) <558 a5l 6o Sy s (R/L, +,.) S 4 4
(gl
Y 4 o | 3 S i 4 An ¢ pmat SOl 4 Sy (Zg, +, ) 2050 106
(S ey 2t J g
I:= {0, 2,4}
A8 L6 (S Zg 4 du w
c 8 (g, + ) s S = hn i
(S B aa byl Y 13 e g
Vael A\VbEZ, = a.b €l
A Y (Z/1,+,.) S5 o
Z¢/l = {a+1|aeZg¢} ={1{1,3,5}}
P sa sy o Sly Hi= {1,3,5}) i aS

Ze/l ={ 1, H}
24l G H 3 GesSinn ) | mie Cuie Aaal Gl sS40 2

={1,3,5,3,51,5,2,3}={1,3,5}
H+H_{{135}+{135}
={1+1,1+3,1+53+1,3+3,3+5,
5+1,5+3,5+5}
—{221621626 2}= {0,2,4} =1
23R i (Ze/1, +) S4By 558 Gim oo alsn 55 s £
dsw ¥ 4o )l @, b € Zg 24k ) S8 o5 gl Zo /I .60
Do gy jad
(@+1).(b+1)=(a.b)+1

idse 4y ey gl Gt ol Al i) (G805 2 Zg /]

a=3,b=5 = ab+I1=3.5+{024} =3+{0,2 4}
=(3,51}=H € (ZJI, .)

OSSE (Ze [T ,4,.) 0y .65 Bra pb palic 560 padal ) S86g

G S
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: (theorem of ring homomorphism ) 6.5-A 4xzb
Gypa gy iy R-HOM 2 @: R > S 514X, 053 (S,+,.) « (R,+,.) &S
@(R) s R/Ker ¢ 4> 2252 R-Hom »&w 5 S § R/Ker ¢ >
@(R) = R/Ker ¢ iz .2 Ssasi) o
g
6.6-A 2 R/l .o |aa4ara 5l o Jw) saKer @ A4 228462
6 Sy 5N g (A 4l iy
Dot SOkt A S Y 1y gl
Y: R/1—S
a+l — @(a)
Y((@+D+B+D)=yY((@a+b)+1) [ 2=83.18 2]
= ¢(a+Db)
=@(a)+ ¢(b) [ R-Hom x ¢ ]
= Y@+D+ Y+
Y((@b)+1) [ededim 0]
¢(a.b) = @(a).p(b)
Y@+D. yb+10)
2 R-Hom &y S4aiq
: injective P

Y((a+D.(b+1D)

Y@a+1)=yYbh+I)
= ¢(a) = ¢(b) = ¢(a) — ¢(b) = 05
= p(a—b)=0, = a—bel [I=kerp 5]
= a+Il=b+]1 [ Aedd 2 3112 ]
= 1 injective

{EEWRIRY
YyEPR)ES
= IxER;p(x)=y = P+ = )=y
= P : R/l = @(R) surjective
@(R) = R/N :S4axii4
: (theorem of ring isomorphism ) 6.5-B 4x&d
ogs S S (R+,) 4dwl | o Sy e A4S as
¢ (factors-ring) «sSu L, 58 (S +1)/150S/SnT (1)
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(S+D/1=S/Sn1 (2)
(g2 <usesi Sayemdin (S+D/15 5/SNT A=)
s el Ll 6.3 2:(1) @
S SSHIedW JS4edwSNIcReSKu) e f 0SS+
@ (ring-factors ) Sw_LsS8 (S +1D)/18S/SNT oy
23 R-Hom sl ¥ Al 028 6.5-A 25(2) wsd
0:S — R/l
a—a+1
p(S)={s+1|seS}
= {(s+v)+I|seSveI} [3.114=ia ki ]
=S+ D/1 [p Guomi 4 k]
23 R-lsom &b ¥ Al nd 6.5-A
¢~ R/kerp — @(R)
a.kerp — ¢(a)

S8 4l 3192w . S S db SNTax dulsew S (1) 4

23 R-Isom @&l gu¥h Jay (68 Bra st § Sy

@~ :S/SN1-@(S)

a.kerp = ¢(a)
Sl @) = (S+D/T5 9(S) =§/SNT4ai

(S+D)/1 =5/SN1I

¢ a5 4 Principle Ideal 2 (S Sy R4 T Juyl s 1 6.8 wiya
S A5 i 5 s ) I 4S

a#0sacR ¢S, (R,+,.) 16,9l

e 4y (i auld a0y (lz.divisor) Left-zero-divisor 2 a
L2 ab=0 25233 Db£E0 b ER S b
(r.z.divisor) Right-zero-divisor s 4<ia < )sa 4. b.a=04S
L.y r.z.divisor s o |.z.divisor a4S .S dis (s auld 02)
Sk a1 4y (L auld) Zero divisor 2 4xa
a4 Ring without zero divisor 2 S, (R,+,.) 5 :6.10 s
(o S ol

n,»E€R,MNH=0=>r=0Vr,=0

L4 zero-divisor & Ji4dl pad o S
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45, (52 0y (UNHLY) 230524855053 (S,4,.) 5 (R,+,.) : 6.6 4
3l ¥ by 5 (surjective) —wiSs s sl R-HOom s @: R —> S
13 e o s i
0#1 5 (8 jix) zero-divisor 4 =S (1)
.2 Prime ideal s: Kerp (2)
1 "(2) & (1)" s
X,y ER,x.y € Kerp
= @px.y)=0
= @(x).9(y) = p(x.y) =0
S>@ex)=0V @) =0 [ Aealioyn S8 ]
>x€Kergp V yE€Kerqe [primeldeal Sq ¢ 453 ]

1ES=>AreR,e(r) =1 [ @S 2 @S ]
=> 1 & Kerg [0£1 <& ]

= Kerp # R

» Kerp > 55 Qs om0 byl o Kergp 3o 4 a8 6.4 2
.2 Prime ideal

3 zero-divisor 4 2 S (2 s 1 M(1) & (2)" @

1,5, €5,51.5, =0
= 3x,Yy €ER ;
s1=0X) A s; =) [ Ssos9 ]
= 0=151.5 = 9(x).0(y) = p(x.y)
= x.y € Ker ¢
>x€Kerp V ye€eKergp
>¢px)=0V @l)=0 [ primeideal » Kerp ]

=>Sl=0 V SZ=0

.2 (U auld) zero-divisor 4 (= S s
S Gaa 0# 1S S o8 sl Ao
Ciopa a0 =148

1=¢(1)=0 =>1€Kergp
=>R.1=R S Kerg [ Juy) » Kerg 453 ]
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2l Se spSKer =R S4aafiaqon. c2Kerg CR i LAl
S 0# 12k w grlal o w25 Prime ideal
¢ 1% aaie (unity) 215 > (R,+,.) ring b 01 6.11 <oy g
.9 4al 4 Integral domain 2 5 no-zero-divisor ' 0 = 1
b
, 7, E€R, 7. =0 =51, =0V rn,=0
L
TR €ERNM*FFOANR#0=> .+ 0
e S (C+,.) o (R4+,.) , (Q+,.),(Z+,.) s g dies
.2 ( integral domain)
integral domain S 2 Sy (Z, +,.) o s (S J5 6.1 4
L0 2 A3 412 S 2.3=6 = 0 &,
¢k a5 4 Gaussian integers 2 Cuw Y 1y 2l
Z[i]={a+ib | abe Z}cC
<2 04 integral domain s (€, +,.) 2 S =4 5 Z[i] ke
da
a + ib,c+ide Z[i]
a+ib - (c+id) = (a-c) + i(b-d)
a-c,b-de Z = (a+ib) -(c+id)e Z]i]
(a +ib).(c+id) = ac + ibc + iad -bd = (ac - bd) + i(bc + ad)
(ac-bd), (bc+ad) € Z = (a + ib).(c+id) € Z[i]
62 (G, ) 2 S = i e Al Lad 6.2 3 T[] S Al 4
&2 L[] o 0 Omes IS 3 (€ 4, ) 2GR

LY Sy weg s mpdd (S

+(0(1(2|3|4
0/0/1/2|3|4
1/1/2]3/4]0
212|3/4|0]1
3/3/4/0/1]2
414|0]1]2|3
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Bl Nl =iol] ®

ollollolollol ol
B WI NI = | Ol =
W =1 1| NI I DI
DI | =1 Wl | O Wl
=1 N1 Wl | O A

L6 "1 mais (UNity) ) o S S (Z, )

4 »=83.223 (Z, ,.)*S . s Integral domain = Z,
(s e sl oon b g (e S s ol

ba €Z, ,a#0 A a.b=0

=>b=1.b =(a)ta.b=(a) t.0=0
= Z.; Integ-domain

Crasd JSE S0 Sy m (R +,.) 2 . Ri= M(2x2, R ):dba
ASa 245 (integral domain)

v=2 9= Y e

A8=(; o) 0)=(o o
Aha B 5l ASw s ha e B 5l A d i dialas (o (508 Jad
ASA s Sy i Rl

a=(0 93 9= s

& ralic Cuie oaintegral domain (S,+,.) 5 (D,+,.) :Jbe
R 1g ¢« 1p e ralic (Unity) 15 50 O €S ¢« 0OpeD
@ s i il SsS e s b salh Ri= DxS
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+:RXR—R
(a,b) —a+b

":RXR—R
(a,b) — a-b
t s b = (dp,sp) s a = (dy, Sy) 4S

a+b=(d,s1) + (da,82) = (dy+d2,51+Sp)
a.b=(di,s1). (d282) = (dy.d2,51.82)

aic e a2 (commutative ring) <Su) s s (R, +,.)
sr4dintegral domain S .s2 (1p,1s) 2 r=aie aals 5l (0p,0s)

4SA
(10,0s) . (Op,1s) = (1p. 0p,0s. 15 ) = (0p,0s)

G duala Sa (53 a3 DA (Op,1g) o (10,0s) o> S dud (Fx
a5 e (o

@3Ya &b : R — Ny o 45,2 integral domains (R, +,.) el
(S5 039 50 0 s geal

(1) e < ¢(@b) (VabeR\{0})
(ii) VabeR\ {0} ,3q,r€R; a=bq+r
$ss@(r) < @(b) Aol r =0 24dbd
4 4 yige s b 4l 4 Euclidean Domain 2 slane e 2 R
s o (R, @)
> s 8D syl e IS s (Z,4,.) o saise 1

:s2 Euclidean Domain s 45 &6 gV i 7

¢:Z\ {0} — N,
ar [al

0O+fabeZ
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¢(a) = |a] < [a]. |b| = |ab]| = @(ab) = (i)
>4l division algorithm 2. 58 @b (i) solse o
dq,r€Z; a=bg+r (0<r<b)
r=0=¢@0)=[0]< |bl=@() [ b#0 s ]
r£0 = o) =Ir|<I|b|=@®d) [0=<r % ]
.2 Euclidean Domain » (Z, @) S 44

&Y paie (UNity) s 2"1" > S . (R+,.) 16,12
2neE N s ¢ 4S ) (finite characteristic) wlaiis (2a R
(59 252 g 0w Cunald g2tV

0=1+1+1+..41 (nterms ( (4=&) J\s n))
ssn.1=0 2=
s o .soS iy (charactiristic) 4weaia R aain g 4as S Sl 6 5
char(R): = min{n € N | n.1=0}

dadio gia ¢ R ) padas 4 ssdiamgan o s ars aS
&5 » zero characteristic 45,55 ¢! (infinite characteristic )
char(R)=0 =
4Sa |, i) (infinite characteristic) “asis 4 e Siy; 7 3 1 Jha
=N 1=0 eSS n>0 e

1,1+, 1+1+1 114141, . . . =1234, . ..

char(Z)= 0 ux .m0 4 Qsa HISS Za o 5S Jal
iy SOBI4GSh) 7, 248

(S ot Dy pa ) )SE (428) 5ol N2 G adh

0,1,23.. . .m=1),0,1,23.. .., @=1),0
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«i=4) finite characteristic S, Z oy.( n. 1 ) =0 &=

char(Z, ) = n = . ) (ada
dima gl paic (UNity) sl a2 S0 2 (R,+,.) 1 6.7 Al
w.char(R)=p#0 = .¢A( characteristic ) 4aiis
(a) p.a=0 Ya €R
(b) R integral domain = p EP[ e u—'ﬁﬂﬁp]

a€ER=>pa=p.(1l.a)=(p.1).a=0.a=0

dr,s eN;p=r.5s
=20=p.1=(r.1).(s.1)
=>7.1=0Vs.1=0][sinteg —dom =R 455 ]

o2 (charact )4=diaRaas sLslr o sla)aniiidaal 4za 4
P Saxiia . sss=plhy r=pabower.s<p SA
c 22 (adsl) Sgel s
. .2 integral Domain s (D,+,.) @ 6.4 L
abceD ,c+#0 ac=b.c >a=2»,
L@y Jbaidl " ki integral domain e
D gl
ac=bc = ac-bc =0
0=a.c-b.c =(a-b).c
>a—b=0VvVc=0 [ integral domain s: D 453]
>a—-b=0 [c# 0= ]
>a=>»
JBad (53 4d iy Hlaid) Ky ) a6 S 4 Bra syl Sy alad 6.4 1@
S S (Zg,+, - ) wdn Y
2.3=6=0=12=3.4
@2 =4 Ss
Jud 5 S R4l | eom (als) unity 2, 5 (R,+,.) 6.5 L
4 4 sy pmaic (invertible) nY usSae o [4S ] = {0}
Cem @ =R W)y ea
Ja€l AbeER;a.b=1=>1=R

-

gty
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a€l AN ainvertible = Ib € R;ba =1
XER=>x=x.1=x.(b.a)
= (xb).a€el [ &> dwn [ S5 ]
=>RC]
R=10v.62 ISR > sl ld

ab € D .s2integ-dom s (D,+,.) :Jda
Sy, el Ads R Jee 4 ey o5 e e char(D) S (a)
ol 4 Jse )2 Binomial

(a+b)? =a?+2.ab + b?
(a+b)® =a®+3.a%b + 3ab® + b3
w.sschar(D) =2 45 (b)

(a+b)>=a*+2.ab+b*= a*+0+b?>= a*+ b?
$s 2ab =0 b Aed o8 6.7 200 .62 char(D) = 2 454
‘w.sschar(D) =3 45 (c)

(a+b)3 =a®+3.a%b + 3ab? + b3
=a>+0+0+ b3= a® + b3

3.a°h = 0 3l A4l o8 6.7 3w .62 char(D) = 3484

ss 3ab* =0
integral domain 2 &t J s« s Binomial » S sl 44 o> S Jud
4yl oyl & el .60 ( characteristic ) 4=sie s (- Field L))
S axllae J g3 e gee
. .2 char(R) = p # 0 sl integ-dom s (D,+,.) :6.6 L

(a) (a+b)P =aP +bP (Va,b €D )
(b) o:D->D
x — xP

2@ .s2 (injective s D — Hom =) D —monom 5 @
. b a5 4 frobenius function

(o .60 b D o 4R 1 (@) @

Ya,b €D, (a.b)? = bP.aP? =aP.bP
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s 98 S A4 binomial formel >

(p—-1
(a+b)? =a? +paP~lb +%

+ p' (p - 13)" (p - 2) ap_3 . b3

aP~=2 p2

+ -+ pab?P~! + bP

49 2 ) Lugﬁai)lmu)ambp ol aP Jéﬂd\.&a@)}a‘ud\s
iV I Y Jg9 (e gee

1.23..r
G pap1<rr < p-1abal

k= 2-DP=D. - (port) ,:=1.2.3..r
1.2.3..1

s Pk ow s e B Gileg p kol 4 binomial formel 2
U‘ﬁ-djdd‘:“ﬂs,ﬁ\ﬁg}ﬂd‘:-@36_7dj\p>r @45;_,)& S o & Qs
(s . a3 QB oaibhs p koAb

(p—-1).(p—2)....(p—r+1)

el i 6.7 3w e b K =

1.2.3...1
ﬁap_r T = p.(p—1).(p-2)....(p—r+1) al~" . bT =0
s 1.2.3...1
(a+b)P=a?+0+0+--+0+bP=aP +Db?

(b)) s

xYyED; px+y) =(x+y)P =xP +y? [ (a) 2]
=)+ o)
px.y) = (x.y)P = yP. xP = xP.yP [ s D aS& ]

= ¢@ R-Hom
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> @ injective
x €Ekerp= @(x)=0 A @(x) =xP

>0=xP=x.xx...x [41x35D]

>x=0 [integ—dom =D |
= ker ¢ = {0}
.@dinjective » @ >sa) gt A dl k8 2.8 2438 (g0 dl
s> R-monom & ¢ S
Integ-Domain s Z, >4~ 58w S Z, 4 (2)° sJse 1 Jha
s Syealiiul 432 Ll 6.6 o a2 93 Y S L. 2 Char(Z,) =3
2° =(@?*)P =(dT + 1))
= (M +@3)P= @)® +1)} =2
GJS}DJ‘SM\‘\AALA:\S 66 Jo_) d; 690{).63
S S (Z,,+,.) 4 (2% (a)
A1 S (Ly+) & (D

(b)

eSS (Zgh) 4 3P (c)

a,beD ..achar(D) =11 J integ-dom » (D,+,.) (d)
oS 1w (a+b) '™

usd;‘;zs 4 CValra ad s lag gl sl 1dla




Algebra
2y=-1=4 = 3.2y =3.4 >y=2
3x+ 2.2 =2
= 3x= 2-4=-2=3 [2+3=0=> -2=3 454]
=2.3x=2.3 > x=1

:Jla

G ds) s S da S S (Z,,+,.) 2 Bl 55058 5 )
s 3 agabilacda gl s (S 2 4 il

y=-5 =2 [ 542=0 = 2=2-5 45& |

3x+2.y=10

= 3Xx=-2.y=-2.2.=-4.= 3
5.3x=5.3=>x=1

AW S ds SSaug (Z,+,.) 2 e s o)

S
spasyu 3 Adilaedasagl 2 24l
6x+4y=0 = 1Ix+4y=0
6X+ 3y = 4.3=12 =1x+ 3y = 2

>y=-2=3AX=-4y=-(4.3)=-2 =73
LY
‘om ¢ 240 integ-Domain » S (Z6,+,_)J®&}(a)
4x=0 > x=0V x=3
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10y ¢« 2 integ-Domain s S (Zg,+,.) 22454 (b)
4x=0 = x=0
58 da A U8 Sie 3 (S (Z,, +,.) 4 Holae sl a1 1l
X— 2y + 2z
3x—y + 2z
2x+y—z =1
A I Y (o S gl a2

1 -2 2 3
3 1 2 |, =1 4
2 1 -1 1

Ll
W

Gl b S men o pu (o S (oap gl v (S -3 g i S sl U
sS anopu (28 S e R 3l s (S -2 Al agan S

-4z=3z=-5=2 = 3.(3)lz= 2.(3)!
=z=2.5 [3.5=1= (3)1=5 44 ]
= z=10= 3

5y=5z—75

(5 'y = B.(5)Lz— 5.(5)"
3-1=2



16.10 Cnoas
A S(Z,+, )RtV (a)
3x+ 6y =6
4x + 5y = 4
A S (Zg+ )GVl (b)
3x+1y =2
2x-3y =1

&‘QS(JAL;J\:J"JL}&S\:)‘)SAJL;(Z7,+,_)4ﬁd§5gdm#g§-ﬁy b (¢)

2x+y +3z =05
xX—y+tz=4

x+3y+z =05

el

A L1 (unity ) als s SKu) o (R4, ) 16,13 s

Rx]: ={P(x) = Ty, @i x' | a; €R )

> ¢ (Commutative Ring ) <, Gbas o . 5“4+ Dk R[X]
) P(X)=1 (o =ic( unity) g

sX s Polynomial Ring < ( R[x],+,.)
c ol 9S8, R ki (asids ) Polynomial 2 p(x) € R[X]
, (=) a8) Z s Polynomial Ring s ( Z [X],+,.) :Jba
(el i) R B ( R[X]+,.) 5 (el 3bL) Q U5 (Q [x],+,.)
Ao ag Jhes a8 7 k3 Z (1 [x],4,.) S
fi(x) =5 + 2x + 3x2 € Z[x]

1
f2(y) =2+ 3y +y* € Qly]
f3(z) =2+ \/7%22 ++/3z5 € R [z]
fa(t) = 3+ 22+ 43 € Z[t]
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s 1% 2 paie(unity ) wls > Sy w0 (R4, ) 1614 @y
2 Polynomial Ring 42 > ( R[x],+,.)

P(x) = Z a; x* € R[x]

iEN,

03 538 i 3 J g3 s23¥ 4 P(x) 2 (degree ) 4a02

ssP(x) #0 «
deg (p(x)) = max{i €Ny |a; # 0}

23 558 3 deg (p(X)) =-° s P(x) =048

( asils <) Constant Polynomail 2 s jsa (2 4250 o2 asid s
( CER) p(X)=Cc dp4adihr gpbasa
s P(X) 24503 o2 s Q(X) , P(X) € R[X] 4esidlsy o590 yise 48
e s n sk Qx)25'm

deg(P(x).Q(x)) <m+n A deg(P(x) + Q(x) ) < max(m,n)
@ s S el gV o0 Sy 4 (Z [X])+,.) 1 dba

P(x)= 2x*+1 , q(x)=3x+1
deg(p(x)) =2 , deg(q(x)) =1
P(x).qx)=2x*.3x +1.3x+1.2%°
=6.X>+2x%+
= 2x%>+ 3x +1

1.1
X +1

wl +

deg(p(x).q(x)) < deg(p(x)) + deg (A(X)) > g5 ¥

1 6.8 Anzd
integ-Domain (D,+,.) = ( D[x],+,.) integ-Domain

Ous) 62 e paic 2al s 3 S, lad o DIX] (o> st i g
DS D
g(x), f{x) eD[x],fx) #0 A gx)#0 = f(x).gx)#0

f(x):=ao+aix+axx?+----- + am-1xm-1
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+ amx™ (am# 0)
g(x):=bo +bix+bax?+----- + bn-1xn-1
+bax?  (ba#0)
am#0 A ba#0
= am.bn # 0 [ 2 integ-domain s D 45a]
am.bn # 0 = am.bn.xm * 0
= f(x).g(x) #0

= DJx] isinteg-Domain

. Q(x), P(x) € D[x] =4
deg(P(x).Q(x)) = deg(P(x)) + deg(Q(x))
SA
am#0 A ba# 0
= am.bn # 0= am.bp.xmtn =

= deg(P(x).Q(x)) =m + n = deg(P(x)) + deg(Q(x))
deg(P(x).Q(x)) = deg(P(x)) + deg(Q(x))

58 (S T, 4esiln ¥ ada 5yl dba
P(x) €Z, [x]
Px)=x2+x+2 =(x-3)2

ASA
(x-3)2=x2-2.3x+ 3.3 |
=x?-6x+9
=x2 -6x+2
=x2+1x+2
(2 > o

186



@9 P(xX) = x24+x+2 € R [x] &

—-b+Vb2-4ac -1+V1%2-4.1.2 —1+v—-7
X12= 2a - 2.1 - 2

G4 ds S sl a4 P(X) o2 oS Ja

2 Jhia

S S8 (L ) 4 da ol P(x) =X - T €7 [x] 20 (a)
55

=1

2.1=0 = x2=

(M2=1,3)2 =9

A4l DR (S Suy Z, 4 P(X) o> @S dad

1,(5)2 =25=1,(7)2 =49=1

(Z, -+ +,) 4 ds asla P(x) =x°-1 € Z, [X] uase sl (D)
58 (S Gpasn IS
2.1=0 = x2=1

D2=1, (6)?2=36=1
N A o0 id (S Sy 7 4 P(x)
el daaside (24 0N B (> 555 35 GV S D) ea asas 4y G
G Golmao e N ALl (HAaS43ann o
6.11 G
LS Sy ZoadapsilngaVa(a)
P(x)EZ, [x] ,P(x)=x2+2x+4
(b)
Qx),P(x) €Zg [X]
Px)=2x2 +1 ,Q(x)=3x%2 +1
Al il 1, P(x).Q(X)
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integ-Domain s ( D[x],+,.) : (Division Algorithm) 6.9 4x?
A EYRNEN

a(x),b(x) € D[x],b(x) # 0
= 3 q),r(x) € D[x] ; a(x) = b(x).q(x) + r(x)
22 deg(r(x)) < deg(b(x)) L r(x) =0 4
D st S 4y 4 ge gl 3 (5210 ) 5

a(x):=ao+aix+ axx?+---+ap1x™+anx™ (am#* 0)
b(x): =bo + bix + bzx? + - - - + bp1x*1 + byx»  (ba# 0)

ol 43 ax y0 o gl gl o LW Al complete induction 2 4w 1y 5 ) s

P

S 25 50 gl 1Y (5,0 12 (S s complete induction 4
s S5 3xaoddeg(a(x)) =02 ub 1 sl
¢S M-1 2420 (3ol sasids sl 558 (8 yige I argd
SN Bua
SS Bra st o Ll g(X) 2 B D Al A
il (gl
deg(a(x)) =0 = a(x) =ao

162 5 ge SllSl) (523 6 93 5l D(X) 2 (S Gl sy
(a) deg(a(x)) = deg(b(x)
do
0

= b(X) =bo = a(x) =q.b(x),q= ™
s ol s A P(X) # 0452 .52 by# 0 s
(b) deg(a(x)) <deg(b(x))
= a(x) =0.b(x) + r(x),q(x) =0, r(x) =a(x)
240 (> ol sagilen iy 568 (b gl L5 sS Baa Glla (5 gl G
S Sracssm-1
3 sa s .S Baa s ol deg(ax)) =m 2> sS Qb sy )
S b4 alls deg(a(x)) > 0 2 sl . S @il Glla deg(a(x)) = 0
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=0 deg(a(x)) < deg(b(x)) 2 4l o> dauly se 45y . s
@AY yige 5 S Gl s deg(b(x)) < deg(a(x)) 2wk oes) LS
Lyt Sk 4y

f(x) = a(x) - % xmn , b(x)

=ao + X + ax? + - - - + am1X™! + am X"
i % (bo + bix + b2x? + - - - + bp1x™1 + by xm). xm 0

=ao +a1x + azx? + - - - + am-1x™1! + amx™
b—m (bo + bix +---+ bpixnl) - Z—Z‘bnxn). xmn
=ao + a1Xx + azx? + - - - + am-1x™! + amx™
% (bo + bix + bax? + - - - 4+ bpax™1) — ay xm
=ao + a1X + azx? + - - - + am-1x™!
- 2—: (bo + bix + b2x? + - - - + byaxn1)

= deg(f(x)) =m-1
= I p(x),r(x) € D[x];
f(x) = b().P(X) + 1(X) [he 4l tla i3 |

o2 deg(r(x)) < deg(b(x)) Ly r(x) =0 =i
b(x).p(x) + r(x) = f(x) = a(x) - 2—’; xmn b(x)
= a(x) = b(x).p(x) +r(x) + 2 x™". b(x)
=b) (p(x) + {2 xm) +1(x)
o Seas q(X) =plx)+ z—:‘ X
a(x) = b(x).q(x) +r(x)

m-n

BETREN

s Jla

a(x) = x3+4x2+5x+7 ,b(x) =x+ 1€ Z[x]
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CH A +5X+ T x+1=x2+3x+2-(X +x%)

3x° + 5x
-(3x*+3x)

2x +7
-(2x+2)

(ALY r(X) =5 5 g(x) = X7+ 3x + 2 4
a(x) = q(x).b(x) +r(x)
:( the Remainder Theorem) 6.10 4ud
. ce D Jf(x) eD[x] «integ-Domain s ( D[x],+,.)
(1) 3q() €D[x]; f(x) = (x-¢) . q(x) +f(c)
(2) x-9lf(x) & f(c)=0
1(1) Csd
3q(x),r(x) € D[x];
f(X) = (x-c) . q(X) + r( x) [ =4 =8 Division Algorithm 2]
) OBl sl saY o530 r(X) 2
rx) =0 = f(c)=(c-c).qx) +0=0

r(x) # 0 = deg(r(x)) <deg(x-c)=1= deg(r(x)) =0
= 1r(X) =ro

f(c)=(c-c).q(x)+ro=ro

f(x) = (x-¢).qx) +r(x) = (x-c).q(x) + ro
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= (x-¢).q(x) +f(c)
P(2)@ss
PGS Aed (1) =

3 q(x) € D[x]; f(x) = (x-¢).q(x) + f(c)
s f(C) = 0wk Ly .62 ppniis JB (531 (X-C) Lz f(X) (o> 4598

RS
f(x) = (xc).qx) + f(c) [ (1)2]
=(x-c).qx)+0
= (x-0)| f(x)
sl

f(x)=2x>+x*+7x3+2x+ 10
f(-1)=2(¢1)5+ (D)*+ 7¢-1)3 +2.(-1) +10=-2+1-7-2 +
10=0
= x+1]f(x)
integ-Domain s: ( D[x],+,.) :6.15 iy

f(x),g(x) € D[x], g(x)+ 0,

2h(x) € D[X] glieon 2 bod s andiag(x) o f(x) (@)

155 052 9a 0y geal 93 (52

43 (a8 S jiis) common divisor 2 g(x) s (x) ~d(x) € D[x] (b)
A s s andid(X) e g(X) S F(X) o> bos sy sl

d®) | f0) A d®) | g®)

S ke 8l 458 5) greatest common divisor (ged) 2d(x) (c)
(S S5 (3da 028l Y @L}i}gu\,} ¢ 55k Al 4y (Al

h(x) € DIx], h(x) | f(x) A h(x)|g(x) = h(x) | d(x
rJla
p1(xX) = 2x3+10x2 + 2x +10, p2(x) = x3- 2x* + x - 2€ Q [x]
L oS f(x),9(x) € Q [X] )52

ged(p1(x), p2(x)) = f(x). p1(x) + g(X). p2(x)

191



Algebra ------=--s-memmememmme e eeeee ol palzs
2x34+ 10x2 4+ 2x + 10 = 2(x3- 2x2 + x - 2) + (14x% + 14)
X3-2%2 +x- 2= (x — ). (14x2 + 14)
= gcd(p1(x), p2(x)) = 14x2 + 14
14x2+ 14 =1.(2x3+ 10x2 + 2x + 10) - 2(x3-2x2 + x - 2)
=fx)=1 ,gx)=-2
= ged(pa(x), pa(x)) =14x" + 14 = f(x). p1(x) + g(x). p(x)

ki
pix)=xt+x3+x+1,p2(x) =x2+x+ 1€ Q [X]
re> oS I f(x),0(x) € Q [X] sulse
ged(p1(x), p2(x)) = f(x). p1(x) + g(x). p2(x)
x*+x3+x+1=(x>-1.(x2+x+1)+ (2x+ 2)
X +x+1= 2. (2x+2) +1
(2x+2)=(02x+2)1
= ged(p1(x), p2(x)) = 1
1=(x2+x+1)- 5 x.(2x+2)
=x*+x+1)- %x((x4+x3+x+ 1-x>-1D.(x(+x+1))
=x2+x+1)+( %x3-%x).(x2+x+1)
-%x(x4+x3+x+ 1)
= (53 -Sx+ D). +x+1) -cx(x 40 +x+1)

=g = cx%-2x+1 ,f(x)=-Ix

ged(p1(x), p2(x)) =1 = £(x). p1(x) + g(x). p2(x)
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6.12 (sl
pi(x) =x3+5x%2 +7x + 2, p2(x) = x3 + 2x? +-2x - 1€ Q [X]
o> e e f(x),9(x) € Q [X]
ged(p1(x), p1(%)) = f(x). p1(x) + g(x). p2(x)
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(Field) 4alw

3 > (commutative Ring ) 48l Lasieo s (F,+,.) 4S 1 7.1 Gyl
Ll esia (ale) Field 2 s s p=lss

Ll pmaie ((unity) s (Fi+,.) (i)

L. 23 (Invertible )y ssSesa € F—{0} » (i)

VaeF—-{0},3beF;ab=1

S (fields ) AW (C,+,.) S (R, +,.) , (Q+,.) = Jba
e B2 €T 3 ey S a5 L o A anle (2, )
L AL (pSae (S Z 44
sa8a 03 (Field ) 4ale (Zg +,.) S w2 asbosy (Zs,+,.) : s
LA g ga e Sae S pea s (S TZ o4 )W 2 € Zg
7.1 s

M:= {4 e M@x2,R) 4= (1 Z),a2 b2 #0)
s e dl Qi gl 4 pen uSG i (M4,.) s o2 S Gl
224 (Field) 4slw
e Cagtie 438 370" (o ¢ o3 (field ) 4aluoss (F o+, ) 17,2 iy
.®¢H gF _d.ﬁ"_" )LJ . h\jgﬁ"dln _5‘ u+n )Lu
Add g (H, +,.) o Sepbasa (o8 aala) subfield 2 H
D> bl a4 F aSubfield s H Lyl s 4slu s

(1)

1
(i) Yab €EH =a+b €EH
(ii) VaeH = —a€H

(2)

(i) YVab€eEH =a+b EH
(ii) 1€eH

(iii) Ya €H a#0 = a'leH

194



Algebra --------mmmm e il palas

:7.1 Jba
&S (R, +,.) 4 subfield » H:={a+bv2|abeQ} (a)
D da

x,yEH=>EIa,b,c,dEQ:x=a+b\/§,y=c+d\/§
x+y=(a+bV2)+ (c+dv2)=(a+c)+ (b+dWV2
=> x+y€EH [a+b,c+deQ = ]
= (1) ()
x=a+bV2 = —x=—-a+ (-b)V2=—x € H = (1)(ii)
x.y=(a+b\/§).(c+d\/§)=(ac+2bd)+(ad+bc)\/§
ac + 2bd ,ad +bc€Q =>x.y € H = (2)(i)
OthEH=>EIa,bEQ;x=a+b\/§¢0
>a—-bV2#0

S @l Salamiago g 4 V2 # 0215,

1 a—bV2

(a+bV2) T a+bvZ  (a+bv2)(a-bV2)

a-bvV2 _  a n (-=b) J2

" a2-2b2  a2-2b2 a2-2b2

a (=b)
a?-2b2’ a2-2bp2

€Q = (a+bV2) €H = (2)ii)

1=(1+0.v2) € H= (2)(ii)

o3 ((subfield ) 4abu e b o s H (oS 4nsi 4y
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S «saintegral domain s <uww H := {a + bV2|a,b € Z} 2 (b))

L34 (R, 4,.) 2 (4als = 4) subfield

1 da

Al 6 SR A4S o8 bt o H o 8 Glas Qo pu Gl 4
1=(1+0v2)€eH

ASA 6 S A Jua Cuald (2)(iii) 3 R _Lgaegqud\)m\w
0O+x€H = 3JabeZ;x=a+bV2+0
=>a—-bV2#0

2 Sassa=b=030 sy a—bV2 =0 Sa8&
LGSl Shmide s g+ bV2£0

1 1 B a—bv2 _a—b\/i
(a+bV2) Ca+bV2 (a+bV2)(a—bV2) a®—2b?
__ 2 D 5

a? —2b%  aq? — 2b?

a (=b)
a?-2b2’ a2-2bp2

¢Z > (a+bv2) €H

B+1V2)EH A B3+1V2)#0

a 3 3 3
a> —2b2  32-2 7 L

A : 91—2=7
aZ_2p2 32— 7 %i

AU, Ny esSan S H 4o (34 1V2) 2 (a Jadsess
Glas L aal
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Jsaa ¥ 4y Sl ) S8 53 89305 a2l cuw Fi={0,1,a,b} Lz :7.2 J4a

+/0(1 |a|b
0/0({1 |a|b
111/0 |b|a
alalb |01
bibla [1]0
. 10l1]a|b
0/0/0|0|0
110/1]a|b
alOlal|b]|1
b|O|b|1]|a

s 1% Gaie sl ¢ 0 (el Gie (a3 (Field) 4abs 0 F(+,.)
SR o) 2 (sslue (o (i) characteristic

21=1+1=0 = char(F) =2
2 F 2 (subfield) 4slu oo 805 Cuw e 8 S:={0,1} 2
st ORI el P(X) = X+ X+ T2 s
DS A i) 588 (s 93 4y a gl 5y 135 (SY S L «s 5 p(X)EF[X] &S

pX) =x*+x+1=x+(a+b)x +ab=(x+a).(x+b)
tedda gV asilg saS ab=1da+b=1 Aadsaa5s

p(x)=x2+x+1=(x+a)(x+b)=0
=x1=-a=aA x2=-b=b [ A s ]

1l
p(a)=a?+a+1=b+a+l1=1+1=2=0
p(b)=b24+b+1=a+b+1=14+1=2=0

s 4 ds §[x] 4 p(x) S
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A s S G e, LB G={1,a,b} cF
a?=b, a3 =ba=1=><a>=G AordG=3
bz2=a, b3=ab=1=<b>=G AordG=3

.3 (field) 4alu s 55 e o integeral Domain s @ 7.1 Lad
(S50 paic "1" 2al 50 integ-Dom e w2 (D, +,.) 481 &gl
D Qs Al

VreD,r+#0=>3s€D;r.s=1
Sty ussaaad "M phiabigy e GA A D2 pale p i
Do SR gAY e 1 0 # re D 2e il csd
¢. :D —>D
X =>rx
: @, injective

x,y€eD,p (x)=0¢ (y)
Srx=ry=>x=y | snlaidlinteg — Dom 454 ]
o surjective s @ ae 4l i 0.1 2 0y .62 G G D (2 40 A
BT
1eD = 3IseD;p(s)=rs=1
= s =1r~! = rinvertible [)4-\4 u»;i-u]
= Dis a field (‘btu)
Lo I ={0} Ww.s> SFadw ol s Field s (F,+,.) 7.2
e I=F
2 1 # {0} 2o ® pse s g
I#0 >a€l;a+0
=>3IbEF ; ab=1 [ naluenF s ]
= a invertible
=>[=F [4d Lil652]

TS (Bua oJ\é\gMYé&g)éﬁ(Zp,+,.) 3 171 Auzd

pisprime ( =) & Z,is field
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gﬁ" T"*j\d.ﬁ‘—i—.‘:")éﬁdﬁﬁ (Zp,+,.) @jﬂjﬁ}y "= QJ,\S
MDJQJJMQ)MJUNAJAJ@@»Q}M&)S@USWL;J‘).\a.xc..\;\j
.83 (inverse ) posSee S Z,

Z,=1{0,12.,p—1)

a€Z, 2>a€f{l2.,p—1} = gcd(a,p) =1

=>3x,y €EZ ax+p.y=1 [Euclidcan algorithm |

>l=axtpy=ax+py=a.x+p.y
=a.x+0.y=a.x

coddaluon 7)) SAaiida . 2 a3 (inverse) ussSae ¥ o> 58 duls
s (Zy" ) on.sre Ayl np AR Aedl (0B 322 5L
(inverse) v (S 7, 448 paie jha s @A a3 a3 @ S
(59 5> 94
LA Gy s e gl A e

dmmn € N;1<m, n<p,p=mn

s(ma=mn=p=0)A{m=#0 An=*0)
= Z, is not integral Doman

= L, isnot field (e244alu)
L e Al gp n L@ emaAatA b S

s> Integral Domain s (Field ) 4sluop; 7.2 4uad

Wy, 1, 2Ky b o F Gn gstale on (Fi,.) 4S:es
@ﬁ@@aaﬁ\gﬁ‘ﬁ\: @@Qﬁ&bkﬁ&d@cwﬂc

abeF,a+#0 A ab=0 = b#0

abeEFFa#0 A ab=0= 3aleF; ala=1
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b=1b=(ata)b=atl.(ab)=a10=0
GuY a=0 Ww.gsb#r 0 S o 5 S DV Qi a4y
.2 Integral Domain s F S4ai 4 Al
(field) 4alu o o (F,+,.) ¢,0% aic Cie s SKh)y o (R)+,.) 7.3 L

.2 R-Hom 52 ¢:F — R 5/ “1” yaicaaly o
2 R 2 paie (Unity) 25 ¢(1) & Q@i (1)
o3 (field) sl s R &= cailaibip (2)
i (1)

SER = 3a€ F ;s=¢(a) [suriective s @]

= s=¢() =¢(1l.a) =9(). @) = o().s
s R el (1) Sty
2 R paicalsp(1) o> dulsm S (1) @si(2)
s S ip(1) £ 0
p(1)=0=¢(0)=1=0 [injective »n @3]

35 SIS sbae 2al o) paie Cuie (Sdaluogn g asa gl 4 gl b

G..n&}ﬁdﬁho_)\:d&_uﬁhud R 2

A wald JLas iR ()
(e, s esSae Ab (SR 4 2 DA (element) =i 2 (b))

XER,x#0=3y€ R ;xy=¢()

:&ed (a)
X,y € R
= Ja,beF;x=¢p@) Ay=¢pD) [surective n @3]

— x.y = 9(a). p(b) = p(a.b)= P(b.a) [ s Cwald JLaiF 454 ]
= @(b). p(a) =y.x
A Cnald i R (Saadia
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3 a3 (A 5l yeaie aals (1) o> Jalsse S (1) 4 125 (D)
XER,x#0=3a€ F,x=¢(a)[ surjective » @]

p0)=0#x=9¢(a) [ R-Hom s ¢ 4]

=a=+0 [ injective s ¢ 45a]

= Jale F;aal=1 [ field »F4a4]

X.p(@ ) =¢p@?).x [ eAomald i F 454 ]
=¢p@.p@)=9@"a) =9

X 2usSae (@) om0 Rmaie als0(1) o> dulsse S (1) 4
sddaluo g R (2l Gof (Saabia (o2
7.2 {noas
R=taemMEeR)A=(4 O))
sA Al ¥y oS » (R +,.) o Julise S8 6.3 4
p:(c,+,.) = (R,+,)
. a b
z=a+ib — (—b a) |
cJQLaoﬁ(R,+,_)¢%L5JSQ).}S
F:={0,1} ¢ Z 7.3 {nu

® 0|1 ©|0]1
0|01 0/0/0
11110 1101

srdaluogai Jon JHHe Hhi (Fle,0) > S s
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S )
Field Extensions
(Ansasi (5 42l
(4russ 2 4alu) Field extensions :8.1 i s
2 FaK.eaKa(subfield ) 4als o2 8 o F C K slaaluon K
K/F 43428 yise . s.mbas 4 (4als saai b 42 5i) extension field
@y (s 2 4aly) field extension <5 K/F . se o
s » field extension 25 e-field sla_n extension field 2.
Sl s f-extens
ash5e 29l R 4y salae) Jidan ¢ @Q 4 Cum gahe) s8haliy isa 18,1 JUia
(Q,4,.) A sopd 5 4S5 s (82 s C 4_“.1(}4&3‘;4\,3) galac)
L@ (G 4,)) B (R 4+,.)
Y Q2 42ns o R 5 R (42nsf) extension 2 C 4)laa (a)
- (field extension) 4zu s 2 4als R /Q «C /R !
162 b i e puY 44 Q (V2) S Q (V2) 2(b)

Q (V2):={at+bV2|ab €Q},
Q(V2):={a+bV2+cV4| abc €Q}

Gl gen 5B Q (V2) 51 Q (V2) ) 43 58 VS Cisli o Sl 4
w42 QE Q(V2) s QS Q(V2)4s 4k o (fields) alu a8
, Q(V2)/ Q 5 2 Q2 (+5) extension Q (V2) 5 Q (vV2)
s 9 (field extension) ¢S aé Q(V2)/ Q

153 b Caai Jsd s3Y 4w Q (V2,V3) 2(c)
Q (V2,¥3):={x+yV3 | xy € Q(W2)}
158 G A Al i Q(V2) 2 ¢ 52 QVZ) ally 5l x 4 KR

XEQ(\/E)=>EIa,bEQ;x=a+b\/§
yEQ(W2)=3c¢,deEQ;y=c+dV2

TS Ayl 4
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Q (V2,V3)={x+yV3 | xy € Q(v2))}
= {a+bV2 +(c+dv2).V3 |a,b,c,d € Q)
= {a+bV2+cV3 + dV6 | ab,cd €Q)}
2 (field) 4akus o5 ab 43 sl gen 3 Q (V2,4/3)

OXS A 5 (V2,V3)/ Q 02« QEQ (V2,V3) 4p 4552
> ( field extension)
seQ(d)
Q (Vs,—Vs) =Q (Vs)

Q (Vs,—Vs) ={a+bVs —cVs+dvVs.s| abcd €Q)}
={a+bVs —cV/s+d.s| abcd €Q)}
={(a+d.s)+(b—c)Vs | ab,cd € Q)}
=QWs)

st esh i de Y 4 Q (V3 ,0) 2 (e)

Q (V3,i):={x+yi | xy €Q(3)))

A el 2 QVE) s ¢ 52 LS QIVB) Ry S X A

N e

Ja

XEQ(ﬁ):Ha,bEQ;x:a+b\/§
VEQ(H3) =3¢ deQ;y=c+dV3
[eS At 4y
Q(V3,) ={x+yi | xy €Q(3))}
={a+bV3 +(c+dV3).i|ab,c,d €Q}
= {a+bV3+ci +dV3i| abcd €Q)}
Ca i 3 e sSaa |2 03 (field) 4alu oo o 45 gl e B3 Q (V3,0)
() =-if= - (-1) =1 4542 o —i A dl

ddarnsi Q (V3,0) on S 32aQ S Q (V3,0) 4R
Q(3,i)/ Q = .2 Q = ( extension field )
s 3 i yad IS Y 4 e Q@ (1) 2 ( F)

Q(i)={x+yi | xy e€eQ }
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Q > ( extension field) A 4xusi Q (i) vu«Q S Q (i) 4a s A
Q(1)/ Q s 2

L s Vs K/IF (anusi 2 4aly) field extension si.ise S :8.1 o pad
(oS Ba il 38 050 50V ASA 02 45 F Ll slmd 5,585 5 K

+: K XK —>K
(u, U) —Uu+v
-t FXK—>K
(t,v) — TV
P A asala ga dighyl ) 9363 sk K )
Saie Cuie 2o 8 (Commutative ) ¢ » (K, +) (v,)

@3V 2 (inverse) uessas —vsl sio e “0 “ 4 4rd Hisas ¢ jua
(S Bra b g3V o)W 7,7, T, EF S v, v,1v, EK 2 (vy)
(ty+)v=1v+ 1,V .l
(v +v,) =101 + TV, .l
7,(1,v) = (1y7)v I
lv=v .IV
a0 (KGF) 40 4s yige 5l o2 a3 F ki (slimd (5 )5 50 g K (S 4 4y

degree of field extension : 8.2 iy as
2 (KGF) 2 s (KO F) 49 sbmd ) 585 anan s JK/F yisa
(20 58 2 4al) degree of field extension 2 ( Dimension)
et sp o pm [KIF] 4gake yisas) oy asi4g

dim(K,F) = [K:F]
¢ a4 FoL finite field extension 2 K L ¢ 55 ool [KiF] 48
:8.2 Jba
pdoxeld Lad 5 )< (C, R ) 2 {1,i} .o Sobi4y C/R 25 (@)
4SA

C=R+Ri

aia o dle, Sy IS S 5 Gli 3 5T 258 Y 5SS €2 ns
_L..gaagd&waslast__;ﬁ
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22 24555 C/R 24352 0 0> (G R ) 202elosn (1]} (Saniia
[C:R] =2 =
232 43 5 s (degree) 420 (Q(V2)/ Q2 (b)

anugi o aaled Q(V2) 42 e (S Jlie iy 4 1da

03 pd Lind 558500 ((Q(V2), Q) wm .2 Q 2 ( field extension)
35S sn 58 Y S u st (il Q(V2) = Q + QV2 4x 4%iR
sha /2 1 ax pedle | Sl i 4 s i Jha y /201 2Q(V2)
23 (Q(V2),Q) 20eBos {1, V2 } u g2 b s

(S Aagh 4

dim((Q(v2),Q)) =2 = [Q(W2):Q] =2

224 (degree) 4> Q (V2,v/3)/ Q= (c)
S sh Ly e JSE Y 4 Cuw Q (V2,V/3) 2 s
Q (V2,V3)={a+bV2+cV3+dV6| abcd € Q)}

3 (f- extens) 4musi 2 4ale Q (V2,V3) 4> Judsse S e 55 4
o3 ad Lad 5,585 (Q (V2,v3),Q) wu.s2Q
ISl JSs 4 s i Jd {1,v2,V3,V6 ) LsSs 8 Q (V2,V3) 2
o2l 551 {1,/2,v3,V6 } L .2 pp Jiise i 4xa 5o dle | 8 sIaS
Sl 02 (Q (V2,13),Q)

dim(Q (v2,v3),Q)) =4 = [Q (V2,V3):Q] = 4

234 (degree) 4>, Q(V3,i)/Q 2 (d)
(s s gy JS g2 4 i Q(V3, 1) 2 ida
Q (v3,i):= = {a+bV3+ci + dV3 i| abcd € Q))}

on .2 Q 2 field extension s Q(V3,1) 4> Jadsse (S Jlia 5 4
S 585 bl 0 (Q(V3,1)),Q)

58 B IS g s i ha (1,4/3,4,31 ) Ls5Ss8 Q (V3,1) o
Jom@oﬁ{l,ﬁ,i,iﬁ} G .60 pp T ad dxa 440500

(S a2 (Q(V3,1),Q)
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dim(Q(3,1),Q)) =4 = [Q(V3,):Q] = 4

223 (degree) 42 (Q(V/2) //Q = (e)
1S s gy g JSE Y 4y Cun Q(/2) 2 ida

Q (V2):={a+bV2+cV4|abc € Q}
3 (field extension) 4xw i (o 4alu s Q(V2) 43 Jadsse S Jba ()5
)55 (e Al i pai o 02 b Liad 55585 o (Q(V2),Q) 2.2 Q
a0 e pd I USG5 Ba 2 {1,72,V4 }2 Q (V2)
2 (Q(V2),Q) sxelon {1,V2,/4 } Ly .2 pd e Jha
DS A4y

dim(Q(¥2),Q) ) =3 = [Q(¥2):Q]=3

L 605585 (QU), Q) 258 SOE G QI)/ Qb axusi ise ()
53 5358y 101 2s i Jha g Q) 2 S5 s 4SE e {1} e2cld
TR dwuhaw)g oj)u:
2 «2rQ)/Q 20w (QQ),Q) 2eelosn {1} 4358 dasis
[Q():Q] =2 1= 02
: 8,301

Q (V6):={a+bV6| ab € Q}= [Q(6):Q] =2

[Q(V@):Ql=n (gs2= 4 g 42258 6x)

:8.1 (s

22 (field ) 4alu o (Q(W5 ), +,. ) a2 s S @sii (1)

2 Q(V5) 2(subset) cuw e B Q 42 s S@sE(2)
QEQW5)

Sy (basis) sxcl L 5,585 (Q(WV5),Q) 2 (3)

2254 (degree) 4anlad 585 Q(V5)/Q 2 (4)

:8.2 (Al

23 (field ) aslu o5 (Q(V3,V5), +,. ) 2 s S sl (1)
2 ( field extension) s (Q(V3,V5)/Q 4> s S @i (2)
& Sl (basis) sl o 5 Lad 5,585 (Q(V3,V5),Q) 2 ( 3)
2253 (degree) 4> 2 (Q(V3,V5))/ Q2 (4)
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> a €K .6 (g 2 4sl) field extension s K/F : 8.3l
poil e g an oyl s (b 558 43 (algebraic over F) F ki s nall
o S . p(a) =043 ¢ 50550 ta S p(X) € Fx]
G eanb a4 (L) transcendental 2 a b« s 4 3o e Al
Kayise . sspsila s iiapas oS Gradigara hisp(a) = 0

g ey sdiopm A 4 i g palic 5l
A:={aeK| Ipx)EF[x];p #0 A p(a) =0}
Q:={a€eC| 3Ipx €Qx;p #0 A p(a) =0}
={aeClsQ cuaigml o}
(riNg ) Sise o5 63 il (S iy p2i 6.12 4943 Cuw FX] 243l
(5 ph
4&;5JL§)4J\MFMJLJMGJAFG;L»L5}JJDJ4
VaeF,3p(x) =x— a€Flx];pla) =0
syt Shi 4y axu i o 4alu C/R 255 1 8.4 Jba
a:=24+3ie C
x-a).(x-a ) =(x-(2+3i)).(x-(2-3i))
= (x-2-3i).(x- 2 + 3i)
= x2-2.2x+ (22 + 3?)
=x%- 4x + 13 € R[X]
p(x): =x2-4x+ 13
p(a) = a?- 4a+ 13 =(2+3i).(2+3i) - 4(2+3i) + 13
=44+6i +6i—9-8-12i+13=0
S s gap(a) =0 458l S R[X] 4 p(X) psids s o
2 R ki paic (algebraic) sl »a = 2+3i
s SOBI G aan g paale R/Q 255501 8.5 Jha
MS ol G Q Uk V2 e iis (a)
P(x) =x®-2€ Q[X] A p(V2)=(¥2)*-2=2-2=0
(S0 4383 /2 4x o pdlan P(X) psidsy okl /20
ASA sl Qi V2 e ks (b)

p(x): x2-2€ Q[X] A p(vV2) =(¥2)2-2=0

S R/Q 4 e=2.71828.... 5 m=3.14159....
a5 5w p(x) € Q[x] psidsmm Y SsdiaSA (52 transcendental
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245 R ki (algebraic) sl dael 10 C/R S .5 p(e) =0
aSA
Pi(x):=x-e € R[x] , P2(x): =x-TmE€E R[x]
Pi(e):=e-e=0 ,P(mM):=m-1m=0
:8.4 iy

bbb a5 4 (sea])) algebraic 2 K/F 4xusi o 4als 5 (a)
sasaK 5l ss4i(algebraic over F) F Jhi ol g €K 2 4
s . b F 2 oalgebraic extension
Vae K =3peF[X];p#0A p(a) =0
b asi 4 transcendental @ K/F 4xas e 4
‘s 4SS s algebraic closure <5 F alé s (b)
V p(x) € F[X],deg(p(x)) >0= 3FJa€F ;p(a)=0
D M S Fagssa jia mdan 4 (S F[X] 4 psidaon )
(s A
4SA 0 (algebraic) sl C/R 4xusi 2 4ale : 8.6 JUa
a: a+ibe C
(x-a).(x-a )= (x- (a+ib)).(x - (a-ib))
= x?-2ax + (a? + b?) € R[X]
p(x): =x2 - 2ax + (a% + b?)
p(a) =a?- 2aa+a2+b2=(a+ib)2-2a(a+ib)+ a2+ b2
=a? + 2aib-b?2-2a%2-2aib+ a2+ b2 =0
4258 o S RIXT 4 p(X) psils ool @ € C a2 4558 Juls
w2 (algebraic) sl C/R ow.s2p(a) =0
8 ke F 5K 18,1 Lag
K/F finite ( »2ts) = K/F algebraic
e S Gad yise oy 60 (Al K/F 43 40 A 1igd
n:= [K:F]= dim(K,F)
Aa (e sl 53 N nedis )5S 50 (DAsSIS) el 258 5 slal K 2 im
A% nal S Kaed 5,58 (linearly independet) Jiiuwe ais
Aals {1, a,a?,a3, ...,a" e )da € K 22 258 slas )
2 (lin-dep ) k>

1, a,a?,a3,..,a™ (lin-dep)

= 3 ap,a1,az,..,an € F (not all zero);
ao+ara+aa’+ . .+aa®=0
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= « algebraic
= K/F algebraic

( theorem of Lagrange for fields) :8.1 4xzb
(finite field extensions ) 4xusi o 4als Al e 0 T/F 50 K/T 48
{ETRNTD)
[K:F] = [K:T] . [T:F]
N QaF iToad m4aT sk glad )58 Kayisw 1&gl
N E I
dim(KT)=m A dim(T,F)=n
sl b
[KiT] =m A [T:F]=n
o5 {Vp, .vry V3, Vo,Vq} 5t K 2 (basis) s2c8 o 5: {Up, ..., Uz, Ug,Uq} 4S
s s T 2 (basis) sxcld
ueK =3ajaz,..,am€T;
u=aiui +azuz+ ...+ amUm
= XiZp a.u
ai€ T = 3 by, biz,..., bin EF;
ai = bitvi + biz v2 + ...+ biwva  (i=1,2,...m)
= Yji=1 b
u = (b11vi + b12 v2 + ...+ b1nvn).uz
+ (b21vi + b22 v2 + ...+ banvn).uz
F o
+ (bm1V1 +bm2ve+ ...+ bmnVn).Um
= (b11vi.ur + b1z v2.u1 + ...4+ binvn ur )
+ (b21viuz + b2z vz .uz + ...+ banva .u2)

+ (bmltl.km + me t2 .kZ + ...+ bmntn .km )
= 2% awi=50(Xjo byvi).u

Liad )5S 5 K2 s ) AT MLN (2 el dn 455585 Y 4n 58 Jasdg
G35 span s
{(upvy) | i= L1,.,m A j= 12,..,n}
(62 ot JHisa (i 435 )5S 5 (x5 Qs Al s
iz1(Xj=1 bjvi).ui=0
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= Yi=q DjV=0 [erexly x5

ﬁbij=0 (i=1,1,...,m N j=1,2,...,7’l)[ DJ“—GVJ"\S\A]

Kaexlon{(u.vj)| i=11..,m Aj=12..,n} 4asdasd
o e A8 Fplai Lad (565

dim( (K,F) ) = m.n

[K:F]=m.n = [K:T] . [T:F]

:8.2 o pas
(subfield) abw e paxa 3F T a sl K 4aaluogyiseas (1)
w.FSTcK sy
(a)
r:= [K:F], m:= [K:T] ,n:=[T:F] = m | r AN n | r
RERPNWCARRIE R TR, BN o EEYR gpary

Lsl (o st o K 24l T Ly &y el 5 55 222 43l sl [KiF] 45 (b))
Ol Cad s 50 (Al (b (e sSa Zie i F 5l Ko i 3 s sba oy F
(2)
F1€ F2C€ ... CFn A Fi/Fi (i=12,...n-1)
finite field extension ( aké 4xu 5 aliic)
= [FuF1] =[5 [Fisa: Fi ]
: 8.5 iy
ax bl s s 0k a8 49 monic plynomial 2 s sid sy s23Y 12 (@)
ssa, =1
p(X) = anx™ + an1x™1 + ... + azx? + a1x + ao
123 MONIC s 53 1Y 13 J 59 43 Jlia
p(x) =x*+ 5x3+4x2+ 3x+ 6
a4 BB 2 p(X) € Fx] esids 5 .02 (field) 4alu o F (b))
s b sy b a8 4 (reducible polynomial )
deg(p(x)) # 0 = .¢s (not constant) 44l e p(x) (i)
155 S sa 0 smal 2 o3V Flx] 4 (X),0(X) osidsy o2 (i)
deg(f(x)) # 0 A deg(g(x)) # 0 A p(x) = f(x).g(x)
asi 4 (423 Q8 e ) irreducible polynomial sy ¢ 548 (i 48
de Aty QB o) iSE Gl e 4y a il gy 0 AS G il
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irreducible polynomial 24 41 ¢l a5 42 reducible polynomial
Sl p s 4y (a8 8 )

:8.7 Jha
P1(X) = X2 + 4x + 4€ Z[X] € Q[X] < R[X] € C[X]
Po(x) = x2 - 4€ Z[X] € Q[X] € R[X] < C[X]
Pa(x) = x?- 2€ Z[X] € Q[X] € R[X] € C[X]
Pi(x) =% + 1€ Z[X] € QIX] € R[X] € Clx]
Ps(x) =x2-: € Q[X] S R[X] € C[X]

tSly 99 gV 4 6d oY S agid gy g
Pix)=x2+4x+4=(x+2).x+2)
P:(x) =x2-4=(x+2).(x-2)
P3(x) =x2-2=(x+v2).(x-v2)
Pax)=x2+1=(x+1i).(x-1)
Ps(x) =x2-7 =(x+2).(x-2)
pe(x) =x2+ 1 € Z,[X]
. o5l s (a3 ) reducible S Z 42 pa(X),p1(X)
82 silsrirreducible S Z 4 ps(X),pa(X), pa(X) S5
S Q4 Pa(X),pa(X) S .02 asids reducible S Q 4 Ps(x)
s sl sirreducible
irreducible S R 43 pg(x) 05 ¢« asils: reducible S R 4 P(x)
o o sl 5
D ASA ed (4338 Q) reducible S Al 7, 4 pg(X)
pX)=x*+1=(x+1).(x+1)
Qs g axa F 4 p(x) .o p(x)= X% + TEF[X] 3 F 4alu o 53,55 50 1lia
Jsim s3Y 585 30a N’ = —T4a ssamse Fay A san o0 4iam
pa4 i i p(x)= X + 1 SdaluaaSapan

Field p(x)

C A=i,pl)=i*+1=-14+41=0 reducible
L, A=1,pA)=(1)°+1=1+1=0| reducible
L3 irreducible
Ls A=2 ,p2)=2)°+1=4+1=0| reducible

211



Algebra --------mmmm e il palas

% a €K (s 2 4sly) field extension s K/F :8.3 s ad
a4 F oLl paie (o sl
I, ={g €F[x]| g(a) =0}
MSA L 6 S S Fx] v ldeal s [, 2
fgel, =>f(a) =0 A gla) =0 = (f+g)(a) =0
= f+ge |,
fel,,g € Flx] = f(a) = 0= f(a).g(a) = 0.g(a) =0
= fgel,
A Fx] 4 dby o [, S
@ 2«55 MONIC 5) s ls 40435 (S [, 4 4n asils 438
by My 4438 yisa gl gopab a3 F Lk a4 minimal plynomial
(A oald g3 asidn my s
ly,=<m, > (i)
( ‘JTJJ‘Ia JJL"“‘nla 2 )
(i)
gel, = 3Ifel,;g="fm,
(e pdiadiimg nesdnrly 2o=)
: 8.8 Jui«
A esilg Jie sV g €K » S4rns a4l K/F 4 (a)
my(X) =X—a
( minimal plynomial ) ssils Jatie (Sdzug o4slu C/R4 (b)
(sl J5E gy i € € Lk
mi(x) =x%+ 1€ R[X]
aSA
mi() =i2+1=-1+1=0
S Brapd gal 2
Ml s 32 51 V2 st SOBI 4 anui p4sle R/Q i (C)
Y ( minimal plynomial ) = esid s Jusia .53 sl 45 Q ks
TS N8 -
a =2 my(x)=x2-2€ Q[X]
a=32 my(x)=x3-2€ Q[X]
V2 2 a5l darie x® — 2 5l &5 R ki /2 2 asiad sy Juario X7 — 2 iy
S R ks

03 A si g Asbu 53 L/F 18.6 ciaad
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Sc L :(field adjunction) (a)
sy dali S F 51 S4s (subfield) 4alu o B Ja S sl 5 yisa
adjunction 2 43X F d4alu F(S) 242 S dis . s 0 m F(S)
() Y 43R G S 3 adal 5 4y (e 4y 2R3N
4S5l ls » F(S) 2 F(a,ag,...,an) 2w« S ={aj,ay,...,a,} &S
SAF@) wss S ={a}
adjunction 2 22 V2 243X Q 4 s Q(V2) 2 S R/Q 4 1l
:&_ébﬁwyw\}g
S:= {2}
SCSRA QcQ(V2)=Q®)c R
salael ¢ ﬁqu&(@dﬂg(@(\/zi) 3 S C/Q 4485l
ool Si={V2,i}} 2488 e, 48 oY aaul s 43 adjunction
scchAQcQ(V2,i)=Q©)ccC
Simple extention 24~ 55 o 4sls L/F:( Simple extention ) (b)
S F@)=L4s gnmw a€l pScgpbaga
)Wl € C 2455 2 Simple extention = C/R : Jia
R({)={a+bi |a,be R}=C
453,52 Simple extention s Q(V2)/Q 4%l
VZ € Q(v2)
Q(\/i) ={a+bV2 |a,b€ Q}
p(x) € F[X] :(Splitting field ) ( c¢)
(o 48 sl s F ki Splitting field 2 p(x) 2 4abu L o
et B A3l s a4y (S Ly p(x) (1)
P(x) = c(x-a1). (x-a2).... (X-an) , CE F , a1, az,..., an€ L
(i)
L =F(ay, az,...., an)

4028 5588 Ghi 4 S Fayp(x) EF[X] 48 .52 aé o F :8.4 0 s
.2 P(x) 2 Splitting field 4la F S clla sy ¢ &
: 8.9 Jua

(a)
Pi(X) = X =3, pa(x) = X* = 4 = (x + 2)( x - 2) € Q[X]

esdle sl a5t adil 5,553 Ghad 4y S Q 42 Pa(X) 5 Pi(X) 4 KR
A
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QB3 ={a+3b|a,beQ}=0Q
Q(2,-2) =Q(2) [ 8.1.(d) 8 k]
Q2)={a+2b|a,beQ}=Q
23 4ablu gplitting o5 43 pa(X) o) P(X) a8 Q 43 oS J
st SR 4 s @ Al R/Q 4~ (b)
p(X) =x* =2 € Q[X] = p(X) =x*—2 = (X +V2).(x - V2)
Y 43 p(x) ki R 2 4aka splitting ow «e2 V2, — V2 € R4x 4% 4
HED JBAN
Q(VZ,—V2) = Q(V2) [ A418.1. (d) Jim]
st (SOBIg 4an g H4alu C/R i (C)
PX)=x*+ 1T ER[X] = p(X)=(x +i).(x -i)
JS Y 43 p(x) s € 2 asbe splitting o «s2 i, —i € C 42 a5 A
A

(d)

R@,—1) =R(@) = C

p(x) = (X* = 2).( (x° + 1) € Q[X]
P(X) = (xX* =2).((x®+ 1) = (X -V2).(x +V2) (x+i)(x-i)
P(X) i € 2 asku splitting o Q(V2,i) Ly «s2i,V2 € Cax 45 A
0d 44
( fundamental theorem of algebra ) :8.2 4ué
o3 aalu ((J s all) algebraic closure s s: C 4asbu salac) (o 98 ga 2
03 (52 3 Jili5 538 i 4y S C 4 p(X) € C[X] b 4l e o n Ja
(gl JSS 53V P(X) psiadsr o5 4S g3 4g e
p(X) = anX™ + an1x™! + ... + a1x + ao
A (G2 9e Zq, Zoyu.., Zp€ € el L
p(x) = an(X-21). (X-Z2).... (X-Zn)
(g agilnd 7 7oL, Zp 4l
salae) A 313 s Al (5.3l a8 4 gd 4y GAUSS 2 Al bl juall ol
50588 (2 pe 5l (A 4 p(X) € R[X] psidnn (fan on S Cislio )
(eSS 4
(052 JS3N) Integral domain s« = ( quotient field) :8.7 «ias
Dom AS b adb 4y quotient field 2D 2 Q sl o .5 1D
5 Q 2 (subring) S, e % 2D (i)
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VaeQ 3dr,seD;a=rs"! (st €Q)
s o Q= qUOH(D) 4348 s
(.2 (Z,+,.) 2 quotient field s 4als (Q, +,.) 2:8.10 Ji«
Q = quot(Z)
a €EQ.s2Q 28y e 5l (g JSEI 0 7 A 5.8 535 5a 10D
aa@z\jwl_gqa: 02
a#0=3a,b€eL,b#0; a== [ G Q& ]
=beQ = I 1eEQ [ranluon Q53]
= a =%=ab‘1 = (ii)
Q = quot(Z) Sy
w2 quotient field 4la 4 4alu s ja 1@igl
( Eisenstein’s Irreducibility criterion ) :8.8 < s
o5 Cad g4l 4a Sl (1823 - 1852) alle by Sl 5 Eisenstein
s Q 5l (esd J S D Led (23282 A8 ye) irreducible asil s
o) psil g g3 e . Q=quot(D) i sx.e0 4223 sl quotient
f(x) = anx” + an1x™! + ... + a1x + ao€ D[X],an# 0,n>1
:¢'s Eisenstein
Gl s S ced (A 20 ) irreducible G s axa ol g f(X) 2
165 25 5a o sal 53 s3I p € Q (primelement) aic
(1) ptan (gsPaiadlBral p pansin)
(i) pla (i=012,..,n-1)
(iii) p®tao (gsvadiadligaal p2 nagin)
jﬁjhu)mmcf&&)ﬁdﬂﬂ
:8.11 J&a
s> Q = quot(Z) > Jxlsyis (a)
f(x) = x3 + 9x% + 6x -3€ Z[X]
a3 =1,a, =9,a; = 6,3, = -3
o gal A g2y S Q 4 ( primelement ) s=ic 45l 0 p=3

(i) P=3taz=1
(ii)p=3|a2=9, p=3|a1=6
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(iii) p2=9tap=-3

Z 43 s ¢ $ S Bra 5k 10 Eisenstein 2 b asil g f(X) o4 4S84
22 irreducible S
¢ 4ish )l (Eisenstein’s criterion) ¢l (p ) 2 4S 1o jad
poilgran (hgodai Joo casee 4y ab Ly ogs 40 Gubai o QB o gl
iJse 49 JBex o3 (s 203 ) reducible
f(x) = x3 + 3x + 18€ Z[X]
(S 45 B (fii) U s 5S Baa 4i gk (ji) ) (i) ol 2ae 4yl 3 o
SA
32=9|a,=18
2343 (5233 QB f(X) e Lu Sa
so ) sl oy 1Y i sa sl 02 (field) 4alu o s F :8.9 iy s
p(X) = anX™ + an1x™! + ... + a1x + ao€ F[X]
(differentiable) (3iia S 4alus g4 agid 50 )8 4n 5.8 53 438 LI o
(sl a5 4 (differential )@iie 2 p(x) 2 asid s Y 12 )]
p'(x) = n.anx™! + (n-1).an1x™?% + ... + 2.a2x + a1
S AE F afm oS Gaa ot 4l (g 0 )l (Bidie 3 (S5l 4 4n (i) 8 42
155 S p(x), q(x) € FIX]
(P(x) +a®) =p'(x) +q'(x) ,(ap(x)) =a.p'(x)
(p(x).q(x))" =p'(x).q(x) + p(x). q"(x)

F 2 (extension field) alé 4xu i 5 L ¢ (field) 4aluw o 52 F :8.10 iy s

s> a€ely
P(x) € F[X]
S el a st 4 (L3 eelias) multiple root 4w rap(x) 2 a
cas bl
(IreNr>1) ;px) =x—-a)".qx), qX) € F[X]
P Ooke bl

x-a) | p(x) A (x-a)+ip(x)
(540 paniis QB (x-2)"™"" Ly sl paniiis DB (x-2)" Lz P(X) 222 )
o edudd gloegy r=14S
Jia
p(x) =x3-3x + 2€ Q[x]
p(xX)=x3-3x+2=(x-1)2.(x+2)
(G ol -2 5 2 4y 4a i Cielias 1 aiby
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> (splitting field) alé il |l (field) 4sbu o2 F :8.2 Lad
w.sap(x) € F[X]

ael (1)
(o2 <aclias) multiple root s a
=
p(@)=0=p(a)
(2)

¢! (multiple root ) s caelias S L 43 p(X)

3 2 P(X) 5 P(X) 43¢ 020352 00 i q(x) € F[X 4L 2 o5
2 arudiy (W8
W

3 q(x) € F[X],deg (q(x) > 0;q(x) | p(x) Aqx)|p )
(1)da
(> A iy multiple root "< "

(IreNA r>1;px)=x-a)".qk), q(x) € FX]
= p=r.(x-a)" qx)+x-a).q9x

= p@=r.(a-a)"L.gqx)+(@-a)y.gqx)=0+0=0
3458 3 (¢ (splitting field) Sl aalu | 24 a6 A" = "
DB 5,58 Ll agdn cgeasmse P(X) psidsy o Al (Al iy gl
LM s (2 adn 58S Ua 8 e gy d)ad
(e s P(X) 2 (L3> —elias) multiple root s a 4S
3qx) € F[X],q@#0 A px) =Ex—-2a).qX®
pP'(x)=qx) +(x-a)q'(x) =p(@=q@) +(@-a)q'(d
=p'@=q@#0
P(X) 2 (L3> <elias) multiple root s a 2L G 02 (o B A | Sa
S
(2)
4 a € L («eebasda) multiple root s wb Al v o &= "
p(@)=0=p'(@) Head(1) bl osa gy s S P(X)
S5 Bua
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Aasas alion Joadxs da S Gl Jry g S sl anlie i 4xd ) & s
YRR

A q(x) € F[X],deg (q(x) > 0;q(x) | p() A q) | p'(®)
= ged(p(x),p'(x)) =1
= 3r(x),sx) € F[X], rx).p(x) + sx).p'(x) =1
=r(a).p(a) + s(a).p’(a) =1
=r(a).0+ s(a).p’(a) =s(a).p’(a) =1
=p’'(a) #0
Al G 0 o 83 CaBMA o S
3 q(x) € F[X],deg (q(x) > 0;9(x) | p(x) Aq(x)|p’ ()
od A8 Al o 80
3 q(x) € F[X],deg (¢(x) > 0;q(x) | p(x) A q) | p'(®)
= 3r(x),s(x) € F[X]; p(x) = q(x).r(x), P'(x) = q(x).s(x)
deg (q(x) > 0 s p(x) = (splitting field)ald Saddu o | 43 485 4
.= g(a)=0 a2 csramsma €L wow .
p'(a) =q(a).s(a) =0.s(a) =0 = p(a)
gl Ciebiansn (S L 448 (1) b p(x) S a4
¢2bp’(a) # 0 5 p(a)=0 4S 4 ¢ sla) aaii 43 Lol (555055 10 s
o el p(X) 2 a by Dsa gy
:8.12 J&a

e !

p(x) = x> = 2x° + x € Q[X]
42 o ( multiple root ) U3 selbaa 1 g3 435 3 050 p(x) 21 510
ASA 022 (o Al
p(x) = (x—1)%. x
p'(x)=3x2-4x+1
p(0)=0#p'(0) s p(1)=0=p'(1) ¥ Aedd (1) 2l Fsn
(59
P(1)=13-212+1=1-2+1=0
p’(1)=3.1"-4.1+1=3-4+1=0

p(0)=03-2.02+0=0

p(0)=3.02-40+1=1%0
A e (2) 3 lad s
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3q(x) € F[X],deg (q(x) > 0;q(x) | p(x) Aqx) | p®)

raalal gl

3 q(x) € F[X],deg (q(x) > 0;gcd(p(x),p’(x)) = q(x)
s 8% ged(p(x),p (%)) 525t s

X3-2x2+x= §X.(3X2—4X+1)+—§x2+ éx
3x2-dx+1=—2.(-2x2+ Zx)+ (—x+1)
—2x24 2y
, 3 3
= —3x.(=x+1D+0
o

ged(p(x),p’(x)) = —x+1=q(x)

€ Zs
p(3) =33 +3.3+ 4=(55+2)+ 3.3+ 4
=0+2+9+ 4 B
=2+44+4=10=2.5=2.0=0

feS A 4y

=P (3)

o
~
W
-
Il
Sl

Y Zs 4 p(X) 2 (L3 caelas) multiple root s 3 (A 4 Lad 5 5
) ) B B e
p(x)=x3 +3x+ 4=(x—3)%.(x+1)
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Vieta's Formulas, Diophantine linaer equation

(édmghiglgéxécdyJﬁ&J)

(Jseust Uus) Vieta's Formulas < s
S Saslaardan e (1540-1604) plle sl s (Vieta) W
b asi4 Vieta's Formulas 25 ¢ Sy ol i isn yia
polynomias und Vieta's Formulas 4xé
P 50bs J5G Y 4 p(X) € C[X] psiidsn 0525 50 4S

P(x) = anx + an1x™1 + ... +a1x + ao
02 (2535 3 Qs ) 588 had 4 a5l gy p(X) (Ao A e B2

(> S35 54 X1, Xp,.nny Xn€ €
p(X) = an(X-X1). (X-X2).... (X-Xn)
Y 45 )0 asil g 3 Xy, Xo,...., Xp 43R
Bl 1Y e sl ) 5500 el (g0 Al Jse s Vieta 2
(S A e
— an-1
X1 +X2+ X3+ oo + Xn = —
an
X1X2 + X1X3 + ...t X1Xn + ... +Xn-1Xn = Z-Z
n
aAn—
X1X2X3 + X1X2 X4 + ...t Xn-2Xn-1Xn = — Z 3
n

ak
X1X2 wXk F X1X2.00 Xk-1Xkt1 F evenet Xnokt 1Xnkt2 o0 Xn = (—l)k.a—
n

%
an
U5 cskiia dugl .S £ 55 (<) (obie 43 438 Cl ghuned dins 5 5 Cladle 43l
S5 (-1)" e a5 S () A s/ (+) um
s el p(X) € C[X] sxY.yise 1 8.1400a

X1X2 .Xn = (=)™

p(x)=x*+x-6
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p(x) = az2x? + a1x + ao
P S estle s 4
n=2,a=1,a1=1,a0=-6
a8l )W Al Vieta 2455, (@)
Fod B Al Jeysd o Vieta b s s (2 Xo o) xg A8
a, 1
Xi+x2=——=— - = -1
a, 1
x1.x2= (—1)2 ?= 1._T6 = —6
b 5 S5 Biem g Blne (550 o ol 2 ) s ol S 55 ke
SA (5 Xo=-3 I xq=2 x|
X1+x2=2-3= -1
X1.X2=2.(-3)=-6
JOlaial
P(2)=22+2-6=6-6=0
p(-3)=(-3)2+(-3)-6=9-9=0
I oosil g (o) (paisd S0 SIS s sk )58 2 An la) Aagi 4AR g0 4l
s Y S lay aa 43 Al ey 68 Vieta
4an gise 55405 % (2 (Xo)? 5 (X1) o ssSham sl an namss (b))
&2 4500 a5l s P(X) s Xo s) Xy 4 43l g5 g(X) 43 a5 52
g(x) =x2 +bix + bo
> dulse S(a)a

Xp+Xx;=-1
X1.X=-6
(Xl)2 + (XZ)Z = (X + Xz)2 — 2. X1. X3
=(-1)>-2.(-6) =1+12 =13 = — % = -b,
b
(X1)2 . ()(2)2 = (X]_. X2 )2 = (-6)2 =36 = TO = bO
by =-13 , by=36

(g IS Y g(X) S a4y
g(x) =x2+bix + bo=x2-13x 4+ 36
sl
(x1)2=(2)2=4 , (x2)2=(-3)2=9
g(4)=4%2-134+36=16-52+36=0
g(9)=(9)2-139+36=81-117+36=0
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$2g(X) 2 9351 4 4n Julsass
s sl p(X) € C[X] 2 gx¥1aise 1 Ja
p(x) =3x2-2x-1
p(x) = azxx? + a1x + ao
5 S P(X) 4z
n=2,a=3,a1=-2 ,a0=-1
iod I (BAedl dapy 8o Vieta b sy (da) 403 (2 Xo sl Xq &S
aq -2 2

X1+X2:_a_2=_?=§ (D

AR 0 (Mlae (2a2 )0 Xy =1
p(1)=3.12-21-1=0
558 )0 ar g 43X Alilaa (1) O

2 1
X1+xX0=- =>Dxx=--x1=—-——1= —=
! 2 3 2 3 . 3 3

ol

N2y (Y1 =129
p(=) =3.(2) 2.(3) 1=2+2-1=0
29 asid s p(X) € C[X] Y ise 1 Jlia
p(x) =x*-5x3+5x?+ 5x-6
p(x) =asx*+azx3+azx?+arx+ ao
44l
n=4 ,as=1,a3=-5,a2=5,a1=-5 ,a0=-6
e daysd o Vieta e s 4500 (2 Xg 3 X3 ¢ Xp ¢ Xq S
xitxetxstxu=— 2=_-2=75
Ay 1
X1.X2+X1.X3+X1.X4+X2.X3+ X2.X4
+X3.X4=2=E=5
Ay 1
431

5
X1.X2.X3+X1.X2.X4+X2.X3.X4=—a——— I:_S
4
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a -6
X1.X2.X3.X4 = (—1)4.—0 =1.—=-6
Ay 1

S8y oo Ay e b gy o 21,148
Xi+x+x3+x4=1-142 +x4=5 = x4=5-2=3
oladial
p(1) =p(-1)=p(2) =p(3) =0 .
25 asid s p(X) € C[X] Y pise 1 Jlia
p(x) =2x3-x2+2x-1
p(x) =azx3+azx?+ a1 x + ao
il
n=3,a3=2,a2=-1,a1=2 ,ao=-1
(el ey a Vieta b ey 4 (2 X3 51 Xp ¢« Xq 4S
+ X +x=—2=—_—1=—1
X1 2 3 as 2 2
X1.X2+X1.X3+X2.X3=ﬂ=z=1
as 2
— (13 % __q4Z1_1
X1.X2.X3=(—1) Sa 1.2 >
S8 m g e sy i) T AS
X1+X2+X3=i-i+X3=;1 $X3=;1
29 asid s p(X) € C[X] Y yise : JUia
p(x) =x3-2x2+x-2
p(x) =asx®+azx?+ai1x+ ao
il
n=3,a3=1,a2=-2,a1=1 ,ao=-2
:L.Fi‘“dd‘J}éJVietaL.}:"Lﬁ)M}J;‘%gﬁ X3 )\XQ‘X1"~S

a -2
X1+X2+X3=——2=—_=2
as 1
a 1
X1.X2+X1.X3+X2.x3= == =-=1
as 1
a -2
X1.X2.X3=(—1)3.—0= —-1.—=2
as 1

558w (ood a0 5l g (22 ) T S dad

X1tXe+x3=1+2+x3=2 = x3=2-2-1=+i
15 psilsr p(X) € C[X] s2Y g 1 Gl
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p(x) = 2x*-x3 + 5x2- 6x + 2

X1=1 , X2=i\/§, X3=-i\/§

:Lg_gq\qc\édj‘ﬂ‘ﬁﬁj‘)l;é‘)dé\s

GAA 2 aslR
(Sl Jad st ) Diophantine linear equation:—i s
160 a9 42 Diophantine alle (Sl g0 adilas ad g b

a;Xqy + axx, + .. tapx, =c¢ (c,a; €Z,i=1,2,..,n)

) q\m\eljd;ggl.u (D50 Q&;&d\?}\qﬁ (Diophantine) JPRTEE PYR
jﬁdbéd@#d%b}dhﬂud}yﬁﬂ
ax +by=c (a,b,ce€Z)

da salae) Al A g 4z dalaa ) 9 4n S oy ( Diophantine) (s g1
e Jala a4l (g5 iy QB 52b ged (3, b) 2 € 43 b gy o)
5 g ol dad saged(a,b) =g 2SS Gasipiew gl ada &
:}}Sodulu\ 4;&)9.1\)):95.34‘}]
4l Euclidean Algorithm » :44,k Euclidean Algorithm 2 ;s !
oS Mo pal A gaiVadlae) g gl r gl Y S A
g =gcd(a,b) =a.r+b.s
gy di=c/gas
g.d=a.(d.r) + b.(d.s)
c=a.(d.r) +b.(d.s)
: d;).a @J\M a
Xg =d.r ,yo=d.s
t95 Y Sl Jse g3Y 4 Js (homogene) (S ses Jabas

gcd(a,b) =g = Ja;,a, €Z;a=ga; ,b=ghb;

ax+by =0
g.a;.Xx+gb;.y=0 = a;.x=—b;.y
:L_.g)ld;g)ﬁ,}a\)\ﬁg.\f}”dﬂdmgﬁ)ﬁ
X1 = byt, y; = —a;t (teZ)
SA
a;.x; =ay.by.t ,—by.y; = —b;.(—a;).t = by.a;.t
= 2a;.X; = —by.yy
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(x,y) = X1, y1) + Ko, ¥0) = (bst,—a;) + (X0, ¥0)
={(bst+x¢,—(as;t+yo)) (t€Z)}

¢ A Fermat-Euler :a 0

gcd(a,b) =1 = a®® = 1(mod b)
45 (5 95 axlas sliad s 45 43 42 o3 (Euler-Function) o&saé b sl (b)
wa JSUE Lﬁmy
@eb)= |{keN| 1<k<b A gcd(bk) =1}

s A da Y g Fermat-Euler 24ds a.x + b.y = ¢ 2

x = c.a’®~1 (mod b)

s
x=ca®®14+th (tez)
1 — aq@®
y =C. 0 —ta (t€eZ)
rJba
6x + 10y = 100
a=6,b=10,c =100 b
10=16+4
6=14+2
4=224+0
O
gced (10,6) =2
C 100 50
gcd(a,b) 2
salix Alilae G s S 3ra b5 (Diophanting) (i g 3 as 4K5 &
. LS)S da salae)

;s 4 Euclidean Algorithm 2 Ja
(S (Ba alolza euYlhas g Sl alel g ol r b ol Jaa

gcd(a,b) =a.r+b.s
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2=6—14=6—-1(10—-1.6) =2.6 —1.10
mda s 1 =2,5= -1 4 Sl
Xo =r.d = 2.50 =100, Vo =s.d = —1.50 = —50
558w s (homogene) oS sesp (Jalaa aa 3 )
6x+ 10y =0
23.x+25y=0 = 3.x+ 5y=0 = 3.x=-5y
(g N da guY (58 alalas ) 5
X; =5t, y; = =3t (tezZ)
(2 da oa s

(x,y) = (X1,¥1) + X0, ¥0) = (5t,—30) + (100, —50)

= {(5t+100,—(3t+50) ) ( t€Z)}
[ S 2

{x,y)|x=100+5t,y=—-50—-3.t (t€Z) }
ot =2 4S8 il
(x,y) = (5t + 100, —(3t + 50) = (2.5 + 100, —(2.3 + 50))
= (110, -56)
358 iy S Abe 503 J SH 4 (x,y) = (110,-56) o
6.110 + 10.(—56) = 660 — 560 = 100

g dlae) Bl ) da & L.;JLZA 2 (x,y) = (110,-56) o~
:s ¥ 4 Fermat-Euler 2 J»
6x + 10y = 100, gcd(6,10) = 2

6 10 100
—X+7y=—= 3x+ 5y =50

2 2

a=3,b=5,c=50 S dilas S
o3 (hudai 0 Ji8 48y )k Fermat-Euler 2 0w <2 ged(3,5) = 142454
eb)=@eB)={keN| 1<k<5Agcd(5k)=1} =4
x=ca®®14rth (teZ)

=50.3*"1+4+5t (t€Z)=50.3*"1+5t (teZ)
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=50.33+5t (t€Z )=1350+5t (t€Z)

1 —a®® 1-3*
y=c.T—ta (teZ)=>50. =

—3.t (teZ)

=50._T80—3.t (teEZ)=-800—3.t (teZ)
L S a0
{(x,y)|x=1350+5t,y=—-800—-3.t (t€Z) }
$st =048 il
(x,y) = (1350,—800)
6x + 10y = 100
35S g S e s (x,y) = (1350,—800) o
6.1350 + 10.(—800) = 8100 — 8000 = 100
(g dae) gl g e 3 (x,y) = (1350,—800) o=

:JGa
168x + 238y = 126
a=168,b=238,c =126 «b
238 =1.168+ 70
168 = 2.70 + 28

70 = 2.28 + 14
28=2.14+4+0
O
gcd (238,168) = 14
C B 126 _g
ged(a,b) 14
5alix Aalas a ¢s S 33a b i (Diophanting) (i g 2 as 486 A
. L;)S da salae)

;s ' A Euclidean Algorithm 2 Ja
(6 S (Ba Ailae ¥l as 5 Slagalael g ol r bl da o
gcd(a,b) =a.r+b.s
14 =70—-2.28
=70 — 2(168 — 2.70)
= 238 —-168 —2(168 — 2(238 — 168))
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= 238 — 168 — 2(168 — 2.238 + 2.168)
= 238—-168 —-2.168 + 4.238 — 4.168
= 5.238 - 7.168
2d> sy T =—7,s=5 45 Sgalay

Xo=r.d=-79=-63, Vo ==5.d =5.9 =45

558l ds (homogene) S sasp Jalaa (2a 3 )
168x + 238y =0
14.12.x+ 1417.y=0 = 12x+ 17.y =0
= 12x=—-17.y
ZngAL_.sJN damgﬁ)}g
x; = 17t, y; = —12t (teZ)
Z‘;—)dag_;ﬂw
(xy) = (X1, ¥1) + (X0, ¥0) = (17t,—12t) + (—63,45)
= (17t —63,—12t+45) (teZ)

[ e )
{(xy)|x=—-63+17t,y=45—-12.t (t€Z) }

Do) Adalaa g i ga 10 Al

4x + 6y = 16
S Ailaa )51 43 1 yh ( Diophanting) i g 2 4a s S isdi(a)
S Bua
J~ ¢ W 4 Fermat-Euler 5 Euclidean Algorithm 2> 4= (b )
SS
A Soilad) 2 (5 g deal | i gl ) (SR8 23 4y QUS g1 (5 ) 9 daal) 1y pal
A S polae L (S US4y oy (S B Ladd jlailSa ) 55 e pu A
‘59;:\.1{.:35 j&)\dﬂl&d j\ 43_)\&.1{53(59\:\4\.:3\ ojdj.&q.g\_j aJ\T:\S)SJT)J\J &_M\SJJA;\
EBSTRET
¢S ¢ bhes ( Diophanting) i g 3 2 s aee (@)

pr (Suladl 5 g o) (Siladl o0 14 43 g Sl Aedds asee 3 (b)
@2 da
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Juad andd
( 45 3y )Cryptography

a5 e 4y (e alay 503 5 (6 5S Adansl 53 (SIS il S0

had | gl Jig4xe SR o S ol (encryption message)
S laal 4y 40 5 alay (5 (Y 5S¢ ol shm gy o Jlal 4s LS 43a (55l 5
(54 ) Cryptography s 4. Js) (decryption message)
(5opS oaliin) 43 ) 431 (factor groups) ses S o558 yall jalaas (S
s fwiul (1SO-Code L)) ASCII-Code 2 <SR jig ) 5ia o jWl IS (a0
A a0 83 sa ge adayl ) Kiaa i galael gl 5358 an S ASCII-Code 4
N CBINPAPYPWLELS FIRVEY RPATPRET AR N R FENS S P WS PRCN

3 (S Jsn ASCII 43 adasd 53 (5528 3 (o> 452 25> 30 A gal S g 1 (5 5 gmaaS
bl 4 (e L) Goa (g i i 48 23 5l 2ae ada g je (sseps L) s
Ji s (receiver) S5siuwdl Wby i (sender) S sl play | 25 S sSlay
%b)\ﬁl}l&dﬁh JJJA)S\.A djsw\jao‘)wduﬂu\ddh dj.}ﬁdoy

s laxind Jgan ey

A B C D | E F G H | J K L M N 0

01 |02 |03 |04 |05 |06 |07 |08 09 10 11 12 13 14 15

P Q |R |S T u |V W X Y YA ? = % #

16 |17 | 18 | 19 | 20 | 21 | 22 | 23 24 25 26 27 28 29 30

stom " M agadal ) Fie i aae gl (Dt L) G e
s Polig-Hellan, ElGamal 4 &l ilise s Ll S0 ey o
.2 25 s« RSA-Method
s R 4 (Receiver) (ssiwal oy ) S 4 (Sender) (Sssial sl
Pohlig-Hellman Cryptsystem (1)
e 4alg) 55l (R) S ssiundl play ) (S ) Sy siul plagy (S s (5
&3S 48l 0 p (prime number )
Al S o
(S osR AR ) A o pusal A 3V 2 g2 » ( Q)
e€f{2,...,p—2} Agcdleep—1)=1
3axa Lyl oS ay dac) ada gy pe ol Glen iy 3 (S dsa 4 (b)
Sz Lo ogg e adagy e i gam AS Sy Sl IS5 4 paic (Z*p,_)
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SASLq me(Z),.)
ds @3 4 (encryption message) sy ¢« 4 pby Jal ()

TR
c:= (m)’
S 48 (SNl iy ¢ in ey (d)
dbig R 4

L;y\a.u\b‘)u}.sa\};&.h‘}].l dJ..\Q}.I (a)

de{2,..,p—2} AN ed=1(modp—1)
4 (decryption message) ey Lol a0 ¢ b s (b)

(sl Je sy
m= (c)

(ol 48 (SO siundl Gy AFG 2 Jso 49 Jled alay s sylse S 1 Jla
&th)s (Z*ll,.)ﬁb,)\-,}b\scﬁﬁ Lﬁ}SM&\)A p:ll J\JQ\‘\:\SJ“%‘)::}DJ‘JJ
95)51:.3134“\4;;
Adlig S o
sSosona R gsnlaiile jusal i g2V o @ 2x o (Q)

e=3€{2,..,p—2} A gcd(3,10) =1
i dae) ada gy e plan d A Jnn (b))

A~1 ,F~6 ,G=7
ps skt d oo oY 4y pling 5 50 (2o 4y 4 )

m:=1,m=1€(,,.) ,c=(m)=(10°=1
m:=6,m:=6€(Z,,.)
c=(m)=(6)=36.6=3.6=7
m:=7, ﬁ!=7€(Z*11,.)
c=(m)=(7)=49.7=57=2
E:={172)

R4 R St iy E o= (1,7,2) dbh g2 60 (C)

adlig R 9
(A s jugal a2V o d e o (Q)

d=7€{2,.,p—2} A ed=37=21=1(mod10)
2 Ssadbne A E =172} shn e s« (D)

1vA,7vG,2~B
3 AGB el 555 IS (i
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S5l Jso 1Y 4 alay s2e Lal 4y alay s2e s ) by (C)

=1, m=(c)=(1)=1.
c:=7
m= (¢c)=(7) ={)?.(7?*.(7)*.7=5.5.5.7=25.35
=3.2=6
c= 2
m=(c)=(2)=2)*2)°=16.8=5.8=40=
s Di={1,6,7} san Lol g
D ae Al Jgaa

1~A ,6»F ,7~~G
S AFG ol leal 4n 58 o lase

RSA-Cryptsystem (2)

Shamir, Adleman sllle sl ) 50 48 )k 5S4 e ) RSA »

162 J9 Y 4 Jaall j )b RSA 2 o gl oS S JK 1978 42 Rivest

sl alay o) (( sender) S sial ol :public key (1)
paldd oy (LS agee ) public key s 4 S & dA 4 (receiver)
TS

03 4 slaa 43 S giudl alay 5 3 s aid LS a2 private key (2)
sxdo g R4y (SO shwd) sl gl S 4y (S (S g sl olay ige

(s An e saY Jaadl ) )k RSA 2

(4ddy) R

sl g p (prime number ) sl adsl Glisa s des2 R (1)
¢S @2y ni=p.q e

[ s 5S I Gl o (n) 2 A 4 Euler-Function 2 (i)

:N —N
n— pmn)={keN| 1<k<n A gcd(n k) =1}
b

e(m)=(p-1.(q-1)
@l g g sl pasa

raic Loy 2 sl o5 o pal s& g3V 3 @ 220 anbrsy (i)

e€{2,..,.pn)} A gcd(e,go(n)) =1
e e Z(p(n)
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(5sS I o pmgal A 1Y d e anbh o (V)

deN A de = 1(mode(n))
S Sy Zpm) 2 € 3 pusSan d
S (~agad (d,n) 5 (public key) S e (e,n) b
Som s Rl . (sl slay) R 2 (private key)
Al (S ) Sl aliy
S AN AR R 2 (e,n) S soee (1)
Ly 24 Lng) 568 Jay dac) ada o e o)Ll (e 3 alay 3 (S Jsan 4y (i)
M E Ly 4 s e ddag e ympamaS Sy, Sl IS5 49 paic

s T
Y Jg9 g3V 4 (S 7, ey CSesSam sea (ii)
XCBED)
¢:=(m)°

it A3 (Sl pliy) R play 550y 222 € (V)
16 J99 oY 4 ey lual T 49 a5 3a0 € 428 R s

(@) ¢=(m)* =m
Lﬁ)ﬂ}d\_}m ’4’d};4ﬁd&36%ﬁ§‘2\)¢u.§a\é:d&
DS o clles Al ML 4akilé (a)
sl s 33 g 5l p (prime number ) el Jadosa (1)
:%-Lﬁ.})‘)myn&
p=3,9q=11,n=p.q=3.11 =33

9(33)=[{keN| 1<k <33 A gcd(33,k) =1} = 20

e(m)=(P-1.(q-1)
»33)=B3-1).(11-1) =20
g2 dael 4yl g 5l pass

L A b s geal i gaiVa e ey (2)

e€{2,..,.on)—1} A gcd(e,go(n)) =1

e:=7
e=7 €{2,..,19} A gcd(7,20) =1
7 €7y,

Lﬁ}S\J:\.Jo_)u)m\PdJJYJdJJQG:_\Lﬁ (3)
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deEN Ade = 1(mod (p(n))

G5 S ST 4 € 2 usSae dl d S
253 5a 0y paal 52 (saVA K ) d el B Ae 4l euclidean algorithm 2
(82
de+kon)=1= gcd(e,go(n))
d.7 +k.20 = 1 = ged(7,20)

20=27+6
7=16+1
6=61+0
1=7-16
=7-1.(20 — 2.7)
= 3.7—1.20

Wl
NI

=37-120= 1=3.7-1.20=3.7—-1.0 = 3.
$3d =3 3 SAH Ty 9T duesSan 3 (S Andii 4y
(S s S (S (pasad ) casae sV (4)
publickey: (e,n) = (7,33) A private key: (d,n) = (3,33)
631 alin 5 3a) 43 slans) (Sl JSl 4y emics Zzg 2 4 alay (Ssiul bl (5)
m:=4 € Zs3
c= (m)* =(4)=(%4)".(%2) =256.6
=(7.33+25).(33+31
= (0 +25).(0+30)=775=23.33+ 16 = 16
C

w

—/

Sl alie ¢ =16 by (6)
1 S cldes gAY Al U (b)
(i G s s a0l (public key) (1S casas 2438 allaa (1)

¢ = 16 € Z3; , publickey: (e,n) = (7,33)
(6 A Shal 44y sl (5 30 4as Lol (2)

()¢ =(16)°= 4096 = 124.33 + 4 = &
o5 4 alay Lal 4x gd o glaa S Aanili 4
(ol jEasl 4y BALKH® 2 alin o s ) & 2eal (S Jle s 1Jla

4l 38 ¢ q LS Alam) Jha ) g0
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p=3,q=11,n:=p.q=3.11 =33
publickey: (e,n) = (7,33) A private key: (d,n) = (3,33)
HPESRUFPREN
B~2,A~1,L 12 K ~»11,H ~8
(s plan (encryption)cs ey e 40 J s 1Y 4 alay Lal 2eal

77_11=2€Z33,m2=16233,m3=ﬁ6233

7714=11€233,T715=§€233

=7 ==

(my1)*=(2) =128=3.33+29=29=¢;

(Mmy)=(1) = 1=¢
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29 % ,1 A ,12~~L,11»K, 2~ B
53 %ALKB dlics (5305 5 33 IS4l

el (Lal sl JAVE ={29,1,12,11,2} alan e (5 e 42a o8
D sdnde Y 4 2 (decryption)

(a)=(m)H*=(@)7)=(29)®
)  =24389 =739.33 + 2 =2 =7m;

(c_z)d=(23= 1 =m,

()4 =(12)° = ms

(C_4)d=(ﬁ)3=_

(G)4=(2)P=8=m;

-

I =N
[l
3|

m =2,m,=1,m3 =12, my, =11, mg =8

(o L by a4y Acal Jsan v alae) ) g0 508 gl

2~B,1~A,12~L1,11~»K,8~H
25 BALKH" pas (5 55 Joal 4 (500 52 )38 (S aniis 4y
Elgamal-Cryptsystem (3)
s5 o S (1985) Cryptography 43 4xa (g2 alle (5 pan 53 danl | jalh
.4 a5 4 Elgamal-Cryptsystem 2 4 s S Jay 44 )l
DS ol 43X G 58 Al s oUW Cryptsystem 2 Jeadl

G=<g>,ord(G)=n

o R4 (Sgbndl) dbn ol S 4 S (S99 5iul aln i sa
(g JSS ga¥ 4 S8 AS R
S pas At=g? Jgsailae{2,3,...,n—1} s
a :private key (1)
(G=<g >,A)publickey (2)
S5 Glasladi § o b4y (JAS e5ee ) public key 22 R W
Al g S g gl ol S 2
& be{2,3,..,n—1}xe ndlmabnomeG raic »
4R Ssiwdl oy (B,C) o) S s Bi=gP  C:= AP.m W
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(55 Js9 Y 4 alay (ol m 4y play (s 3 428 R ()
B2C=gA’ m= (g)?. A m=AP A m=m
G s 45 S siudl) alag dae 4 0 Jg 4y Jlied iy s s ))& S 1lia
Slaxind Q5 S Sl (Z75,.) s o WS
G:=(Z*,.),G=<g>=<3>,0rd(G) =6
S i) aliy
private key : a =2 € {2,3,4,5}
A:=g?=(3)2=9=7+2=2
public key: (G=<g >,4) =(3,2)
29 ) ala
P a0 4 el SA ISb 4 paie 2 (Z275,.) 2 4
m=4€G,b=3€{23,4,5}

B=g"=(3)%}=27=21+6=6
C=A".m=(2)%.4=84=1.4=4
(B,C) = (6, 4)
G 48 St dlag (B, C) = (6,4) oo
R i) pliy
(B,C) = (6,%)

(sl Y Js9 ¥ 4y oy Ll R
BC=(6)2.4=-.4=2.4=14

2 4 play ol (2 sdosy (Saniia

oy 45 i aaiay ) DE 2 iy s oyl se deal S Qb sy 1l

S ealiil 432 Gy 8 )5 (Z,.) 2 S Je gy

G:=(Z"11,.),G=<g>=<2>,0rd(G) =10
[ Fd) aliy
private key : a=3€{2,3,4,5,6,7,89 }
A:=g?=(2)3=8
public key: (G=<g >,4) =(2,8)
S ) plicyy
(s Sy Gl ) gaY Acad Jsaa o

D~4 E~5
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4 plin a0 e 4 araly gl (Sl B4y paie (Z7y;,.) 2 3le) )
R Jso Y

b=2€{23,456789}
B=glt=(2)?=14%

m=4

m=4¢€ (Z*4,.)

c; = AP .m = (8)%.4=64.4 = 9.4=3
m=2>5

m=5€(Z,.)

c, =AP.m = (8)2.5=64.5=9.5=1

o 4 S sidl Bl (B, C) )
[Se Sl alay
;L“gﬂw\)my Jge éﬁyge@:w\ S

|
s

o)1

o)
|
o]
(@]
=
Il
N
[
—
|
w
=1 Wl
Il
= Wl
Il

Il
—~
Ol Wl
— —~

Il
Uil |

Il
2| -] -
Ol RrW[] ~
Il
Il

(e 4l oo

@ DE el 558 dopll ) (e Slay 8 (S a4

S (Z%,,.) 3 g poid Sl omlae 3 (S g gl 4y aihy 1o pad
Aae) G ¢ (5303, 9) Gy gea (o0 gac A A galay An AT R (6 (o0 b AT
| sl 4 ol 5 45 5igal K5 1 (5 smaS 2 (o Asalaas) (5 pulasil (5 )
g1

s S S (55 488 o3l iy AFGHAN < 10048
S Guhi (Cryptsystem)
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(Symbols) 45! sram

GIGsh e piaaipog
SO Y 4AX pa Ll g o
ShHA Y a4aibaglb4aas gaél g o
6 Cun Ja A
G40 Cun JA A

Gy S Aa waic 53

wra il Scuww A4 a

S Ava »

( s ) (conjuction)logical and
S Braglibga ian b Ji
(L) (disjunction)logical or
$Sracddlpaly gaa:avh Ji
(u=ii) ( negation ) not
(union) &3l §ighw 2
(intersection) abl& ¢igiw o

@2 B 2 (subset) Cuww (= B A
o B 3 ssbe bigl B2 (subset) Cw e AA
{aEA| a¢ B }
S50 (S Cun A Y paic b
AU (S AL paic by
G sase (S Cuw i Adb s Aly L
S Gadeos N
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a=>b
a &b
A=0
A+0Q
acA
a¢A
Vae A

AcCB
ACB
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oy i gl il juadll

G glae) znla N

N, = N U {0}

7" :=17 \ {O} C'_t:gujd\..k;\(e\i) o) 7
Q = Q\ {0} Cuw gllae) 3hlia Q
R =R\ {0} Cuw gilae) Bdsd R
R, =R, \ {0} i sl Lida e s R,
o_mijiea 3 (s glhie) dds Giies RY

]R*_ =R_ \ {0} Cuw galae) Gds i d R_
oy a3 Cuw galae) dds 8 a RO

C*:: C \ {0} Cuw gilac) Llide byl wsp e C

Greek U
homomorphism (Greek :homo same , morph form )
epimorphism (Greek: epi upon )
monomorphism (Greek: mono alone (sJ)s))
isomorphism (Greek: iso equal
(Group Homomorphism) a5 a8 G5 S G-Hom
(Group Homomorphism) a8 )5 <58 G-Monom
(Group Epimorphism)  axé)sesul 58 G-Epim
(Group Endomorphism) a8l 38 G-End
Group Isomorphism) a8, @58  G-lsom
(Group Automorphism) a8 sl @8 G-Aut
(Ring Homomorphism) #8554 Sy, R-Hom
(Ring Endomorphism) a8 s sl S R-End
(Ring Automorphism) a8 ssl Sy R-Aut
(Ring Isomorphism)  ec)d)s5 S,  R-lsom
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Greek Letters
[ ody> Sl ]
Uppercase lowercase
(Pshms sl ) (458 2 S )

epsilon € epsilon variant
zeta

eta

theta
iota
kappsa
lambda
mu

nu

Xi
onmicron
pi

rho
sigma
tau
upsilon
phi
chi

psi
omega

9 theta variant

o rho vaiant
¢ sigma variant

< S
S 9 94¢7 MEE MR - DI A oo <A

¢ phi variant

DEXHSLAIMTIOMNZZ>""T0OINMPE 1T >

SERSS
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Ay oA J) Sl

3 A5 6l 2 siliege 3 (Auop) S Ay sihaiega 3 (sl g &l 2 as

o el (S (AT (e 4 b (nly QS 2 g 5 s

SIS aa gl 50 o3y (S s (oo AlIS R g )5 (e s HLD Gpalaall
e 4 (oS il Ay ol 3 4l g s pne ) 3 AT g il

3 ) (A sy el 3 (50 5y SIS D (S Cd gk 4y a0l JJS SIS
Rheinischen Friedrich Wilhelms Univesity = <dsa A8 ol
4 ol 435l 93 J 81 Ga s ke il (5308 49 105 353 90 el 58 e
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Publishing Textbooks
Honorable lecturers and dear students!
The lack of quality textbooks in the universities of Afghanistan is a serious
issue, which is repeatedly challenging students and teachers alike. To tackle
this issue, we have initiated the process of providing textbooks to the students
of medicine. For this reason, we have published Nearly 300 different textbooks
of Medicine, Engineering, Science, Economics, Journalism and Agriculture (96
medical textbooks funded by German Academic Exchange Service, 170
medical and non-medical textbooks funded by German Aid for Afghan
Children, 7 textbooks funded by German-Afghan University Society, 2
textbooks funded by Consulate General of the Federal Republic of Germany,
Mazar-e Sharif, 3 textbooks funded by Afghanistan-Schulen, 2 textbooks
funded by SlovakAid, 1 textbook funded by SAFI Foundation and 8 textbooks
funded by Konrad Adenauer Stiftung) from Nangarhar, Khost, Kandahar,
Herat, Balkh, Al-Beroni, Kabul, Kabul Polytechnic and Kabul Medical
universities. The book you are holding in your hands is a sample of a printed
textbook. It should be mentioned that all these books have been distributed
among all Afghan universities and many other institutions and organizations
for free. All the published textbooks can be downloaded from www.ecampus-
afghanistan.org.
The Afghan National Higher Education Strategy (2010-2014) states:
“Funds will be made available to encourage the writing and publication of
textbooks in Dari and Pashto. Especially in priority areas, to improve the quality
of teaching and learning and give students access to state-of-the-art
information. In the meantime, translation of English language textbooks and
journals into Dari and Pashto is a major challenge for curriculum reform.
Without this facility it would not be possible for university students and faculty
to access modern developments as knowledge in all disciplines accumulates
at a rapid and exponential pace, in particular this is a huge obstacle for
establishing a research culture. The Ministry of Higher Education together with
the universities will examine strategies to overcome this deficit ”.
We would like to continue this project and to end the method of manual
notes and papers. Based on the request of higher education institutions, there
is the need to publish about 100 different textbooks each year.



I would like to ask all the lecturers to write new textbooks, translate or
revise their lecture notes or written books and share them with us to be
published. We will ensure quality composition, printing and distribution
to Afghan universities free of charge. I would like the students to
encourage and assist their lecturers in this regard. We welcome any
recommendations and suggestions for improvement.

It is worth mentioning that the authors and publishers tried to prepare the
books according to the international standards, but if there is any problem in
the book, we kindly request the readers to send their comments to us or the
authors in order to be corrected for future revised editions.

This Publication was funded by Inasys GmbH in Germany.

I am especially grateful to GIZ (German Society for International Cooperation)
and CIM (Centre for International Migration & Development) for providing
working opportunities for me from 2010 to 2016 in Afghanistan.

In our ministry, I would like to cordially thank to Deputy minister of Academic
Affaires & Acting Minister of Higher Education Prof Abdul Tawab Balakarzai,
Administrative & Financial Deputy Minister Prof Dr. Ahmad Seyer Mahjoor
(PhD), Administrative & Financial Director Ahmad Tariq Sediqi, Advisor at
Ministry of Higher Education Dr. Gul Rahim Safi, Chancellor of Universities,
Deans of faculties, and lecturers for their continuous cooperation and support
for this project .

I am also thankful to all those lecturers who encouraged us and gave us all
these books to be published and distributed all over Afghanistan. Finally I
would like to express my appreciation for the efforts of my colleagues
Hekmatullah Aziz and Fahim Habibi in the office for publishing books.

Dr Yahya Wardak

Advisor at the Ministry of Higher Education
Kabul, Afghanistan, November, 2019
Office: 0756014640, 0706320944

Email: textbooks@afghanic.de



Message from the Ministry of Higher Education

In history, books have played a very important role
in gaining, keeping and spreading knowledge and
science, and they are the fundamental units of

educational curriculum which can also play an effective role in
improving the quality of higher education. Therefore, keeping in mind
the needs of the society and today's requirements and based on
educational standards, new learning materials and textbooks should
be provided and published for the students.

[ appreciate the efforts of the lecturers and authors, and I am very
thankful to those who have worked for many years and have written or
translated textbooks in their fields. They have offered their national
duty, and they have motivated the motor of improvement.

[ also warmly welcome more lecturers to prepare and publish
textbooks in their respective fields so that, after publication, they
should be distributed among the students to take full advantage of
them. This will be a good step in the improvement of the quality of
higher education and educational process.

The Ministry of Higher Education has the responsibility to make
available new and standard learning materials in different fields in
order to better educate our students.

Finally I am very grateful to our colleague Dr. Yahya Wardak that have
provided opportunities for publishing this book.

I am hopeful that this project should be continued and increased in
order to have at least one standard textbook for each subject, in the
near future.

Sincerely,

Prof Abdul Tawab Balakarzai
Deputy Minister of Academic Affairs &
Acting Minister of Higher Education
Kabul, 2019
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